XML BRAAZ VR (EREAZSMERE)

<?xml version="1.0" encoding="UTF-2"7) . .
<HCCI_ENZ00108UV01 ITSVersion="JML_l.0" xsi:schemslocation="urn: thif-org:v3d HCCI_IN200100UV01. xsd” xmlns="urn:hl7-org:v3”
xalnsxsi="http://wmw. wl. org/2001/XMLSchena-instance™ ’

.

<id extension="N. 1.2" root="2.16. 840, 1. 113853. 5. 989, 2.1.3.22°/>
<1— N.1.2: Batch Number —>
{creationTime value="20101214151617"/>
<l~~ N.1.5: Date of Batch Transmission —»
{respenseModeCode code="D"/>
{interactionId extension="MCCI_IN200100UVO1™ raot="2. 16.840. 1, 113883.1.6"/>
{name code="N.1.1" codeSysten="2. 16.840.1.113883.3.989.2.1.1.1" codeSystenVersion="1.01"/>
<I— N,1.1: Type of Messages in Batch —>
{l— Megsage #1I —>
<PORR_INO42016UV>
€id extension="N,2.r.1" root="2, 16.840. 1. 113883, 3.989. 2, 1. 3. 1"/>
<l— N.2.r.1: Message Identifier —>
{creationTima value="20101214151617"/>
{i— N.2.r.4: Date of Message Creation —>
{interactionld extension="PORR_IN0420160V" root="2, 16.840, 1. 113883. 1.6 />
<processingCode code="P"/>
_{processingdadeCode code="T"/>
{acceptAckCode code="AL"/> . .
{receiver typeCode="RCV"> ' . .
<device classCode="DEY" determinerCode="INSTANCE™>
{id extension="N.2.r.3" root="2.16.840, 1. 113883, 3,989.2. 1. 3. 12 >
{I—Rars: Hessage Recejver Identifier —>
</device}
{/receivery
{sender typeCode="SND"> ,
{device classCode="DEV” determinerCode=" INSTANCE >
<id extension="N.Z2.r.2" root="2.16.840. 1. 113883.3.983.2. 1. 3. 11"/>
{I== N.2,1.2: Message Sander Identifier ~=>
</device> -
{/sender>
<controlictProcess classCode="CACT” moodCode="EVN™> -
{eode code="PORR_TE0490I6UV" codeSystem="2. 16. 840 1.113883.1. 18" />
{!— HLY Trigger Event ID —>
{effectiveTime value="20101214151617"/>
§l— C.L2: Date of Creation —
{subject typeCode="SUBJ >
<investigationEvent classCode="INVSIG" moodCode="EVN™>
<id extension="C.1.1" root="2 16.840,1. 113883.3.980.2.1.3.1°/>
{l—C.1.1: Sendex’s {case) Safety Report Unique Identifier —)
<id extension="C, 1.8.1" root="2.16. 840. 1. 113883. 3,989, 2. . 3. 2*/>
<l— C.1.8.1: Worldwide Unique Case Identification Number —>
<id extensien="]J2, Ib” root="2, 18. 840, 1. 113883. 3.989,5,1,3.2. 3. I'f)
. 1— esey. 1b: HEIES (BS) —
{cade code="PAT_ADV_EVNT" codeSYstetF 2. 16.840. 1. 113883.5. 47 />
{text . 1¢/textd )
<I— H.1: Case Narrative Including Clinical Course, Therapeutic Measures, Outcome and Additional Relevant

Information —>

{statusCode code="azctive”/> .
<I—@ee)e.7.1 £7. RETES —
{effectivelime>

low value="20090101"/>

¢l— C.1.4: Date Report %as First Received from Source —>
<feffectiveTined
{aveilabilityTime value="200801017/>
€I— €. 1.5 Date of Most Recent Information for This Report -)
{reference typeCode="REFR™>

{document classCode="T0C" moodCode="EVN">

{code code="1" codeSysten="2. 16.840. 1, 113883, 3.989. 2. 1. 1. 27" codeSystenVersion="1. 0"



displayName="documentsHeldBySender”/> .
<titledC. L. 6. 1. r. 1</title>
¢t~ C.1,6.1.1. 1: Documents Neld by Sender {repeat as necessary) #1 —>
{text mediaType="application/pdf” representation="BA4">C. 1. 6. L. r_ 2{/text}
¢|— €. 1.6.1.r.2: Included Documents #1 —>
{/document>
</reference>
<reference typeCode="REFR™>
<document classCode="DOC" woodCode="EVN™>
. {code code="1" codeSystem="%, 16.840. 1. 113883, 3, 989. 2. 1 27" codeSystenVersmn— 1.0
displayNawe="documentsHeldBySender”/>
{titladC. 1, 6. 1.5 1¢/titler
<|— C.1.6.1.x.1: Pocuments Held by Sender (repeat as necessary) #2 —
{text mediaType="image/jpeg” representation="B64" compression="BF >C.1.6. 1. xr. 2¢/text)
<!— €.1.6.1.x.2: Included Dociments #2 ~> )
£/document>
{/referenced

-

<reference typeCode="KEFR »
{docurent classCode="DOC” moodCode="EVN">
{code code="2" codeSystem="2. 16. 840. 1. 113683, 3.989. 2. 1.1 27" codeSystenVarsmn— 1.07
displayName="literatureReference]/>
{titled]2. 17, r<ftitled
Kl €0872.17.r RB/HROL|A L —
<text medialype="epplication/pdf” representation="BS47>C. 4. r.2{/text)
<!~ C.4.1.2: Included Documents 1 —>
<biblivgraphicBesigmationText)C. 4. r. 1{/bib]liographicDesignationText)
{l— €.4.r.1: Literature Reference(s) #1 —>
{participation typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
{representedOrganization classCode="0RG" determinerCode="INSTANCE™>
<asLocatedEntity classCode="LOCE™>
{location classCode="COMNTRY” determinerCode="INSTANCE" >
Ccode code="J2.15.1" codeSystem="1.0.3166.1.2.27/>
1— 8g8)2. 15, r HER #1 —
</location)
</asLocatedEntity>
</representedOrganization>
{/assignedEntity>
{/participationy
</document>
{/reference’
{reference typeCode="REFR™>
{document classCode="BOC” moodCode="EVN">
{code code="2" codeSysten="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 27" codeSystenVersion="1. 0*
displayName="1iteratureReference”/> :
<titledJ2. 17.ré/ftitle>
{l— 88872. 17.r BB/ HROSHE #2 —
{text nediaTmF‘application/pdf' representation="B64">C. 4. 1. 2{/textd
{l— C.4.r.2: Included Documents #2 —> .
(Eubhographches1gnat10nText>C. 4r. 1</b1b11omph1cDesxgnatlon'['ext)
¢l— C.4.1.1: Literature Reference(s) #2 —> .
{participation typeCode="AUT"}
{assignedEntity classCode="ASSIGNED">
<represented0rganization classCode="0RG™ detarminerCode="INSTANCE™>
{asLocatedEntity c¢lassCode="LOCE™>
* <location classCode="COUNTRY" determinerCode="INSTANCE">
<code code="J2.15.1" codeSysten="1.0.3166.1.2.2"/>
I-— 88@32. 15. r £%EH 82 —
{/location>
{/asLocatedEntity>
{frepresentsdOrganizationd
{/assignedEntity>
{/participation>
</document?
{/reference>
{component typeCode="COWP">
{adverseEventAssessment ¢lassCode="INVSTG" moodCode="EVN™>
{subjectl typeCode="SB]™> .
{primaryRole classCode="INVSB]™>

-



{playerl classCode="PSN” determinerCode="INSTANCE"™>
<{name>D. 1{/name>
<}— D.1: Patient (name or initials) —5
{administrativeGenderCode code="D.5" codeSystem="1.0. 52187/
{!— D.5 Sex —>
<birthTime value="20090101"/>
{l~~ D, 2.1: Date of Bixrth —>
{deceasedTime value="20090101"/>
£I— D.9.1: Date of Death —>
<asIdentifiedEntity classCode="IDENT">
<id extension="D.1.1.1" root="2.16. 840. 1. 113883, 3.989. 2. 1. 3. 7"/>
<= D.1.1.12 Patient Medical Record Nuaber(s) and Sotrce(s) of the Record Bumber (GP Medical
Record Number) —> '
<code code="1" codeSyster="2, 16, 840. 1. 113843, 3, 989, 2. 1. 1. 4" codeSystemVersion="1, "
displayName="GP"/p
</asIdentifiedEntity>
{asldentifiedEntity classCode="IDENT">
{id extension="D.1.1.2" root="2.16. 840.1, 113653. 3. 980. 2, 1.3.8"/>
{I== D.1.1.2: Patient Medical Record Number{s} and Somrce(s) of the Record Nuwber {Specialist
Record Number) —> )
<code code="2" codeSystem="2. 16. 840. 1. 113883, 3.989.2. 1. 1. 4" codoSystexVersion="1, 0"
displayName="Specialist”/>
</asIdentifiedEntity>
<asldentifiedEntity classCode="IDENT">
<id extension="D.1.1.3" root="2. 16.840. 1. 113883. 3, 989. 2. 1. 3. 9°/> .
1— D.1. 1. 3: Patient Medieal Record Number(s} and Source(s) of the Record Number (Hospital Recor

Number) —>
<code code="3" codeSysten="2. 16, 840. 1. 123883. 3. 989.2. 1. 1. 4" codeSystemVersion="1.0"
displayName="Hospital Record”/}
{fasldentifiedFntity) ) ’
{asldentifiedEntity classCode="1DENT">
<id extension="D.1. 1. 4" root="2.16. 840, 1. 113883, 3,989.2. 1. 3. 10"/>
¢!=— D.1.1. 4 Patient Medical Record Number(s) and Source(s) of the Record Number (Investigation
Kumber) —> .
<code code="4" codeSysten="2, 18, 840, 1. 113883, 3, 689.2.1. 1. 4~ codeSystemVersion="1, 0°
displayName="Investigation”/>
{fasldentifiedEntity>
{role classCode="PRS">
" <code code="PRN” codeSystem="2, 16, 340. 1. 113883, 5, 111°/> .
{associatedPerson classCode="PSN" determinerCode="INSTANCE™>
<name>D. 10. 1¢/name)
€I— D.10.1: Parent Identification — .
{aduinistrativeGenderCode code="D.10.6" codeSystem="1_0.5218"/>
<!— D.10,6: Sex of Parent —=>
<birthTime value="20000101"/>
<|— D.10.2.1: Date of Birth of Parent —>
{/associatedPersond
{subjectOf2 typeCode="SB]"> .
{observation classCode="0B5" moodCode="E¥N"> .
<{code code="3" codeSysten="2. 6. 840. 1. 113883. 3,089, 2, 1. 1. 19" codeSystenVersion="11"

displayName="age"/> .
{value xsi:type="PQ" value="10" unit="D, i0.2.2b"/>
A, <l— D.10.2.2a: Age of Parent (number) —>
{l~~ D.10.2.2b: Age of Parent (unit} —>
{/observation>
{/subject0f2>

{subjectOf2 typeCode="SBJ">
<observation classCode="0BS" moodCode="EVN">
<code code="22" codeSystem="2. 16. B40. 1. 113883.3.985. 2, 1. 1. 19" codeSysteaVersion="1.1"
displayName="lastMenstrualPeriodDate”/>
<value xsiitype="TS" value="200901017/>
- €l—D.10.3: Last Menstrual Period Date of Parent —>
{/observation>
{/subject0f2>
Csubject0f2 typeCode="SB]™>
{observation classCode="0BS" moodCode="EVN™> '
{code code="7" codeSystem="2. 16.840. 1. 113843, 2. 989. 2. 1. 1. 19" codeSystenVersion="1.1"
displayNawe="bodyWeight”/>
{value xsi:type="PQ” value="50" unit="kg"/>



¢!— D.10.4: Body Weight (kg} of Paremt —>
{/observation>
{/subject0f2>
{subject0f2 typeCode="SB]">
{observation classCode="0BS™ moodCode="EVN™>
{code code="17" codeSystem="2. 15 840.1.113883.3,986.2.1.1. 187 codeSysteuVers:.on— .17
displayName="height”/>
‘ {value xsittype="PQ" value="160" unit="cm"/>
¢l-- D.10.5: Height (cn) of Parent —>
¢/observation?
{/subject0Of2>
{subject0f typelodc="SE]™>
Zorganizer classCode="CATEGORY” moodCode=
{code code="1" codeSystem="2.16.840. 1. 113883. 3.989.2.1. 1. 20" codeSystenVersion="1. 0"
dlsplayNane— "relevantMedicalHistorvAndConeurrentConditions” />
{component typeCode="COMP">
{chservation classCode="0BS” moodCode="EVR">»

{code code= D IU. 7. I.T. 16" codeSysiem~ Z. 10, 840. 1. 113884, 5. 163
codeSystenVersion="D, 10. 7. L. r. 1a"/>
<1— D,10.7. 1.r. }a: MedDRA Version for Medical History #1 —>
<l— D.10.7. 1.1. 1b% Medical History (disease / surgical procedure/ ete.) (MedDRA code) #I -
_) .
" {effectiveTime xsi:type="IVL_TS™>
<low value="200201017/> . .
<1— D.10.7.1.7.2: Start Date #1 —>-
<high value="200501017/>
¢1=— D,10.7.1.1. 4* End Date H1 —>
{/effectiveTinz>
{outhoundRelationship2 typeCode="COMP™>
Cobservation classCode="0BS™ moodCode="EVN™>
{code code="10" codeSystem="2. 16.840. 1. 113883.3.989. 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="comzent”/> .
{value zsiitype="ED")D. 10.7.1.x. 5¢/valued
{1— D.10.7. 1. 1. 5 Comments #1 —>  *
LI {/observation?
- ¢/outboundRelationship2>
<inhoundRelationship typeCode="REFR">
<abservation classCode="0BS™ moodCode="EVN"> .
<eode code="13" codeSystem="2, 16. 840. 1. 113883, 3,989, 2. 1, 1. 12° codeSysteaVersion="1.1"
displayNamF’continuingf/) .
{value xsiitype="BL” value="true"/>
<l—-D.10.7. 1. x. 32 Continuing #1 —'>
<{/ebservation?
{/inboundRelationship>
</observation>
</conponent>
{compponent typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN™>
- <code code="D. 10.7.1.r. 15" codeSystem="2, 16, 840. 1. 113883. €. 163"
codeSystenVersion="D. 10. 7. 1. r. 1a™/%
<}— P 10.7.1.r. 1a: HedDRA Version for Medical History #2 —> :
. ¢}— D 10.7. 1, r- 1b: Hediea) History (disease / surgical procedure/ etc.) (MedDRA code) #2 -
- . 3
<effectivetie xsi:type="IVL_15">
<low value="200901017/>
<l— P.10.7.1.1.2: Start Date 2 —
<high value="20090101/>
<!—1D.10.7.1.1. 4 End Date #2 ~—>
{/effectiveTimed>
{outboundRelationship2 typeCode="COMP™>
{chservation classCode="CBS” moodCode="EVN"> .
{code code="10" codeSystom="2. 16.840. 1. 113883, 3,980, 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="comment”/> . . ’
{value z5i:type="ED™>D, 10, 7. 1. 1. 5¢/value}
<[— D.10,7.1.r.5: Comments #2 —>
</observation>
</outboundRelationship2>
{inboundRelationship typeCode="REFR™>
<observation classCode="08S" moodCode="EVN">



<code code="13" codeSystem="2, 16, §40. 1. 112583 3. 982, 2. 1.1.19" codeSystemVersion="1.1"
displayNeme="continuing”/>
: Cvalue xsi:type="BL” value="true”/>
<1— D.10.7.1.r. 3: Continuing #2 —>
{/observationy
{/inboundRelationship>
{fcbservation>
{/component?
{component typeCode="COMP™>
<{ebservation classCode="0BS" moodCode="EVN*>
{code codo="18" codeSyster="2. 16. 840, 1. 113883, 3. 989. 2, 1, 1. 19~ cadeSystemVersion="1. 17
displayName="historyAndConeurrentConditionText”/>
<value xsi:type="ED“>D.10. 7. 2<{/value}
<I— D.10.7.2: Text for Relevant Mediesl istory and Cencurrent Conditions of Parent —>
! {/cbservation>
{/component}
{forganizer}
</subjectOf2>
<subjectOf2 typelode="SB]"™>
{organizer classCode="CATEGORY™ moodCode="EVN™>
<code code="2" codeSystew="2, 16, 840. 1. 113383, 3,989. 2. 1, 1. 20" codeSystenVersion="1. 0"
displayName="drugHistory”/> .
. {component typeCode="COMP"™>
{substanceAdministration classCode="SBADM" moodCode="EVN">
{effectiveTime xsi:type="IVL_TS">
{low value="20030101"/>
{I— D, 10.8.1. 41 Start Date 1 —>
<high value="200901017/> .
<!— D.10.8.x.5: End Date #1 —)
</effectiveTimed _ _
Cconsumable typeCode="CSH™>
{instanceCfKind classCode="INST™>
<kind0fProduct classCode="MMAT” determinexCode="KIND">
<code code="D. 10. 8, r. 2b™ codeSysten="TBD-MPID~ codeSystenVersion="D. 10.8.r.2a"/>
{l== B, 10.8.r.2a: HPID Version Date / Number #1 —3
€l— D.10.8.x.2b: Medicinal Product Identifier (MPID} #1 —>
{name>D. 10. 8. r, 1</ /name> .
<!— D.10.B.x. 1: Name of Drug es Reported #1 —>
</kindOfProduct> :
</instance0fKind>
</consumable> -,
<outboundRelationship? typeCade="RSON"> ’
<observation classCode="0BS" moodCode="EVN">
{code code="19" codeSystem="2, I5.B840. i, 113883. 3.989. 2, 1. 1. 19° codeSysteaVersion="1, 17
displayName="irdication”/}
<value xsiitype="CE" code="D.10.8.r.6b" codeSystem="2. 16, 540. 1. 113883. . 163"
codeSystemVersion="D.10. 8.r.6a"/>
1=~ D. 10, 8. 1. 6a: HedDRA Version for Indication £1 —>
{1== 1.10.8.r.6b: Indication (MedDRA code} #] -=>
</observationd .
</outboundRelationship2p
<outboundRelationship2 typeCode="CAUS™>
{observation classCode="0B5" moodCode="EVN™>
<code code="28" codeSysten="2. 16. 840. 1. 113883, 3.989.2.1. 1, 19" codeSysteaVérsion="1. 1°
displayName="reaction”/>
. <value xsiztype="CE” code="D,10.8.x.7b" codeSysten="2. 16.840. 1. 113883. 6. 163°
codeSystenVersion="D. 10.8.1. Ta"/>
{!=— D.10.8.x. Ta: MedDRA Version for Reaction #1 —>
¢<!— D.10.8.r. 7b: Reactions (MedDRA code) 1 —>
{/observation>
{/outboundRelationship2®
{/substanceAdwinistration®
{/component?
<component typeCode="COMP"> .
{substanceAdninistration classCode="SBADM" moodCode="E¥N™>
<effectiveTine xsiitype="IVL_I5">
{low value="20090101"/>
<I— D.10.8.1. 4: Start Date #2 —>
<high value="20090101°/>



<1— D,10.8.1.5: End Date #2 —>
¢/offectiveTime>
{econsumable typeCode="CSM{™>
<instanceOfKind classCode="INST">
<kindOfProduct classCode="MHAT" determinexCode="KIND"}
{code code="D. 10.B.r, 3b" codeSysten="THD-PhPID" codeSystemVersion="D.10.8.1.3a"/>
¢1— P.10.8.7.3a: PhPID Version Date / Mumher #2 —>
<l— D.10.8.r.3h: Pharmaceutical Product Identifier (PhPID) $2 —>
{name>D. 10, 8. r. 1{/nane>
¢l— D.10.8.x..1: Name of Drug as Reported #2 —>
</kindOfProduct’>
{/instance0fXind '
¢/consumable>
{outboundRelationship? typeCode="RSONT>
{observation classCode="0BS" moodCode="EVN"> .
{code code="19" codeSystem="2. 16.840, 1. 113683. 3. 989. 2. 1. 1. 19" codeSystemVarsion="1.1"
displayName="indication”/>

{value xsiltype= CE code= b, 10. B.r- 6b" codeSysten= 2. 16. 840, L. 1135803, 6. 103
codeSystenVYersion="D, 10. 8. r. 6a"/>
<i— D.10.8.1.6a: MedDRA Yersion for Indication §2 —>
¢!— P.10.8.1.6b: Indication (MedDRA cade) #2 —>
{/observation>
. </outboundRelationship2>
<outboundRelationship2 typeCode="CAUS™>
{observation classCode="0BS" moodCode="EVN">
{eode code="29" codeSystem="2. 16, 840. L. 113883. 3.989. 2. 1. 1, 19” codeSystemVersion="1.1"
displayName="reaction"/> :
{vyalue xsi:type="CE” code="D. 10.8.x. 7b", codeSystem="2. 16. 840, 1, 113883, 6. 163"
codeSystemYersion="D, 10, 8. 1. Ta“/> :
<I— D.10.8.x, Tar MedDRA Yersion for Reaction H2 —>
{!=— D.10.8.r.7b! Reactions {MedDRA cods) #2 —>
{fobservation>
</outboundRelationship2>
{/substanceAdninistration>
{/component>
<{/organizer?
{/subjectOf2>
<froled
{/playerl>
<subjectOfl typeCode="SBI™> 7
{researchStudy classCode="CLNTRL™ mocdCode="EVN">
<id extension="C.5.3" root="2, 16, 840. 1.113883.3.98%. 2. 1. 3. 5%/ -
¢l— C.§.3: Sponsor Study Number —>
Ccode code="C.5.4" codeSystem="%, 15.840. 1, 113883. 3. 989. 2. 1. 1. 8" codeSystemVersion="1.07/>
¢!— C.5.4: Study Type ¥here Reaction(s} / Event{s) Were Observed —>
<titledC. 5. 2{/title>
¢1— C.5.2: Study Name —>
{authorization typeCode="AUTH™>
<studyRegistration classCode="ACT" moodCode="EVN"> i
* {id extension="C.5, ).r.1" root="2.16.840. 1. 113883.3.989.2.1.3.6"/>
{1— £.5.1.7.1: Study Registration Number #1 ——>
<author typeCode="AUT">
{territorialAuthority classCode="TERR™>
{governingPlace classCode="COUNIRY” determinerCode="INSTANCE">
<code code="C. 5. 1.xr.2" codeSystem="1.0.3166.1,2.2"/"> .
<}— (.5 1.1.2; Study Registration Country #I —) .
{/governingPlace>
</territorialiuthority
{/author>
{/studyRegistration>
{/autherizaticn?
{authorization tmeﬂode— “AUTH >
<studyRegistration classCodé="ACT" moodCode="EVN">
¢id extension="C.5.1.r.1" root="2.16.840.1.113883.3.988.2.1.3,.6"/>
¢I— €.5 1.r.1 Study Registration Number #2 —>
Cauthor typeCode="AUT">
{territorialAuthority classCode="TERR">
{governingPlace classCode="COUNTRY” detemmerCode- INSTANGE™>
<code code="C.5.1.x.2" codeSysten="1.0.3166.1.2.2°/>



<}— C.5.1.x.2: Study Registration Countxy #2 —>
{/eaverningPlace>
{/territorialauthority>
{/author>
</studyRegistration>
{/authorization>
. Uresg"archStudy) .
{/subjectOf1>
{subject0f2 typeCode="SBJ">
{observation classCode="0BS" moodCode="EVN™>

* <cade code="3" codeSystem="2. I6. 840. 1. 113883. 3. 980.2.1. 1. 19" codeSystemVersion="1, 1"
displayName="age”/>
{value xsiztype="PQ” value="10" vnit="D, 2. 2b"/>
<!— D.2.2a: Age at Time of Onset of Reacticn / Event (nunber) —
<I— D.2.2b: Age at Time of Onset of Reaction / Event (unit) —->
{/observation®
{/subject0f2>

CsubjectOf2 typeCode="SRI™>
{observation classCode="0BS" moodCade="EVN™> .
<code code="16" codeSystex="2. 16. 840, 1. 113893. 3. 929, 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="gestationPeriod”/> :
<value xsi:type="FQ" value="10" unit="D.2.2. 16"/
<1— D.2.2.1a: Gestatien Period When Reaction / Event Was Observed in the Foetes (number) —>
<!— D.2.2.1b: Gestation Period When Reaction / Event Was Observed in the Foetus (unit) —
- </chservation>
fsubjectOf2y
{subjectOf2 typeCode="SBJ™>
<observation classCode="0BS" moadCode="E¥YN">
<code. code="4" codeSystex="2. 16.840. 1. 113883. 3,989, 2. 1. 1, 18" codeSystemVarsion="1. 1"
displayName="ageGroup™/>
<value xsi:type="CE” code="D.2.3" codeSysten="2, 16.840, 1, 113883, 3, 980, 2. 1.1.9"
codeSystenVersion="1. 0“/>
<I— D.2.3: Patient Age Group [as per reporter) —>
{/observation>
</subjectOf2> . -
<subjectDf2 typeCode="SBJ">-
{chservation ¢lassCode="0BS" moodCode="EVN™>
*<code code="7" codeSysten="2. 16. 840. 1. 113883, 3.989.2.1. 1. 19" codeSystenVersion="1. 1"
displayName="body¥eight”/> . -
<value xsiitype="PQ” value="48.2" unit="kg"/>
<1— D.3: Body Weight (kg) —
{/cbservation>
{/subjectOf2>
¢subjectDf2 typeCode="SBI"> ]
<observation classCode="OBS" moodCode="EVN™»
{code code="17" codeSystem="2, 16. 840. 1. 113853. 3. 989, 2, 1. 1. 19" codeSystemVersion="1, 1"
displayName="height”/> ’
<value xsi:type="PQ" value="152" unit="cm"/>
<l— D.4: Height {em) —>
</observation?
{/subject0f2>
{subjectOf2 typeCode="SBJ">
<observation classCode="0BS” moodCode="EVN"> -
{code code="22" codeSystew="2. 16. 340. I. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1*
displayName="1astMenstrualPeriodbate”™/>
<value xsi:type="TS" value="20090101"/>
<!— D.6: Last Menstrual Period Date —»
{/observation> N
<{/subjectOf2>
{subject0f2 typeCode="5B]">
Corganizer classCode="CATEGORY" moodCode="EVN™>
<code code="1" codeSystem="2, 16.840. 1. 113883. 3. 989,2. 1. 1. 20" codeSystenVersion="1. 0™
displayName="relevantMedicalHistoryAndConcurrentConditions”™/>
{component typeCode="COMP">
* {observation classCode="0BS"™ moodCode="EVN™>
{code code="D.7.1.r.1b" codeSysten="2. 16. 846, 1. 113983. 6. 163” codeSystenVersion="D. 7. 1.r. 1a*/>
<I~1D.7.1.r. 1a: WedDRA Version for Medical History #1 —>
<I==D.7.1.r. 1b: Medical History {disease / surgical procedure / etc.) (MedDRA code) H1 —>
{effectiveTime xsi:type="IVL_T§">

.




¢low value="20090101"/>
<l— D.7.1.x.2: Start Date $1 —
<high value="20090101"/>
. - 1= D.7.1.r.4: End Date #1 —
<feffectiveTime>
{outboundRelationship? typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN">
{code code="10" codeSysten="2, 16, 840. .113883.3.980.2.1. 1. 19" codeSystemVersmn— 1LYy
displayNane="comment”/>
<value xsi:type="ED">D.7.1.r.5¢/value>
¢l— B.7.1.r.5: Comments §1 —>
{/observaiion>
¢foutboundRelationship2>
{outboundRelationship2 typeCode="EXPL">
Cobservation classCode="0BS” moodCode="E¥N"™>
Ceode code= 38 codeSystem="2. 16. 840. 1. 113883.3.989. 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="fanilyHistory”/>

<value xsi:type="BL" value="true”/>
. {l— D.7.1.x.6: Family History f1 —>
</observation>
</onthoundRelationship2y
<inboundRelationship typeCode="REFR">
{observation c¢lassCode="0BS" moodCode="BYN"> .
{code code="13" codeSystem="2, 16, 840. 1. 113883, 3, 989, 2. 1. 1. 18" codaeSystenVersion="1. 1"
displayName="continuing”/> '
{value xsi:type="BL" value="true”/»
<!— D, 7.1 xr.3: Continuing #1 —>
</obsexrvation>
« ¢/inboundRelationship>
</observation>
</conponent>
{component typeCode="COMP">
{observation classCode="0BS" moodCode="E¥N™> .
<code code="D.T.1.r. 1b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="D. 7. 1.x. 1a™/>
<l== D.7.1.r. 1a: WedDRA Version for Medical History #2 —>
<l— B,7.1.1.1b: Medical history (disease / surgical procedure / etc.) (MedDRA code) #2 —d
{effectiveTime xsi:type="IVL_TS™>
{low value="20090101"/> .
<—D.7.L.x 2: Start Date #2 —>
<high value="20080101"/>
{]l— D.7.Lr.4: End Date #2 —>
{/effectiveTime>
{outhormdRelationship2 typeCode="COMP™>
{observation classCode="0BS" maodCode="EVN">
_ <code code="10" codeSystem="2, 16. 840, 1. 113483, 3. 680, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment />
<value xsi:type="ED">D.T.l.r.5</value>
{l— D.7.L.1r.5: Comments #2 —>
</observation>
</outboundRelationship2>
<outboundRelationship? typeCode="EXPL">
(observation classCode="0BS" moodCode="EVN")> T
{code code="38" codeSysten="2. 15. 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="fanilyHistory™/>
<value xsi:type="BL" value="true”/>
<!— D.7.1.x.6: Family History §2 —>
{/ohservation>
{/outboundRelatianship2>
<inboundRelationship typeCode="REFR">
{observation classCode="0BS" moodCode="BYN">
{cade code="13" codeSysten="3, 16,840, 1. 113883, 3, 980.2. 1. 1. 19" codeSysteaVersicn="1.1"
displayName="continuing” />
{value xsi:type="BL" value="trus”/>
{l— D.7.1.r.3: Continuing 2 —>
{/observation®
{/inboundRelationship?
{fobservation>
{/conponent>
{component typeCode="COMP™>



s

<cbservation ¢lassCode="0BS” moodCode="EWN">
{code code="18" codeSystem="2, 18. 840. 1. 113883. 3. 980, 2. 1. . 15" codeSystemVersion="1.1"
displayNawe="historyAndConeurrentConditionText”/>
<{value xsiitype="ED">D. 7. 2¢/valued
+ (b= D.7.2: Text for Relevant Medical History and Concurrent Conditions (not including reaction
/ event} — . )
{/observation>
¢/component>
{component typeCode="COMP™>
<observation classCode="UBS” moodCode="EVN">
<code code="11" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1, 19"~ codeSystemVersion="1.1"
displayName="concomi tant Thexapy™ /> .
. <value xsi:type="BL" value="true"/>
€l— D.7.3: Concomitant Thexapies —>
</ebservation>
</conponent>
¢forganizer>
</subject0fz>
{subject0f2 typeCode="SB]">
{organizer classCode="CATEGORY” moodCode="EVN">
{code code="2" codeSysten="2, 16. 840, 1. 113883. 3. 980, 2. 1. 1. 20" codeSystemVersion="1, 0*
displayName="drugHistory™/>
{component typeCode="COMP™>
CsubstanceAdministration classCode="SBADM" moodCode="EVN™>
{effectiveTime xsi:type="IVL_TS">
<low value="20030101°/>
¢l-—-D.8,r. 4: Start Date #1 —>
<high value="20090101"/>
<l1— D.8.r.5: End Date #1 —
{/effectiveTime®
{consumable typeCode="CSM"> .
{instance0fKind classCode="INST">
<kindOfProduct classCode="MMAT" determinerCode="KIND™>
<code code="D.8.r.2h" codeSystex="TED-MPID” codeSystemVersion="D.8.r. 2a°/>
{l== D.8.1.2a: MPID Version Date / Number #1 —) .
<!— D.8.r.2b: Medicinal Product Identifier (MPID) #1 —>
<nzwmeD, 8. r. 1{/name>
{1— D.8 1,17 Name of Drug as Reported #1 —>
</kind0fProduct> '
</instance0fKind>
</consumabley -
{outboundRelationship2 typeCode="RSON™)>
<observation classCode="0BS” woodCode="EVYN™> .
<code code="19" codeSysten="2. 16. 840, 1. 113883, 3, 929. 2. 1. 1. 19" codeSystenVersion="1. 1"
displayName="indication”/>
<value xsi:type="CE” code="D.8,r,6b" codeSysfem="2. 15, 840, 1. 113883. 6. 163~
codeSystemVersion="D. 8. r. 6a"/> i
<l— D.8.r.62> MedDRA Yersion for Indication #1 —>
{l— D.8.r.6b: Indication (MedDRA code) #i —>
{/observation}
</outboundRelationship2>
{outboundRelationship2 typeCode="CAUS™>
{observation classCode="0BS" mondCode="EVN">
{code code="29" codeSystex="2. 16. 840, 1. 113883, 3.980. 2,1, 1. 19" codeSystenVersion="1. 1
displayName="reaction"/> .
<value xsirtype="CE" code="D.8.r.7h™ codeSysten="2. 15, 840. ). 113883, 5. 163"
codeSystemVersion="D.8.1.7a"/> . -
<!— D.8.r. Ta: MedDRA Version for Reaction #1 —)
<l— D.8.r. Tb: Reaction (MedDRA code) HI —>
{/observation>
{/outboundRelationship2®
{/substanceAdministration®
</companent>
{component typeCode="COMP">
LsubstanceAdministration classCode="SBADM™ moodCode="EVN™>
{effectiveTime xsiItype="TVL_TS"> . :
" ¢low value="200901017/>
<{!— B.8.r. 4! Start Date #2 —>
<high value="20090101"/>



¢!— D.8.r.5: End Date §2 —>
{/effectiveTine>
{consumable typeCode="CSH™>
<instanceOfKind classCode="INST™> .
<kind0fProduct classCode="MMAT" doterminerCode="KIND">
{code code="D) 8.1r.3b" codeSystem="TBD-PhPID" codeSystemVersion="D.8.xr.3a"/>
<l— D.8 x.3a: PhPID Version Date / Number ~=>
<!— D.8.1.3b: Pharmacentical Product Identifier (PHPID} #2 —>
<namedD. 8. r. I{/name>
<l— D.8.1.1: Name of Drug as Repurted 2 —>
</k1nd0ﬂ’roduct>

(/ consumableX .
<outboundRelationship? typeCode="RSON™>
<observation classCode="0BS" moodCode="EVN">
{code cade="19" codeSystem="2, 16, 840, 1. 113883. 3. 989, 2, 1. 1. 19" codeSystemVersion="1. 1"

displayNane="indication”/>

. <value xsi:type="CE code= D.8.r.6b codeSystem= 2, 16.840. 1. 113883. 6. 163~
codeSystenVersion="D. 8.r. 6a"/>
T <I— D.8.7.6a7 MedDRA Version for Indication #2 —>
¢{I-- D.8.1.6b: Indication (MedDRA code) #2 —>
. </observation>
</outhoundRelationship2>
<outboundRelationship2 typeCode="CAUS">
“{observation classCode= ="0BS" woodCode="EVN">
Seode code="20" codeSystem="2. 16. 846, 1, 113883, 3, 989, 2. 1. 1 19”7 codeSystemVersion="1. 1"
displayName="reaction”/>
’ <value x5iitype="CE" code="D,8.r.7b" codeSystem="2, 16. 840, I. 113883. 6. 163"
codeSystemVersion="D.8.1. 72a"/> .
<l— D.8.x.Ta: MedDRA Version for Reaction #2 —> -
¢l== D.B.x.Tb: Reaction (MedDRA code) #2 —>
{/observation>
</outboundRelationship2®
{/substanceAdministration>
{/component?
- {forganizer>
{/subjectOf2>
<{subjectQf2 typeCo:Ie— SB_'I' > .
<observation classCode="0BS" moodCade="EVN"> .
<code eode="32" codeSysten="2. 16, 840. 1. 113883. 3.989.2. 1. 1. 19" codeSystemVarsion='1. 1”
displaylame="reportedCanseCfbeath” />
{value xsi:type="CE" code="D. 9. 2.r 1b" codeSystew="2.16.840.1. 113883. 6. 163"
codeSystenVersion="D. 8. 2. 1. 1a™> ]
¢{]— D.9.2.1.1a: HedDRA Yersion for Reported Cause(s) of Death #1 —
¢l D.9.2.1.1b: Reported Cause(s) of Death (MedDRA code) #1 —>
CoriginalText>D. 9. 2. r. 2{/original Text?
<|— D.9.2.r.2: Reported Cause(s) of Death (free text) #1 —
<fvalued
{/ebservation>
{/subject0f2>
{subject0f2 typeCode="SB]">
{observation classCode="0BS" moodCode="E¥N™>
. {code code="32" codeSyster="2. 16. 840, 1. 113883. 3.989. 2. 1.1. 197 cudeSystemVerswn— L1
displayNama='reportedCauseOfDea!:h “/
<value xsi:type="CE" code="D.9.2.1.1b" codeSysten="2, 16. 840, 1. 113883. 6. 163~
codeSysteaVersion="D.5.2. x. 1a™>
== D.9.2.r.1a! MedDRA Yersion for Reported Cause{s) of Death §2 —>
¢l— D.9.2.r.1b: Reported Cause(s) of Death (MedDRA code) #2 —>
<originalText?D. 9. 2. r. 2¢{/originalText>
<l— D.9.2. 1.2 Reported Cause(s) of Death (free text) #2 -’
<fvalued
{/observation>
{/subject0f2>
<subject0f2 typeCode="5B7">
{chservation ¢lassCode="0BS" moodCode="EVN™>
<eode code="5" codeSystem='2 16.840. 1. 113883. 3. 989. 2, 1. 1. 19 codeSystemVersion="1,17
di splayName="autopsy”/>
¢value xsi:type="BL" value- true®/>
<l— D.9.3 Vas putopsy Done? —>



CoutboundRelationship2 typeCode="DRIV")>
<observation classCode="CBS" moodCode="EYN™>
<code code="8" codeSysten="2. 16, 840. 1. 113883. 3.989. 2.1, 1. ]9 codeSystenVersion="1. 1”
dlsplayﬂame— causeGfDeath”/>
Cvalue xsi:type="CE” code="D.9.4.1.1b" codeSystem="2. 6. 840. 1. 113883, 6. 163"
codeSystemVersion="D. 8. 4. 1. 1a™>
<!— D.9.4.r. 1a: MedIRA Version for Autopsy-determined Cause(s) .of Death #1 —
<I-=D.9,4.r. 1b Autopsy-deternined Cause(s) of Death (WedDRA cn:le) 1 —>
€originalText>D. 9. 4. r. 2{/originalText>
<1-—D.9.4.1,2: Autopsy-determined Cause(s) of Death (free text) #1 -
<fvalued
¢/observation> .
</outboundRelationship2>
{outboundRelationship2 typeCode="DRIV")>
{cbservation classCode="0BS" moodCode="EVN"
{code code="8" codeSystem="2. 16. 840, 1. 113883, 3.952.2.1. 1. 19" codeSystenVersion="1, 1”
displayName="cause0fDeath™/> ;
’ {value xsi:type="CE” code="D.9.4.r. Ib" eodeSystem="2. 16. 840, I. 113883 6. 153"
codeSystenVersion="D.9.4.r. 1a™>
<}—D.9.4.r. 1a: MedDRA Version for Autopsy-determined Cause(s) of Death #2 —
<I— D.9.4.5. 1b Autopsy-determined Cause(s) of Death (MedBRA code) #2 —)
<originalText>D. 9. 4 r. 2¢/originalText> .
1= D,9.4.7.2: Autopsy-determined Cause(s) of Death (Fres text) #2 —>
fvaluer -
{/chservation)
</outboundRelationship2®
<{/observation>
t {/subject0f2>
<subject0f2 typeCode="SB]">
{observation classCode="0BS™ moodCode="EVN">
<id root="154ch889—958b~45F2-a02F-42d4d6 L4657 />
{code code="29" codeSystem="2. 16. 840. 1. 113883, 3.989.2. 1. 1. 19" codeSystenVersion="1, 17
displayName="reaction”/>
<effectiveTime xsi:type="IVL_TS™>
<low value="20000101"/>
<I—E.1.4: Date of Start of Reaction / Bvent §] —>
<high value="20090102"/>
<l—= E.i.5: Date of End of Réaction / Event #1 —>
{feffectiveTime?
{value xsi‘type="CE™ code="E.i.2. 1b" codeSystem="2.16. 840. 1. 113983. 6. 163"
codeSystenVersion="E.i.2.1a™> '
<I-- E.i.2 1a: MedDRA Version for Reaction / Event #1 —) -
¢{I— B.i.2.1b; Reaction / Event {MedDRA code) #1 —-> .
<originalText langiage="E, i, 1. Ib™E. i. 1. 1a</originalText>
<l— E.i.l 1a: Reaction / Event as Reported by the Primdry Source in Mative Language #1 —>
¢!— E. i.1.1b> Reaction / Event-as Reported by the Primary Source Language #1 —>
{/value>
{location typeCode="LOC">
{locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
{code code="E. i. 9" codeSysten="1.0. 3166.1.2.2"/>
<l— E.i.9: Identification of the Country Where the Reaction / Event Docurred #1 —>
</locatedPlace>
{/locatedEntity>
¢/location>
{outboundRelationship2 typeCode="PERT ">
<observation classCode="0B5" moodCode="EVN™>
{code code="30" codeSysten="2, 16. 840, 1. 113883, 3.989. 2. 1. 1. 19° codaSystemVersmn— L1
displayName="reactionForTranslation™/>
{value xsi:itype="ED"JE. i.1 2(/value)
€[— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translatmn #l —
<fobhservation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™> !
» {code code="37" codeSystem="2.16.840.1, 113883.3.588.2. 1. 1. 19' codeSystemVersion="1.1"

displayName="ternHighlightedByReporter />
{value xsitype="CE” code="E.i.3,1" codeSystem="2.16.840. 1. 113883 3.989.2. 1. 1. 107

codeéystem‘fersinnfl- (1]



¢!~ E.i.3.1: Term Highlighted by the Reporter #1 —>
{/observation>
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
Cobservation classCode="0BS” wmoodCade="EYN">
" {code code="34" codeSysten="2. 16. 840. 1. 113883.3.989.2. 1.1, 19 codeSystemVerslon—- 1.1
displayName="resultsInDeath”/>
{value xsi:type= “BL" value="true”/>
¢!-—E.{.3.2a: Results in Death #1 —>
{/observation>
(/outhoundRelatmnsh:p2>
“PERT™>
{cbservation classCode="0BS" moodCode='EVN'>
<code code="21" codeSysten="2. 16. 840, 1. 113883, 3.989.2. 1. 1. 19" codeSystemVersion="1.1"
displayNane="isLifeThreatening™/>

- . {valve xsi:type="BL" nullFlavor="NI"/> '
¢l— E.i,3.2b: Life Threatening ¥1 —>
{/observation>
</outhoundRelaticnship2>

{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS™ moodCode="EVN"> ]
{code code="33" codeSystem="2. 16.840. 1. 113883.3.989, 2, 1. 1. 19" codeSystemVersion="1.1"
displayName="requiresInpatientiospitalization”/>
Cvalue xsi:type="BL” value="true"/> )
¢l— E.i.3.2¢: Caused / Prolonged Mospitalisation #1 —
{/observation>
,£/outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN™>
{code code="35" codeSyster="2.16. 840, 1. 113883.3.989. 2. 1. 1. 15" codeSystemVersion="1, 1*
displayName="resultsInPersistentOrSignificantDisability”/>
<value xsi:type="BL" nuliFlaver="NI"/>
¢l-= E.i:3.2d: Disabling / Incapac:.tatmg H1—>
{/ebservation>’ .
</outhoundRelationship2> ¢
{outboundRelationship2 typeCode="FERT">
Zobservation classCode="0BS” moodCode="EVN">
{epde eode="12" codeSystem="2. 16.840. 1. 113883.3,989.2, 1. 1. 19" codeSystemYersion="1.1"
displayName="congenitalAnomalyBirthDefect™/>
. {value xsi:type="BL” nullFlavor="NI"/> .
{1— E.i.3.2e: Congenital Anomaly / Birth Defect §1 —
{/observation>
{/outboundRelationship2>
{outbotindRelationship? typeCode="PERT">
<observation classCode="085" moodCode="E¥WN"}
{eode code="26" codeSystem="2. 18 £840.1.113883,3,989.2,1,1. 18" cudeS}rstemVersmn-—“' 1.1
displayName="otherMedicallyImportantCondition™/>
{value xsi:type="BL™ value="true”/>
¢l— E.i.3.2f: Other Medically Important Condition #1 —>
{/obgervation>
</ontboundRelationship2>
<outboundRelationship2 typeCode="PERT"> .
<observation classCode="0BS” moodCade="EVN">
. {code cade="27" codeSystem="2. 15 840, 1. 113883. 3. 989. 2. 1. 1.18” codeSystemVersion="1, 17
displayName="outcome™/> .
<value xsi:type="CE" code="E.i. 7" codeSystem="2. 16, 840.1.113883.3.989,.2.1. 1. 11"
codeSystemVersion="1.0°/>
¢l— E.i.7: Qutcome of Reaction / Event at the Time of Last Ubservat:on #1 —>
</obsexrvation?
{/outboundRelationship2>
<outboundRelaticnship? typeCode="PERT">
<observation classCode="0B5" moodCode="EVN">
Ceode code="24" codeSystem="2. 16. 840. 1. 113883.3.989.2.1.1, 19" cudeSystemVersmn— 117
displayMame="medicalConfirnationByHealthProfessional” />
{valne xsi:type="BL" value="true”/> '
¢!— E.{,8: Medical Confirmation by Healthcare Professianal #1 —>
</observation> i .
</outboundRelationship2>
$outboundRelationship? typeCode="PERI">



{observaticn classCode="0BS” moodCode="EVN™> -
{code code="11" codeSystem="2. 16.840. 1. 113883, 3,980. 5. 1. 3. 2. 1. 10" codeSystexVersion="1, 0"
displayNeme="3kM - EEQ"/>
. <value xsi:type="CE” code="J2.14.i" codeSystem="2. 16.540. 1. 113883.3.980.5.1.3. 2. 1. 8"
codeSystenVersion="1. 0"/>
<l-- e@dJz. 14.i ki - B #1 —>
{/ohservation)
{/outboundRelationship2>
{/observation>
{/subjectOf2>
<subject0f2 typeCode="SBY">
" <cbservation classCode="0BS* moodCode="EVN">
{id root="Zbaa28d6-cDe8-4ebc-93e2-5b860b3142207 />
<eode code="29" codeSysten="2, 6. 840. 1. 113883, 3. 989, 2. 1. 1. 19" codeSystenVersion="1. 1"
displayName="reaction"/>
{effectivelime xsi:type="1YL_TS">
<low vailue="20080101"/>
<l— E.i.4: Date of Start of Reaction / Event #2 —>
<width value="24" unit="E. i.6b"/>
<t— E i.6a: Duration of Reaction / Event (number) #2 —>
) <I-—E. 1. 6b: Duration of Reaction / Event f(unit) #2 —>
{/effectiveTime>
<value xs5i:type="CE” code="E.i.2. 1b" codeSystem="2. 16, 840, 1. 113883. 6. 163"
codeSystemVersion="E. ji. 2. 1a™>
{l— E.1i.2. la: MedDRA Version for Reaction / Event #2 —>
¢1— E.1,2.1b: Reaction / Event (MedDRA code) #2 —>
{originalText Janguage="R.i.1.1b">E.1i. 1. Ja{/originalText>
<l— B.i. 1 1at Reaction / Event as Reported by the Primary Source in Hative Language 2 —>
{}—— E.i.1. 1b: Reaction / Event as Reported by the Primaiy Source Language #2 —>
{/value>
<location typeCode="LOC™> ~
{locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY” determinerCode="TNSTANCE">
{code code="E.i.9" codeSystem="1.0. 3166, 1.2.2"/5
¢l— E.i.9: ¥dentification of the Country ¥here the Reaction / Event Occurred #2 —>
¢/locatedPlace} .
{/lacatedEntity>
¢flocation>
{outboundRelationship? typeCode="PERI™>
{observation classCode="0BS" moodCode="EYN™> .
{code code="30" codeSystew="2. 16. 840. 1. 113883. 3,989. 2. 1. 1. 19" codeSystenVersion="1. 1"
displayNawe="reactionForTranslation”/>
{value xsi:type="ED")E.i.1.2¢{/valued
<}— E.1i.1.2: Reaction / Event as Reported by the Prigary Source for Trenslation #2 ==
¢/observation>
¢/outboundRelationship2»
<{outboundRelationship2 typeCode="PERT >
{observation classCode="(BS" moodCode="EVN™>
{code code="37" codeSystem="2. 16. 840. L. 113883.3.989.2. 1. 1. 19" codeSystenVersion="1.1"
dispiayName="termHighlightedByReporter”/> '
{value xsi:type="CE" code="E.i 3.1" codeSystem="2. 16.B40. 1, 113883, 3.089.2.1. 1. 10"
codeSystenVersion="1,07/> . ‘ .
{!— E.i.3.1:Term Highlighted by the Reporter #2 —>
</ohservation>
{/outboundRelationship2>
{outboundRelationshipZ typeCode="PERT”"> .
Cobservation classCade="0BS™ moodCode="EVN">
{code code="34" codeSystem="2, 16. 840. 1. 113583. 3. 980. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="resultsInDeath”/> :
{value xsi:type="BL” value="true”/>
¢!— E.i.3.2a: Results in Death #2 —>
{/observation’
¢/outbomndRelationship2>
<outboundRelationship2 typeCode="FERT™>
{observation classCode="0BS" moodCode="EVN™> .
{code code="21" codeSystew="2, 16, 840, 1. 113883. 3.989. 2. 1. 1. 19" codeSystenVersion="1.1"
. displayName="isLifeThreatening”/>
<value xsi:type="BL” nullFlavor="NI"/>
<l— E.i,3.2b: Life Threatening #2 —>

v



{/observationd
{/outboundRelationship2>
" {outboundRelationship? typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
<eode code- 337 codeSystem="2. 16. 840. 1. 113883. 3. 989. 2.1.1. 19" codeSJrstemVersmn—- .17
displayName="requiresInpatientHospitalization™/>
{value xsi:type="BL" value="true”/>
<{!— E.i.3.2c: Caused / Prolenged Hospltahsatmn #Z -
{/observation®
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT™>
{obsarvation classCode="0B5" moodCode="EVN™
{cade code="35" codeSysten="2.16.840. 1. 113883. 3, 989. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayNaxe="resultsInPersistentOrSignificantDisability™/>
{value xsi:type="BL" nullFlavor="NI"/>
<}— E.i.3.2d: Disabling / Incapacitating #2 —>
</ohservation>

{/outboundRelationshipZ>
{outboundRelationship? typeCode="PERT™>
{observation classCede="0BS" moodCode="EVN™> .
{code code="12" codeSystem="2, 16. 840. 1. 113883. 3. 985.2. 1. 1. 19" codeSystenVersion="1.1"
displayName="congenitalAnomalyBirthDefect™/>
{value x=i:type="BL" nuliFlavor="NL"/>
{l— E.i.3.2: Congenital Anomaly / Birth Defect #2 -
{/observation>
</outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
{code code="26" codeSystew="2. 16 840.1. 113883, 3.989.2.-1. 1. 19" cndeSystem\’ersmn— 11”7
dlsplayName- athexMedicallyImportantCondition™/>
<value xsi:type="BL" value="true”/}
<|— E.1.3.2%: Other Wedically Important Condition H2z —>
{/observation>
</vutboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0BS" moodCode="F¥YN">
{code code= 27' codeSysten="2, 16. 840. 1. 113883. 3, 989, 2, 1. 1. 19" codeSysteaVersion="1,1°

displayName="outecome™/>
<value xsi:type="CE" code="E.i.7" codeSyst ewr="2. 16. §40. 1. 123883. 3. 989, 2, 1. 1. 11~
codeSystemVersion="1. 0 />
¢l— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #2 —>
</observation> .
{/outboundRelationship2>
<outhonndRelationship? typeCode="PERI">
<observation classCode="0BS" moodGode="EYN">
{code code="24" codeSysten="2.16.840. 1. 113883.3.989.2.1. 1. 19" codeSystenVersion="1,1"
displayName="medicalConfirmationByBealthProfessional />
Svalue xsiitype="BL" value="true”/>
{l— E.i.8: Medical Confirmation by Healthcare Professional #2 —»
{/observation>
</outboundRelationship2>
{outhoundRelationship? typeCode="PERT">
{observation classCode="0B5" moodCode="E¥N">
<code code="11" codeSystem="2. 16.840. 1. 113883, 3,989, 5, 1. 3.2. 1. 10" codeSystenVersion="1. 0"
displayName="550 - BEAI"/> :

' {value xsi‘type="CE” code="12,14.i" codeSystem="2.16.840. 1. 113883. 3. 989. 5. 1,3.2.1.87
codeSystem¥ersion="1..0"/> .
<i— @88J2. 14. 1 KA - BEA #2 —

{/obsexvation>
{/outboundRelationship2>
* ¢/abservation>
</subject0f2>
¢subject0f2 typeCode="SBY">
{observation classCode="0BS" moodCade="EVN™>

<id root="3aB626ch~9f1b-4ea8-8a0f-e0ff34430adf />

<code code="28" codeSystem="2.16. 840, 1. 113883, 3.989. 2. 1. I. 15" codeSystemVersion="1, 1"
displayName="reaction”/>

{effectiveTime xsi:type="IVL_TS">
<width value="24" unit="E. {,6b"/>



<I— E.i.6a: Duration of Reaction / Event (number) #3 —>
<I— E.i.6b: Duration of Reaction / Event {umit) #3 —>
<high value="20101201"/)
€l~- E.1i.5: Date of Fnd of Reaction / Event #3 —>
{feffectiveTine) - .
<value xsi‘type="CE” code="E.i.2.1b" codeSystem="2.16, 840, 1. 113883. 6, 163"
codeSystenVersion="E. i. 2. 1a™>
<I— E.i.2.1a7 MedDRA VYersion for Reaction / Event #3 —>
{!— E.i.2. 1h: Reaction / Event (MedDRA code) #3 —>
{origina]Text language="E. 1i.l. 1b"JE. i. 1. la¢/originalText>
€l— E.i. 1. 1a: Reaction / Event as Reported by the Primary Source in Native Language £3 —3
<}— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #3 —>
</value}
{location typeCode="LOC™>
{locatedBntity classCode="LOCE">
{locatedPlace classCode="COUNTRY" determinerCode="INSTANCE™>
{code code="E.i,9" codeSystem="1.0.3166.1,2 27/
<l— E.i.9: Identification of the Commtry Where the Reaction / Bvent Occurred 33 —>
{/locatedPlace?
<flocatedEntity>
{/location>
<outboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="E¥N™>
<code code="30" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1" -
displayName="reactionForTranslation”/> :
{value xsiitype="ED7)E. i. 1. 2¢/valued
<|~- E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation #3 —>
{/observation> ’ .
</outboundRelationship2>
{outboundRelationship? typelode="PERT">
<observation classCode="0BS" wmoodCode="EYN™>
code code="37" codeSysten="2, 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” codeSystenVersion="1.1"
displayName="termHighlightedByReporter™/> -

’ <value xsiitype="CE" code="E.i.3.1" codeSystex="2. 16. 840. 1. 113883. 3. 089, 2. 1. L. 10"
codeSystenVersion="1. 0"/> . : -
¢|— B.i.3.1:Term Highlighted by the Reporter fi3 —>

</observation>
</outboundRelationship2>
<{otitboundRelationship2 typeCode="PERT™>
" <observation classCode="0BS" moodCode="EVN™>
- {code code="34" codeSysten="2. 16.840. 1. 113883. 3. 988.2. 1. 1. 19~ codeSystemYersion="1.1"
displayName="resultsInDeath”/>
<value xsi:type="BL" value="irue”/> . \
¢|— E. i 3.2a% Results in Death #3 —>
</observation> i
</outboundRelationship2>
<outhotindRelationship2 typeCode="PERT”
{observation classCode="0BS" moodCode="EVN™> ‘
<code code="21" codeSysten="2, 16, 840, 1. 113683. 3. 989.2, 1. 1. 19" codeSystemVersion="L 1~
displayName="isLifeThreatening™/> .
Svalue xsiitype="BL" nullFlavor="NI"/>
¢}-='E.i.3.2h: Life Threatening #3 —>
</observation}
{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation elazsCode="0BS" maodCode="EVN"»
. <code code="33" codeSysten="2. 16. 840. 1. 113883, 3, 989, 2. 1. 1. 19" codeSystenVersion="1 1*
displaytame="requiresInpatientHospitalization™/>
{value xsi:type="BL" value="true"/¥
<l— E.i.3.2c! Caused / Prolanged Hospitalisation #3 —)
{/vbservation?
</foutboundRelationship2>
SouthoundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™> -
<cods code="35" codeSystem="Z. 15, 840, 1. 113883.3.985. 2. 1. 1. 19" codeSystemVersion="1, 1"
displayName="resultsInPersistentOrSignificantDisability”/>
. <value xsi:type="BL" nullFlavor="NI"/>
<l— E.i. 3.2d: Disabling / Incapacitating #3 >
{/observation>



{/foutboundRelationship2>
<putboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
{code code="12" codeSystem— 2.16. 840.1. 113883, 3. 985. 2. 1. 1. 19" codeSystemYersion="1, 1"
displayName="congeni talAnonalyBirthDefect” />
¢value xsi:type="BEL” nullFlavor="N1"/>
¢{!— E.i.3.2¢: Congenital Anemaly / Birth Defect #3 —
</observation>
{/outboundRelationship2>
SoutboundRelationshipn? typeCode="PERT">
{chbservation classCode="0BS" moodCods="EVN">
{code code="Z5" codeSystem="2, 16,840, 1. 113883, 3. 98%. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="otherMedicallyInportantCondition™/>
{value xsi:type="BL" value="true"/>
{l— E.i.3.2f: Other Nedically Importaut Condition #3 —>
{/observationd
¢/outhoundRelationship?>

R

outboundRelationship?2 typeCode="PERT">
{ohservation ¢lassCode="0BS" moodCode="EVYN">
{code code="27" codeSysten="2. 16. 840,1. 113883. 3. 989.2. 1. 1. 197 codeSystemVersion="1.1"
displayName="outcome”/>
<value xsi:type="CE” code="E.i. 7" codeSysten"2.16. 840.1.113883.3.989.2.1. 1. 117
codeSystenVersion="1.0"/>
¢l=— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #3 —
{/ohservation
{/authoundRelationship2>
{eutboundRelationship2 typeCode= “PRRT">
. ) {observation classGode="0BS" maodCade="EVN">
<code code="24" codeSystem="2.16.840. 1. 113883.3.989.2.1. 1. 19" codeSystemVersion="1.1"
displayName="" nedlcalConfmatmnByHealthProfessmnal "1
. <value xsi:type="BL" value="true”/> .
{}— E.i.8: Medica} Confirmation by Healthcare Professional 3 —>
{/observation>
¢/outboundRelationship2>
{outboundRelationship? typeCode="PERT" >
{observation classCode="0BS" moodCode="EVYN")> -
<code code="11" codeSystem="2, 16.840. 1. 113883.3.985.5.1. 3. 2. 1. 10" codeSystenVersion="1. 0"
displayName="40 » BERR"
<value xsi‘type="CE" code="J2, 14.i" codeSystem="2. 16. 840, 1. 113883, 3.989.5.1.3.2.1.8"
codeSystenVersion="1.0"/>
’ <l— 28072, 14.i =50 - BE #3 —>
{/observation>
£/outbermdRelationshipn2>
{/observation>
</subjectdf2>
¢subject0f2 typeCode="SBJ™>
{observation classCode="0BS™ noodCode—'EVN'
<id root="2¢99840f-08b4-499¢—-80ff-dd8415£4{8a5" /> :
{eode code="29" codeSysten="2. 16, 840. 1. 123883. 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"
d:splayNaue— reaction”/>
<effectiveTine xsitype="SXPR_TS™>
<comp xsi:type="IVL_T15">
{low value="20090101°/>
{l— E.i.4: Date of Start of Reaction / Event 4 —>
<high value="20101201"/> .
<l— E.i.5 Date of End of Reaction / Event #4— -3
</conp> .
Scomp xsiztype="IVL_T5" operatox="A">
{width value="24" mit="E.i.6L"/>
{l— E.i.6a: Duration of Reaction / Event {number} #4 —>
¢1-~ £.i.8h: Duration of Reaction / Event {unit} #4 —>
<fecomp>
</effectiveTime> .
<value xsiitype="CE” code="E.1i.2.1b" codeSysten="2. 16.840. 1. 113883. 6. 163~
codeSystenVersion="E. i. 2. 1a"> ]
¢l=— E.i.2.1a WedBRA Version for Reaction / Event #4 —>
¢l— E.i.2.1b: Reaction / Event (MedDRA code) #4 —
<originalText langtage="E.i.l.1b™E.1i.1.3al/originalTextd
¢{!— E.i.1.1a® Reaction / Event as Reported by the Primary Source in Native Language #4 —>



= E.i.1.1b: Reaction / Event as Reported by the Primary Source Language £4 —)
{/value>
{location typeCede="LOC™>
<locatedEntity classCode="LOCE™> .
{locatedPlace classCode="COUNTRY" determinerCode="INSTARCE™
{code -code="E. 1. 9” codeSystem="1. 0. 3166.1. 2. 2" />
{l-~ E. i.9: Identification of the Country Where the Reaction / Event Occurzed §4 —
</locatedPlace>
</locatedEntity>
¢/location>
{outbourdRelationship2 typeCode="PERT">
<observation tlassCode="0BS" mondCode="EYN™>
{code code="30" codeSystem="2, 16. 840, 1. 113883.3. 5892, 1. 1. 19" codeSystenVersion="1.1"
displayName="reactionForTranslation”/>
<value xsi:type="ED"E. 1. 1. 2</value>
<I— E.i.1.2: Reastjon / Event as Reported by the Primary Sowrce for Translation #—>
{/observation>
{/outhoundRelationship®>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0B5" moodCode="EVN">
<code code="37" codeSystem="2, 16. 840. 1. 113883, 3.989. 2.1. 1. 19* codeSystenVersion="1. 1"
displayName="teruHighlightedByReportex”/>
{valué xsi:type="CE, code="E.i.3.17 codeSystem="2. 16. 840, I. 113883. 3. 989, 2.11.107
codeSystenVersion="1. 0" /> )
¢l-- E.i.3.1:Term Highlighted by the Reporter #4 —>
{fobservation> -
{/outboundRelationship2>
SouthoundRelationship2 typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">
<eode code="34" codeSysten="2. 16, 840. 1. 113883. 3.989. 2. 1. 1. 19” codeSystesVersion="1.1"
displayName="resultsInDeath”/>
. {value xsi:type="BL" value="true”/>
' ¢l— E.i.3.2a: Results in Death #4 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship? typeCode="PERT™>
{observation classCode="0BS” moodCode="EVN"> .
{code code="21" codeSystem="2. 16. 840 1. 113883. 2. 989. 2. L. 1. 19" codeSystemVersion="1.1"
displayName="isLifeThreatening”/>
{value xsi:typs="BL" nullFlavex="NI"/>
<J]~= B.ji.3.2b: Life Threatening 4 —>
</observation> ",
{/outboundRelationship2>
{ocutboundRelatieriship2 typeCode="PERT™>-
{observation classCode="0BS" moodCode="EVN">
{code code="33" codeSystem="2, 16, 840. 1. 113883. 3,989, 2. 1. 1. 19 codeSystemVersion="1, 17

dlsplayName— requiresInpatientHospitalization™/>

{value xsi:type="BL” value="true”/> .
{l=— E.1.3.2c: Caused / Prolonged Hospitalisation #4-—>
{fobservationd

{fouthoundRelationship2>
<outhoundRelationship2 typeCode=" PERT >
" {observation classCode="0BS" moodCode="EVN")
{code code="35" codeSystem="2. 16. 840, 1. 113883, 3. 989. 2. 1. 1. 197 codeSystenVersion="1. 1
displayName="rest]tsInPersistentOrSignificantDisability™/>
<value xsi:type="BL" nullPFlaver="NI‘/>
¢}— E.i.3.2d: Disabling / Incapacitating 4 —>
</observationy
</outboundRelationship2>
<outboundRelationshipZ typeCode="PERT">
{chservation. elassCode="0BS" moodCode="EVN™>
<code code="12" codeSystem="2. 16, 840.1.113883. 3,989, 2.1.1. 15" codeSystemVersmn- L1"
displayName="congenitalAnonalyBirthDefect” />
{value xsiztype="BL" nullFlaver="NI*/>
{I— E.i 3.2e: Congenital Anomaly / Birth Defect fi¢ —>
</observation®
</outboundRelationship2>
‘{outboundRelationship? typeCode="FERT">
{observation classCode="0BS" moodCode="EVYN">

-



{code code="26" codeSystem="2, 16, 840. 1. 113893, 3.989.2.1.1.18° codeSystemVersmn—- 1.17
displayName="otherifedical lyImportantCondition”/>
“Cvalue xsiitype="BL" value="true”/>
<{l— B i 3.2f! Other Medically Iwportant Cnndlt.mn 4 —>
¢fobservation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT” )
{observation classCode="0BS" moodCade="EVN">
{code code="27" codeSysten="2.16.840. 1. 113863. 3,989, 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="cutcome”/> )
) <value xsiltype="CE" code="E.i.T7" codeSystex="2. 16, 840, 1. 113883.3.989.2.1. L. 11~
codeSyste¥ersion="1 07/
¢I— E.i.7: Outcome of Reaction / Bvent at the Time of Last Observation #4 —>
{/observation>
</outboundRelationship2>
{outboundRelationship2 typeCode="PERT™> -
{observation classCode="0BS" moodCode="EVN">

{code code="24" codeSystem="2.16.840. 1. 113833, 3.989. 2. 1. 1. 19" codeSystenYersion="1. 17
displayName="nedicalConfirmationByHealthProfessional”/>
- <value xsiitype="BL” value="true"/>
<l— E.1i.8: Medical Confirmation by Healthcare Professional #4 —)
{/observation>
{/outboundRelationship2>
<outhoundRelationship? typeCode="PERT"> .
{ebservation classCode="0BS" moodCode="EVN™> ,
<code cede="11" codeSystem="2.16. 840. 1. 113883, 3, 985. 5. 1.3.2. 1. 10" codeSysteaVersion="1. 0*
displayName="3:40 - BE&”/> -
<value xsiitype="CE™ code="]2.14.1" codeSystem"2.16.840.1.113883.3.980.5.1.3.2.1.8"
codeSystenVersion="1.0"/> ’
<l— @9872.14. i i - BEF #4 —>
</cbservation>
{/autboundRelationship2> .
{/observation>
£/subject0£2>
{subject0f2 typeCode="SB]">
{obsexrvation classCade="0BS" moodCode="EVN">
<id root="1071064c~cf10-4a3b—83c1-34F0ddbTealid”/>
. <code code="29" codeSystem="2, [6.840.1.113883.3,989.2.1.1. 19" codeSystenVexsion="1.1"
displayName="reaction”/>
{effectiveTime xsi:type="IVL_TS™>
<low value="20090101"/>
<i— E.i.4: Date of Start of Reaction / Event #§ ==
{feffectiveTime)
<value xsi:type="CE" code="E.i.2.1b" codeSystem="2.15. 840. 1. 113833 5 163~
codeSystenVersion="E. i. 2. }a">
¢l== E.1.2 1a: WedDRA Yersion for Reaction / Event #5 —>
¢l~— E.i.2. 1b: Reaction / Event (HedDRA code) #5 —
{originalText language="E.1i..l. 1b™)E. i.1.la</originalText>
¢!— E.i. 1. la: Reaction / Event as Reported by the Primary Source in Native Language §5 —>
<!~ E.i.1.1b: Resction / Event as Reported by the ana.ry Source Language fa —>
{/valus>
<location typeCode="LOC"> ,
<locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY” determinerCode="INSTANCE">
{code code="E. i.9” codeSystem="1.0.3166.1.2.2"/>
{I— E.i.9: Identification of the Country Where the Reaction / Event Occurred #5 —>
¢/locatedPlace>
</locatedEntity>
{/location>
{outhoundRelationship2? typeCode="PERT >
{vbservation classCode="0BS” moodlode="EVN">
{eode code="30" codeSystem="2. 16.840. 1. 113883. 3. 989, 2. 1, 1. 19 codeSystemVarsmn—- .17
displayName="reactionForTranslation™/>
{value xsi:type="ED")E.i. L. 2¢/valued
<1— E.i.1.2: Reaction / Event as Reported by the Prmary Source for Translatmn #Hh —
</observation®
{/outhoundRelationship2>
" <outboundRelationship? typeCode="PERT">
{observation classCode="0BS" meodCode="EVN™>

1



<code code="37" codeSystem="2.16. 840, 1, 113883. 3. 989, 2, 1, 1. 19" codeSystemVersion="1.1"
displayName="ternHighlightedByReporter™/>
<value xsittype="CE™ code="E.i.3.17 codeSysten="2, 16, 840. I. 113883, 3. 989. 2. 1, }. 10"
codeSystenVersion="1. 0*/>
<I— E.i.3.1:Tern Highlighted by the Reporter #5 —>
{/observation>
{/outboundRelationship2>
. €outboundRelationship? typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™>
{code eode="34" codeSystem="2, 16, 840, 1. 113883, 3.989. 2, 1. 1. 19" codeSystenVersion="1.1"
displayName="resultsInDeath”/> -
<value xsi:type="BL" velue="true”/>
¢l E.i.3.2a: Results in Death #5 —>
{/cbservation>
</outboundRelationship2y
{outboundRelationship? typeCode="PERT"}
<observation classCode="0B5" moodCade="EVN™>
. <code code="21" codeSystem="2, 16. 840. I. 113883, 3. 989, 2. I. 1. 19" codeSystenVersion="1, 1"
displayName="isLifeThreatening™/>
<value xsittype="BL" nullFlavor="NI"/>
" ¢l— E.i.3.2b: Life Threatening #5 —>
</observation?
</outboundRelationshipZ>
{outboundRelationship2 typeCode="PERT*>
<{observation classCode="0BS" moodCode="EVN™>
<cade code="33" codeSystem="2. 16.340.1 113883, 3,989.2.1, 1, 19" codeSystenVersion="1. 1"
displayName="requiresInpatientHospitalization™/> R
{value xsiitype="BL" value="true"/> i
<I— E.i.3.2c: Caused / Prolonged Hospitalisation #§5 —»
</observation> '
</outhoundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN">
{code code="35" codeSysten="2. 16. 840. 1. 113883, 3, 989. 2. 1. 1. 19* codeSystemVersion="1.1"
displayName=’resu1tsInPersistentOrSimiﬁcantDlsabﬂny />
{value xsi:type="BL" nullFlavor="NI"/>
¢!== E.i,3.2d: Disabling / Incapacitating ¥5 —>
</observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT*>
{observation.classCode="0B3" moodCode="E¥YN">
<code code="12" codeSysten="2, 16, 840, 1. 113883, 3, 989, 2,1, 1. 19" codeSystemVersion="1.1"
displayName="congenitalAnowalyBirthDefect”/>
{value xsi:type="BL" nullFlavor="NI"/>
{}— E.i. 3.2 Congenital Anomaly / Birth Defect #5 —>
</observation>
{/outboundRelationship2?
<vuthoundRelationship? typeCode="PERT">
<observation classCode="0B5" moodCods="EVN">
<code code="26" codeSystew="2.16. 840. 1. 113883. 3. 980. 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="othexHedicallyInportantCondition™/>
{value xsiitype="BL" value="true”/>
{l— E i.3.2f: Other Hedically Important Condition #5 —>
</ohservation®
</euthoundRelationship2> ; .
<outhoundRelationship2 typeCode="PERT™> : .
{observation ¢lassCode="0BS" moodCode="EVN™> -
{code code="27" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2.1. 1. 19" codeSystenVersion="1.1

rd

displayName="outcome”/> ,
’ <value xsi:type="CE" code="E.i.7" codeSystem="2, 16, 840, I. 113883. 3,980, 2.1. 1. 11
codeSystemVersion="1. 0%/>
<I— E.1i.7: Outcome of Reaction / Event at the Time of Last Observation #5 —>
</ohservationd
</onthovndRelationship2>
{outhoundRelationship2 typeCode="PERT">
<observation classCode="0B5" moodCods="EVN">
{code code="24" codeSysten="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystenVersion="1,1"
displayName="medicalConfirmationByHealthProfessional”/> N
{valve xsiitype="BL" value="true”/>



{l— E.i.8: Medical Confirmation by Healthcare Professional #5 —>
</observation>
</authoundRelationship2>
CoutboundRelationship2 typeCode="PERT™>
<observation classCode="0B5" moodCodo="EVN">
{eode code="11" codeSystem="2. I6. 840, 1. 113883, 5.989.6.1.3.2. 1. 107 codeSystenVersioF'I. o
displayName="540 - BERN"/>
{value xsiitype="CE" code="]2,14.i" codeSystem="2.16.840.1.113883.3.989,5.1.3.2.1.8"
codeSysteaVersion="1.07/>
<i— 888)2.14.1 350 - BESD #5 —>
{/observation®
</'outnounu.uelauonsmpz)
</observation>
{/subject0f2>
<subjectOf2 typeCode="SBJ">
{observation classCode="0BS" moudCode~ BVN™>
<id root~"1£927283-10b6~4334-9d43-e925640Fh1BE"/>

{cade code— 20”7 codeSystem="2, 15 §40.1. 113883.3.9389.2, 1. 1. 19 codeSystenVersion="1. 1
displayNawme="reaction”/>
{effectiveTime xsiitype="IVL_TS" )
<high value="20090101"/>
<!— E.i.4: Pate of Start of Reaction / Event #5 —>
{/effectiveTinme> .
<value xsiitype="CE” code="E.1i.2.1b" codeSystew="2, 16.840. 1. 113883. 6. 163"
codeSystemVersmn—- E.i.2.1a">
<]~ E.i.2.1a: HedDRA Version for Reaction / Event #8 —>
{!— B.i.2.1h: Reaction / Event (WedDRA code)} #6 —>
& CoriginalText language="F.1i. 1. 1b"}E. i. 1. }a¢/originalText>
<I— E.i.1.1a: Reaction / Event a5 Reported by the.Primary Source in Mative Language #6 —>
<{— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #6 —>
$/valued .
<location typeCode="LOC™>
{locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNIRY" determinerCode="INSTANCE™>
<code,code="E. 1. 9" codeSysten="1, 0. 3166.1.2.2°/>
¢l— E.i.9: Identification of the Country Where the Reaction / Event Occurred #6 —>
{/locatedPlacer
</locatedEntity>
{/location>
CoutboundRelationship2 typeCode="PERI™>
Cobservation classCode="0BS” moodCode="EVN">
. {code code="30" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2, 1. 1. 19" codeSystenVersion="1.1"
displayName="reactionForTranslation” />
. {value xsiitype="ED"DE, i, 1, 2{/value
¢l=- E.i.1.2: Reaction / Event as Reported by the Primary Souxce for Translation 6 —
¢/aobservation>
{/outboundRelationship2>
CoutboundRelationship2 typeCode="PERT">
{observation classCode="0BS" moodCode="EVN™> R ’
{code code="37" codeSystem="2. 16. 840, 1. 113883. 3.989.2. 1. 1. 19" codeSystemYersion="1.1"
displayName="ternHighlightedByReporter”/>
{value xsiitype="CE” code="E.i.3.1" codeSystes="2.16.840.1.113883.3.989.2.1.1.10"
codeSystenVersion="1. 0" /> :
¢f—= E.i.3.1:Term Highlighted by the Reporter #5 —>
{/abservation>
¢/outboundRelationship2> - )
* ¢outboundRelationship2 typeCode="PERT™> .o .
{observation classCode="0BS" moodCode="EVN™>
{code code="34" codeSystem="2, 16. 840, 1. 113883.3.989. 2. 1. 1. 19" codeSystenVersion="1, 1~
displayName="resultsInDeath™/> :
Cvalue xsiztype="BL" value="true”/>
¢{— E.i.3.2a: Results in Death ¥6 —>
{/observation>
¢/outhoundRelationship2»
{outboundRelationship? typeCode="PERT"> .
<observation classCode="0BS" moodCode="EVN">
<eode code="21" codeSystem="2. 16.840. 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="isLifeThreatening”™/>
{value xsi:type= BL" nuliFlaver="NI"/>



¢{I— E.i.3.2b: Life Threatening #5 —>
{/observation®
</outboundRelationship2>
<outboundRelationship2 typeCods="PERT"}>
{observation ¢lassCode="0BS" moodCode="EVN">
Ccode code="33" codeSystem="2, 16. 840. 1. 113883, 3.989.2.1. 1. 15" cedeSystemVersion="1, 17
displayName="requiresInpatientHospital ization’/>
Cvalue xsiitype="BL” value="true”/>
<1— E.i.3, 2c! Cansed / Prolonged Hospitalisation #6 —>
</chservation?
</outboundRelationship2>
CoutboundRelationship2 typeCode="PERT™>
{observation classCode="0BS" moodCode="EVN">
<code code="35" codeSystem="2. 16, 840. 1. 113883. 3.989.2.1. 1. 197 codeSystemYersion="1. 1
displayName=" resultsInPersistentOrSignificantDisability” />
{value xsi:type="BL” nullFlavor="NI*/>
<!— E.i.3.2d: Disabling / Incapacitating #6 —>
{/observation>
</outboundRelationship2>
CouthoundRelationship? typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™>
<code code="12" codeSysten="2.16.840. 1. 113883.3.989.2.1. 1. 19" codeSystemVersion="1.1*
dzsplayﬂame- congenitaldnomalyBirthDefect”/>
<value xsi:type="BL" nullFlavor="NI"/>
{l-— E.i.3.2e: Congenital Anomaly / Birth Defect #6 —>
{/ohservation)
{/outboundRelationship2> i
<outboundRelationship2 typeCode="PERT")>
{observation classCode="0BS" woodCode="EVN">
<coda code="26" codeSysten="2, 16, 840. 1. 113883, 3,989.2, 1. 1. 19" codeSystemVersion="1. 1
displayName="otherHedicallyimportantCondition™/>
{value xsi!type="BL" value="trus"/>
<!— E.i.3.2f: Other Wedically Important Condition #6 —>
{/observation>
{/outboundRelationship2>
<outboundRelatienship2 typeCode="PERT">
<observation classCode="0B5" mocodCode="EVN">
{code code="27" eodeSystex="2, 16.840. 1. 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1"

displayName="gutcome”™/> .
{value xsi:type="CE” code="E.i.7" ecodeSystem="2. 16. 340, 1. 113883. 3. 089, 2LL1"
codeSystenVersion="1. 0"/> )
<!— E.i.7: Outcome of Reaction / Event at the Time of Last Observation #§ —>
¢{/observation®
<foutboundRelationship2>
{outboundRelationship2 typeCode="PERT"> .
{observation classCode="0BS" meadCode="EYN">
{code code="24" codeSystem="2. 16.840. 1. 113883. 3. 985. 2. 1.1, 19" codeSystemVersion="1.1"
displayiame="nedicalConfirmationByHeal thProfessional "/>
<value xsi:type="BL" value="true”/> )
<l— E.i.8: Medical Confirmation by Healthcare Professionsl #6 —>
{fobservation>
{/outboundRelationship2>
{outboundRelationship2? typsCode="PERT™>
{observation classCode="0BS" moodCode="EVN™>
<code code="11" codeSysten="2. 16, 840. 1. 113883. 3. 989, 5. 1. 3.2.1.10" codeSystemVersion="1, 0"
displayName="550 - BEEN"/>
Kvalue xsi:type="CE” code="]2, 14.1" codeSystem="2. 16.840. 1. 113883.5.985.5,.1,3.2. 1. 8"
codeSystenVersion="1. 0°/> .
<1— eedje, 14.1 Fh - Bk #5 ~—>
{/observation>
</outboundRelationship2®
<fobservation>
</subject0f2>
{subject0f2 typeCode="SB]">
<observation classCode="UBS” moodCode="B¥YN™>
<id root="e0342969-38be-423f—b6bb-celdbe279d8e” />
<code code="29" codeSystem="2. 16. 840. . 113883, 3. 089, 2. 1. 1. 19" codeSystemVersion="1 1" Iy
displayName="reaction”/>
{effectiveTime xsi:type="IVL 158>



<width value="24" unit="E.i.6b"/>
!~ E.1.6a: Duration of Reaction / Event (number) #7 —>
¢l— E. i.6b: Duration of Reaction / Event (unit) 7 —>
(feffectiveTime>
: {value xsiztype="CE" code=" E.J. 2.1 codeSystem="2.16.840. 1, 113883. 6. 163"
codeSystemVersion="E. i. 2. 1a™>
<l— E.i.2.1a: HedDRA Version for Reaction / Bvent ¥7 —)
{1— E.i.2, 1b! Reaction / Event (MedDRA code) #7 —>.
" doriginalText language="E. 1,1, 15"2E. i, 1. la</originalTextd
<}— E.i. 1. 1a: Reaction / Event as Reported by the Primary Source in Native Language £7 —
¢!— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #7 —>
$Fvaluer
<location typeCade="LOC™>
<locatedEntity classCode="LOCE™>
{locatedPlace classCode="COUNTRY" determinerCode="INSTANCE™>
<code code="E. i.9" codeSyster="1.0.3166.1.2.2°/>
§l— E.i.9: Identification of the Country Where the Reaction / Event Occurred 7 —>

{/locatedPlace>
- &/lecatedEntity)
</lacation?
{outboundRelationship? typeCode="PERT™>
<observation classCode="0B5" moodCode="EVN™>- .
Leode code="30" codeSystem="2.16. 840, 1. 113883. 3.98%. 2. 1. 1. 19 codeSystemVersmn— 1.17
displayName="reactionForTranslation™/>
<value xei:type="ED7YE.i.1.2¢{/valued
{l— E.i.1.2: Reaction / Event as Repvrted by the Primary Source for Translation #7 —-)
{fobservation®
{/outboundRelationship2>
{outhoundRelationship2 typeCode="PERT™)
<observation classCode="0B5" moodCode="E¥N™>
<code code="37" codeSystem="2, 15 B40.1.113633. 3. 989, 2. 1 1. 19" codeSystemVersion="1.1"
displayiame="terelighlightedByReporter” />
<value xsi:type="CE” code="E.i.3.1" codeSystem="2, 16.840.1.113383.3.989.2.1.1. 10"
codeSystemVersion="1, 0"/>
{I— E.i.3. 1:Tern H1ghl1ghterl by the Reporter #7 ~—
{/chservation>
¢/outhoundRelationship2>
CoutboundRelationship? typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
Ccode code="34" codeSystew="2.16,840. 1. 113683.3.989.2.1.1.197 codeSystemVarsmn— 1.17
d1sp1ayNam—- resultsInDeath’/>
<{value xsi:tvne="EL" value- true” />
{1— E.i.3.2a: Results in Death §7 —
¢/observation> .
</outboundRelationship2> . -
<outboundRelationship? typeCode= PERT")
<observation classCode="0BS” moodCode="EVN"}>
{code code="21" codeSystem="2. 16. 840, 1. 113883, 3.989.2.1. 1. 19" codeSystenVersion="1.1"
displayName="isLifeThreatening”/> ’ -
) {value xsi:type="BL" nullFlavor="NI"/>
{l— E.i.3.2b: Life Threatening 87 —
{/observation>
_<foutboundRelationship2>
<outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="EVN™>
Scode code="33" codeSystem="2. 16. 840. 1. 113863, 3.989.2.1.1. 19" codeSystenVersion="1.1"
* displayName="reguiresInpatientHospitalization™/>
{value xsittype="BL" value="true"/?
¢{!— E.i.3.2¢c: Caused / Prolonged Hospitalisation 7 —>
</observation>
{foutboundRelstionship2)
{outboundRelationship2 typeCade="PERT™>
<observation ¢lasstode="0BS" moodCode="EVN">
Ccade code="35" codeSysten="2, 16. 840. 1. 113883, 5. 989.2, 1, 1. 19" codeSystemVersmn- 11"
displayName="resultsInPersistentOrSignificantRisability”/>
<value xsiitype="BL" nullFlaver="NI~/>
¢}— E.i.3.2d: Disabling / Incapacitating #7 —
</obgervation> g
<{/outboundRelaticnship2>



{ontboundRelationship? typeCode="PERT">
<observation classCode="0BS" moodCode="EVN")
Ccode code="12" codeSysten="2. 16, 540, 1. 113883. 3, 989, 2. 1. L. 19~ codeSystenYersion="1.1"
displayMName="congenitalAnomalyBirthDefect”/>
{value xsi:type="BL" nullFlavor="NI"/}
<1~ E.i.3, Ze: Congenital Anomaly / Birth Defect #7 ~>
{/observation>
{/cutboundRelationship2>
<outboundRelationship? typeCode="PERT™>
{observation classCode="0B5" moodCode="EYN™>
<code code="26" codeSystew="2. 16, 840. 1. 113683, 3. 089. 2. 1. 1, 19~ codeSystenVersion="1. 1
displayName="otherMedicallyTzportantCondition”/>
Cvalue xsi:type="BL" value="true"/>
<1— E.i.3.2F: Other Medically Important Condition £7 —>
</observation>
</outboundRelationship2>
{ocutboundRelationship2 typeCode="PERT*>
<ochservation classCode="0BS” moodCode="EWN"> .
{eode code="27" codeSystem="2. 16. 840, 1. 113883. 3.980. 2. 1. 1, 9" codeSystenVersion="1, 1”7

displayName="cutcome”/>
<valué xsi:type="CE” code="E.i.7" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 11”
codeSystenVersion="1. 0"/> . '
{l— E.i.7: Outcowe of Reaction / Event at the Time of Last Observation #r —
<fobservation>
</outboundRelationship2>
<outboundRelationship2 typeCode="FERT™>
Cobservation classCode="0B5" moodCode="E¥N™>
{code code="24" codeSystew="2, 16. B40. 1. 113383.3.989. 2, 1. 1. 19* codeSystemVersion="1. 1"
displayName="medicalConfirnmationByHealthProfessional ~/>
{value xsi:type="BL" value="true*/>
<!— E.i.8: Wedical Confirmation by Healthcare Professional #7 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="PERT"> ¢
<observation classCode="0B5" moodCode="EVN"»
. . teode code="11" codeSystem="2, 16, 840. 1. 113883, 3.989.5.1. 3. 2. 1. 10° codeSysteanVersion="1.0"
displayName="50 - BE1"/> . : .
4 <value xsiztype="CE" code="J2.14.i" codeSystew="2. 16, 840. 1. 113883, 3.989.5.1.3.2. 1. 8"
codeSystenYersion="1. 0"/
<I— eedyz.14.5 R4 - B 81 —>
</observation)
</outboundRelationship2>
</observation>
</subject0f2>
{subjectCf2 typeCode="SBJ">
<observation classCode="0BS" moodCode="E¥YN™>
{id root="al5be092~80T0-426d-af04-686326344320" />
{code code="29" codeSysten="2. 16,840, 1. 113883.3.989.2. 1. L. 19" codeSystemYersion="1. 1"
displayName="reaction"/> . :
{effectivelime xsiltype="SXPR_TS$™>
<comp xsi:type="IVL_TS">
{low value="20090101"/>
{l=~ E.i.4: Date of Start of Reaction / Event #8 —>
<width value="24" unit="E. i.6b"/>
<l— E.i.6a: Duration of Reaction / Event (number) #8 —=>
<l=— E.i.6b: Duration of Reaction / Event (unit) #8 —>
{fcomp> .
<comp xsiitype="IVL_TS™ operator="A">
~ <high value="201012017/>
<l— E.i.5: Date of End of Reaction / Bvent #8 —>
</comp>
{feffectiveTime>
Cvalue xsiitype="CE” code="E.i. 2. 1b" codeSystem="2. 16, 840. 1. 113883. &. 163"
codeSystemVersion="E. i.2. Ia™>
<1-- E.i.2 la: MedDRA Version for Reaction / Event #8 —>
<!— E.i.2.1b: Reaction / Event {(MedDRA code} #8 —->
<originalText language="E.i.1.1b"JE. i. 1. laC/originalText>
<!~ E.i.1.1a! Reaction / Event as Reported by the Primary Source in Native Language 8 —»
¢!— E.i.1.1b: Reaction / Event as Reported by the Primary Source Language #§ =3 '



fvalued
{lacation typeCode="10C">
{locatedEntity classCode=" LOCE >
ClacatedPlace c!assCode- COUNTRY” determinerCode="INSTANCE”>
{code code="E.i. 9" codeSystex="1.0.3166,1.2.27/>
{I—E.i®g: Identification of the Country Where the Reaction / Event Occurred #8 —>
{/locatedPlace>
</locatedEnt1tr>
</location?
{outboundRelationship? typeCode="PERT">
<observation classCode="0BS" meodCode="EVN">
{code code="30" codeSystem="2, L6, 840, L. 113383, 3, 989. 2. L. L. 19" codeSystenVersion="1.1"
displayName="reactionForTranslation”/>
{value xsiitype="ED"JE, i.1.2{/value)
¢l— E.i.1.2: Reaction / Event as Reported by the Primary Source for Translation 88 —>
</observation>
{/foutboundRelationship2>

CouthoundRelationship2 typeCode="PERT">
<observation classCode="0BS” moodCode="E¥N">
{code code="37" codeSystes="2. 16. 840, 1. 113833, 3. 989. 2 1.1.197 codeSystemVersion="1.1"
displayName="ter=RighlightedByReporter™/>
<value xs5i:type="CE™ code="E.i.3. 1" codeSystem="2.16.840.1 113683.3.989.2.1. 1. 10
- codeSystemVersion="10"/"
{l=— E.i.3.1:Term Highlighted by the Reporter #8 —>
{/cbsexvation>
. {fouthoundRelationship?>
{outboundRelationship? typeCode="PERT")
{observation classCode="0BS" moodCode="EVN"> i
{code code="34" codeSystem="2.16.840. 1.113883. 3.989. 2. 1. 1. 19" codeSystenVersion="1,1"
displayNane= results]n!)eath 2
- Cvalue xsi:type="BL” value="true“/>
: <l— B.i.3.282: Results in Death §8 —> R .
{/observation>
{/outboundRelationship2> A
{outboundRelationship2? typeCode="PERT">
<observation classCode="0BS" moodCode="EVN">
<code code="21" codeSysten="2. 16. 840. 1, 113883, 3. 989. 2. 1. 1. 19" codeSystemVersion="1.1*
displayName="isLifeThreatening”/> ] : )
<value xsiztype="BL”" nullFlaver="NI"/> .
- ¢l— E.i.3.2b: Life Threatening #8 —>
{/observation>
{/outhoundRelationshin2>
{outboundRelationship2 typeCode="PERT™>
<observation classCode="0BS" meodCode="EVN™>
<code code="32" codeSystem="2. 16. 840.1. 113883. 3. 989. 2. l 1.197 cudeSysthersmn— 1.1
displaylName="requiresInpatientHospitalization™/>
<value xsistype="BL" value="true”/>
¢§— E.i.3.2¢: Caused / Prolonged Hospitalisation #8 —>
</observation>
</outboundRelationship2>
{outhoundRelationship2 typeCode="PERT™>»
Lobservation classCode="0BS" moodCode="EVN">
{code code="35" codeSysten="2. 16, 840, L. 113883 3.989, 2 1. 1. 19" codaSystemVersion="1.1".
displayName="resultsInPersistentOrSignificantDisability”/>
{value xsi:type="BL" nullFlavor="NI"/>
¢l~= E.i.8.2d: Disabling / Incapacitating §8 —>
{/observation>
{/outboundRelationship2>
{outboundRelationship? typeCade="PERT">
Cobservation classCode="0BS" moodCode="EWN">
<code cade="12" codeSystem="2. 18. 840, 1. 113583. 3. 559. 2. i.l 15° coneSrsteu‘r'erslon—— .17
displayName="congenitalAnomalyBirthDefect™ />
<value xsistype="BL” nullFlavor="NI"/>
{l-- E.i.3.2e: Congenital Anomaly / Birth Defect H#8 —>
{/observation>
¢/outboundRelationship2>
{outboundRelationship2? typeCode="PERT™>
{ohservation classCode="0BS" moodCods="EVN"> :
<cade code="26" codeSystem="2, 16, 840. 1. 113883. 3. 989, 2. 1. 1. 19" codeSystenVersion="1. 1%

~



displayName="otherMedicallyTmportantCondition™/>
<value xsiltype="BL" valwe="true™/>
<1— E. i.3.2f: Other Medically Important Condition #8 —3
{/observation}
</outboundRelationship2>
<outboundRelationship2 typeCode="FERT">
{observation classCode="0B5” moodCods="EWN">
Yeode code="27" codeSysten="2. 16. 840. 1. 113883. 3. 089, 2. 1. 1. 19° codeSystenVersion="1.1"
displayName="outcome”/> '
<value xsiltype="CE” code="E.i.7" codeSystex="2, 16, 840. 1. 113883, 3.989. 2. 1. L. 1"
codeSystemVersion="1.0°/> .
<!— E.i.7: Qutcome of Reaction / Event at the Time of Last Observation #8 —)
</observation® ;
<foutboundRelationship2>
CoutboundRelationship2 typeCode="FERT">
<observation classCpde="0B5" moodCode="FE¥N">
{code codex"24" codeSystes="2, 16, §40. 1. 113883, 3, 589. 2. 1. L. 19" codeSystemVersion="1,1"
displayName="medicalConfirmationByHezl thProfessional”/>

{value xsi:type="BL" valup="true"/> -
<!— E.1i.8: Wedical Confirmation by Healthcare Professional §8 —
</observation>

<foutboundRelationship2>
{outboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EYN™>
{code code="11" codeSystem="2, 16. 840, 1. 113883. 3. 989. 5. 1. 3, 2. 1. 10" codeSystemVersion="1, 0"
displayName="350 - BE&"/>
<value xsiitype="CE" code="J2.14.1" codeSystem="2. 16.840.1.113883, 3.989.5.1. 3. 2. 1. &°
codeSystenVersion="1. 0"/>
<] 28472, 14. 1 ke - BLE 8 —
{/observation®
{/outhoundRelationship2>
{/observation}
{/subjectOf2>
{subject0f2 typeCode="SB]"™> )
{organizer classCode="CATEGORY" moodCode="EVN*>
<code code='3'r}:ode3ysten='2. 16.840. 1. 113883. 3. 989, 2.1, 1. 20" codeSystemVersion="1. 0"
displayName="testsAndProceduresRelevantTaTheInvestigation™/>
{¢omponent typeCode="COMP™> :
{cbservatien classCode="085" moodCode="EV{™>
Ccode code="F.r.2.2b" codeSystem="2. 16. 840. 1. 113883. 6. 163" codeSystenVersion="F.r. 2. 22”5
€<!— F.r.2.2a: MedDRA Yersion for Test Name #1 —>.
<!— F.r.2.2b: Test Name (MedDRA code) #i —>
SoriginalText>F. r. Z. I{/original Textd
<l— F.r.2.17 Test Name (free text) #1 —>
</code> :
{effectiveTine value="20080101"/>
<I— F.r.1: Test Date #1 —>
{value xsi:type="TVL_PQ™>
{center value="10" unit="ng/d1*/>
<l— F.r.3.2: Test Result (value / qualifier) #I —)
<}— F.r.3.3: Test Result {unit) #1 —>. '
{/valued
{interpretationCede code="F.r1.3.1” codeSysten="2, 16. 840. I. 113883, 3.989.2.1. 1. 12"
codeSystenYersion="1, ¢“/>
<l— F.r.3.1: Test Result (code) #I —>
{referenceRenge typeCode="REF¥">
{observationRange classCode="0BS" moodCode="EVN.CRT">
<value xsi:type="PQ" value="40" unit="mg/d1"/>
{l-— F.r.4: Normal Low Value #1 —>
CinterpretationCode code="L" codeSystem="2, 16. 840. 1. 113883. 5. 33*/>
{/observationRange>
{frefarenceRange>
{referenceRange typeCode="REFV™>
{observationRange classCode="0BS" moodCode="EVN. CRT™>
<value xsi:type="PQ” value="110" unit="mg/dl"/>
{}— F.r.5: Normal High Value #I—>
{interpretationCode code="H" codeSystem="2.16. 840. 1. 113883. 5. 83"/>
{/observationRange? .
{/referenceRange>



{outboundRelationship2 typeCode="PERT">
{observation classCode="0BS” moodCode="E¥YN™>
. . {code code="10" codeSystem="2. 16.840. 1. 113883, 3. 889. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="comment”" /> '
<value xsi:types"ED"?F.r. 6<{/value>
{!— F.r.6: Comments {fres text) #1 —>
{fobservation>
{/outboundRelationship2>
CoutboundRelationship2 typeCode="REFR™>
{observation classCode="0BS" moodCode="EVN">
{code code="25" codeSystew="2, 15.840, 1. 113883. 3.989.2.1.1. 18" codeSystemVersxon— L1
d1splayﬂame— “moreInformationivailable™/>
<value xsi:type="BL" value="true”/>
<|—F.1.7: Hore Information Available #1 —>
{/observation> -
</outhoundRelat1onsh1p‘2>
¢fobservation>

</component>
{compopent typeCode="COMP">
<observation classCode="0BS”. moodCode="EVN">
{code code="F.r.2.2h" codeSystem="2. 16. 840, 1. 113883, §, 163" codeSystenVersion="F.r. 2, 2a™>
<}— F.r. 2. 2a: -MedDRA Version for Test Nawe §2 —>
{l— F.1.2.2b: Test Nawe (MedDRA code) £2 —>
{originalText)F. 1. 2. 1{/original Text>
. I—Fr21: Test Name (free text) #2 —>
{feoded> .
{effectiveTime value="200901G1"/>
{l— F.r.1: Test Date #2 —
{valus xsi:type="IVL PQ™>
{low nullFlavor="NINF"/>
<high value="10" upit="mg/d1” inclusive=" false Wi
{/value> R
€l— F.x.3.2: Test Result (value / qualifier) #2 -->
<!— F.r. 3.3 Test Result (unit) #2 —>
{l— LT 10 mgfdl #2 —> .
{/observation>
{/component’>
{compenent typeCode="COMP">
{observation elassCode="0BS" moodCode="EVN"}>

r <code code="F.r.2. 2t" codeSysten="2.16, 840. 1. 113883. 6. 163" codeS]rstemVersmn—- F.r.2.2a™»
‘_ ¢|— E.r.2.2a: ModORA Version for Test Name H3 —>
L {l— F.r.2.2b: Test Name (MedDRA code) #3 —

{originalText>F. r, 2, 1¢/originalText>
<!— F.r.2.1: Test Name (free text) #3 —=>

</caode>

{effectiveTime value="200801017/>

<i— F.x. 1: Test Date #3 —>

<value xsiitype="IVL PQ™>
<low nullFlaver="NINF"/>
<high value="10" unit="mg/d1” inclusive="tzue />

<fvalue>

{I— F.r.3.2: Test Result {value / qualifier) #3 —>

<!=— F.1.3.3: Test Result {unit) #3 —

<l— 1E 10 mg/dl #3—>

<fobservation>
</component>
<copponent typeCode="COMP">
{observation ¢lassCode="0BS" moodCode="EVN™>
M {code code="F.r.2.2b" codeSysten="2. 16. 840. 1. 113883, 6. 163" codeSystemVersion="F.r. 2. 2a">

{i-- F.r.2 2ar MedDRA Yersion for Test Name #¢ —
Cl— F.r.2.2b! Test Name (HedDRA code) #4 —>
originalText>F.r. 2. 1</original Text>
{l— E.r.2.1: Test Name (free text) #4 —>

{fcode>

{effectiveTime value="200301017/> .

{l— F.xr.1: Test Date #4 —> :

<value xsiitype="1VL PQ™>
¢low value="10" unit="mg/d)” inclusive="false™/>
<high nullFlaver="PINF"/>



{/value> - .
<!— F.r.3.2: Test Result (value / qualifier) #4 —
{l=~ F.r.3.3! Test Result (unit) #4 —>
<}— GT 10 ng/dl #4 —>
</observation)
</compponent?
{component typeCode="COMP™>
<observation classCode="0BS” moodCode="EVN™>
<code code="F.r.2.2b" codeSysten="2..16. 840. 1. 113883, 6. 163" codeSystemVersion="F. r. 2, 2a*>
C!— F.r.2.2a: MedDRA Version for Test Name #5 —>
<|—'F.r.2.2b: Tost Name (MedDRA code) $5 —
<origiralText>F. r. 2, 3¢/originalText>
{1~ F.r 2.1: Test Name {free text) H5 —>
{/code>
CeffectiveTime value="20430101/>
¢!— F.r.1: Test Date 5 —
<value xsiltype="IVL_PQ~>
Clow value="10" wnit="mg/dl” inclusive="true"/>
<high nullFlavor="PINF"/> ’
{/valued
<l— F.r.3,2: Test Resalt (value / qualifier} &5 —>
¢l— F.r.3.3: Test Result (unit) #5 —
{l— GE 10 mg/dl #5 —>
</observation>
{/component?
{component typeCode="COMP™>
Sobservation classCode="0B5" moodCode="EVN")
<code code="F,x. 2.2b" codeSysten="2, 16. 840. 1. 113883, 6. 163" codeSystemVersion="F.r. 2. 2a™>
{l— F.r.2.2a: WedDRA Version for Test Name §6 —>
<br- F.x.2.2b: Test Name (MedDRA code) #5 —>
{originalTextF. r. 2, I{/foriginalText)
{d— F.r.2.1: Test Nawe (free text) #6 —>
{/code>
JeffectiveTine value="20080101°/>
<l— F.r.1: Test Date #5 —>
Cvalue xsi:type="ED")F.r. 3. 4¢/value>
<l-- F.r.3.4: Result Unstructured Data (free text) #6 —>
{/observation> ’
{/component>
{/oxrganizer>
{/subjectOf2>
{subject0f2 typeCode="SBJ">
<organizer classCode="CATEGORY” moodCode="E¥YN*) :
{code code="4" codeSystem="2, 16. 840_ 1 113883.3.989.2.1.1. 20" codeSystemYersion="1, 0"
displayName="drugInformation”/>
<t— G.k Drug(s) Information (repeat as necessary) £1 —>
{coxponent typeCode="COMP™>
<substanceAdninistration classCode="SBADM" moodCode="EVN"™>
- €id root="3c9IbddS-e030-4aTa~JcI0-67671b0efIed”/>
{consumable typeCode="CSK™>
<instance0fKind classCode="INST">
<kind0fProduct classCode="MMAT" deferminerCode="KIND*S
<cade code="G.k. 2.1, 1b” codeSysten="TED-WFID" codeSystenVersion="C.k 2.1. 1270
<1— 6.k 2.1.1a: YPID Version Date / Number f#i —>
¢I— 6.k 2.1.1b: Medicinal Product Ideptifier (MPID) #1 —>
<{name>G. k. 2. 2¢/nans?
<!— 6.k.2.2: Medicinal Product Name as Reported by the Primary Source #1 —>
<asManufacturedProduct classCode="MANU™S
{subjectOf typeCode="SB]">
<approval classCode="CNTRCT” moodCode="EVN™>
<id extension="G.k, 3, 17 root="2.16.840. 1. 113883. 3. 989.2.1.3.4°/>
<i-— G.k.3.1: Authorisation / Application Numher £1 —>
<holder typeCode="HLD"»
{role classCode="HLD™> -
<playingQrganization classCode="0RG" deterninerCode="INSTANCE">
<nawedG. k, 3. 3¢/name>
<!== G.k.3.3: Mame of Holder / Applicant #1 —>
{/playingOrganization>
{frole>



</holder>
<author typeCode="AUT™>
{territorialAuthority classCode="TERR">
{territery classCode="NAT" determinerCode="INSTANCE™>
<eode code="G.k.3.2" codeSystem="1 0. 3166.1.2.2°/>
<!~ 6.%. 3.2 Country of Authorisation / Application #1 -3
{/territory>
{/territorialAuthority)
{/author>
{pertinentInformation typeCode="PERT™} .
{policy classCade="POLICY” noodCode— EYN™>
- {code code="J2, 5, k" codeSysten="Z. 15.540, i. 113683, 3.585.5. 1. 5. 2. 1. ¢
codeSystenYersion="1.0"/>
<l— 88eJ2. 5. k' —,&FﬂEﬁnﬁiOJ ATESE
{/policy>
{/pertinentInformation>
{/approval}

<{/subjectOf> i
{subjectOf typeCode="SBJ™> .
{characteristic classCode="08S" moodCode="EVYN">
{code code="1" codcSystem="2. 16. 840, 1.113883,3,989.5.1.3.2.1, 107
codeSystenYersion="1, 0" dlsplayNamr"ﬁﬁﬁnn%ORREﬁ' .
Svalue xsiitype="CE" code="]2.4.k" codeSysten="2. 15. 840. 1. 113883.3.989.5.1.3.2.1.3"
codeSystemYersion="1.0"/>
- <1— ged2. 4.k FEESFORRES #1 —
&/characteristicy
{/subjectOt>
{/aspanufacturedProduct?
<asSpec1alizeded elassCode="GEN™>
<generalizedaterialKind classCode-'l{AT determinerCode="KIND™>
Scode>
{originalText>J2. 12{/originaiText) "
¢l 882, 12: HBRASRE — .
{feoded
</generalizedMaterialXind>
" {/asSpecializedfind
{ingredient classCode="ACTI™>
(quaiqtity)
<numerator value="10" unit="6.k.2.8.r. 3b"/>
<]— 6.%.2.3.r.3a: Strength (numher) #1-1 —>
¢}== 6.%.2.3.7.3b: Strength (unit) #1-1 ~
<denominator value="17/>
{fquantity>
{ingredientSubstance classCode="MMAT" determinerCede="KIND">
{code code="G.k. 2.3.r.2b" codeSystem="TBD-Substance”
codeSystenVersion="G. k. 2.3.1. 22" /> ;
¢!— G.k.2.3.1.2a: Substance / Spescified Substance TermID Version Date / Nuwber f#1-1
- - .
¢l 6.k.2.3.7. 2b: Substance / Specified Substance TermID #1-1 —>
{name>G. k. 2. 3. r. 1¢/name>
{le= G.k.2.3.1. 1} Substance / Specified Substance Nawe #1-1 —>
{/ingredientSubstance?
{/ingredient>
<ingredient classCode="ACTI™>
<{quantity>
(numerator value="10" unit="G.k.2.3.r.3b"/>
¢l— G.k.2.3.r.3a: Strength (number) #1-2 —
¢l 6.k 2.3.r. 3b: Strength (unit) #1-2 —
{denominator value="1"/>
<{/quantity>
<ingredientSubstunve classCode="MMAT" determinerCode="KIND™>
" <code code="G.%.2.3.1.2b" codeSystem="TBD-Substance”
codeSystenVersion="G.k 2,3.x.2a"/> . .
¢l— G.k.2.3.r. 2a: Substance / Specified Substance TermID Version Date / Number #1-2
-
{l— G.k.2.3.1. 2b: Substance / Specified Substance TernID #1-2 —
{nawedG. k. 2, 3. r., 1</ nane>
? {I— G.k.2.3.7. 1: Substance / Spec1f1e:l Substapce Neme #1-2 —>
{/ingredientSubstance?



{/ingredient)>
</kind0fProduct>
{subjectOf typsCode="SBJ">
<productEvent classCode="ACT" moodCode="EVN™>
<code code="1" codeSystem="2, 16. 840, 1. 113883, 3:989.2. 1. 1. 18" codeSystenVersion="1. 0"
displayName="retailSupply”/>
{perforwer typeCode="PRF">
{assignedEntity classCode="ASSIGNED">
{representedOrganization classCode="ORG” determinerCode="INSTANCE™>
{addr>
<country>G. k. 2. 4<¢/country>
<}— G.k.2.4: Identification of the Country Where the Drug Was Obtained #1 —
{faddr> .
{/representedOrganization>
{/assignedEntity>
{/performer> -
{/productBEvent> - '
{/subjectOf>
{subjectOf typeCode="SBJ">
CobservationEvent classCode="0BS” moodCode="EVN™>
<code -code=72' codeSystex="2, 16. 840, 1, 113883.3.989.5.1.3.2. 1, I0*
. codeSystenVersion="1 07 displayName="—frBEELOATEE/>
<value xsi:itype="CE" code="J2. 6.k" codeSystem="2. 16. 840. I. 113883. 3. 989.56.1.3.2.1. 57

codeSystemVersion="1, 07/
< 08872.6. k: —RAERLOAFTER 51 —
{/observationEvent>
{/subject0f)
</instanceOfKind>
</consumable>
<outboundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="G.k 9. 1i.3.1v"/">
<I— 6.k 6.1 3.1a: Tine Interval between Beginning of Drug Administration and Start of
Reaction / Event {number) Drug #1, Reaction #1 —> .
{!— 6.k8.1.3 1b: Time Interval between Beginning of Drug Adwinistration and Start of
Reaction / Event (unit} Drug #1, Reaction #1 ~->
: CactReference classCode="0B5" moodCode="EVN">
{id root="154eb355-058b~45f2—a02T-42d4d6£ 46571 /)
{factReference> ’
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k 9.1i.3.2b"/">
{1~ G.%.9.i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #1 —-)
<{— G.k.9.i.3.2b: Time Interval between Lost Dose of Drug and Start of Reaction / Event
{unit) Drug #1, Reaction §1 —>
. {actReference classCode="0BS” moodCode="EVN™>
€id root="164ehB89-958b~45f2—a02f-42d446£465TF" />
. {/actReference>
{foutboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G.k 9.1 3.1b"/>
¢l G.k.9.1.3.1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #2 —>
¢!— G % 9.i.3. 1b: Tine Interval between Beginning of Mrug Administration and Start of
Reaction / Event {(unit) Drug #1, Reaction #2 ——> -
<actReference classCode="0BS" moodCode="EVN>
<id root="2baa28d6-cYe8-4ebc—D3e9-5hB60b314220° />
{/actReference)
{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
‘ {pauseQuantity value="10" unit="6. k. 9.i.3.2b"/>
<I— G.k. 9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
{number) Drug #1, Reaction #2 —>
<]— G.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start-of Reaction / Event
{unit) Drug #1, Reaction #2 —> .
. {actReference classCode="0BS" moodCode="F¥N">
<id root="2haa2Bd6~cBe8-4e6c—93e9-5bBE0b314220° />
{/actReference>
</outboundRelationshiply



<outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
<l— G. k. 9.1.3.1a! Time Interval between Beginning of Drug Admnlstratlon and Start of
Reactmn / Event {(number) Drug #1, Reaction #3 —>
¢<|— G.k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of -
Reaction / BEvent {unit) Drug #1, Reaction #3 —>
{actReference classCode="0BS" moodCode="EVN">
{id root="3a8626ck-9f1b-4ea8— aaot‘-eoff344303df' Iz
{/actReference>
¢/outboundRelationshipl>
{outboundRelationshipl typeCude— SAET
{pauseQuantity value~"1i4" upit-"6.k.9.1.3.20"/>
¢l-= 6.k 9.1.3. 2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number} Brug #1, Reaction #3 —> )
¢l G.k.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit}) DBrug #1, Reaction #3 —>
{actReference classCode="0B5" moodCode="EVN">

. <id root="3a8626cb-9f1b-deaB-Badf-e0f£34430adE" />
{/actReferenced
</outbpundRelationshipl>
{outboundRelationship] typeCode="SAS™>
<pauseQuantity value="10" wnit="G.k.9.i.3.1b"/>
¢l=~ 6.k 9.i.3. 1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug H1, Reaction #4 ~=
¢l— 6.k 9.i.3.1b: Time Interval between Begmnmg of Drug Adnm:.strat:.on and Start of
Reaction / Event (unit) Drug #1, Reaction 4 —>
CactReference classCode="0BS" moodCode="EVN">
<id root="2¢99840f-08b4-499c-B0Ff-ddB415£4fRa5" />
{/actReference>
</cutboundRelationshipl>
{eutboundRelationshipl typeCode="SAE™>
<{pavseQuantity value="10" unjt= 6. k.9.1.3.25"/>
€l=- G.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(number) Drug #1, Reaction #4 —>
{l— G.%.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Dzug #1, Reaction #4 —> )
<actReference classCode="0BS” moodCode="EWN">
<id root="2e¢99840F-08b4-499c—BOFf-ddB415£4£8a5" />
{/actReference>
</outboundRelationshipl>
CoutboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="G.}.9.i.3.1b"/> :
¢~ 6.k.9.1.3. 1a; Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction §5 —>
{l— G.k.9.i.3.1b: Time Interval between Beginning of Drug Adwinistration and Start of
Reaction / Event (unit) Drug #1, Reaction #5 —>
<actReference classCode="0BS” moodCode="EVN">
« <id l‘oot='1'071054c—cfl0-4a3b—83t:1—34f9ddb'feaﬁd'/>
</actReference>
¢/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE™>
. {pauscQuantity value="10" unit="G.k.9.i.3.2b"/">
{l=- 6.k.9.i.3. 2a: Time Interval between Last Dose of Drug and Start of Reactien / Event
(nurber) Drug #1, Reaction #z —
© €l— G.k.9.1.3.2b: Time Interval heiween Last Dose of Drug and Start of Reaction / Event
{unit) Drug #1, Reaction #5 —>
CactReference classCode="0BS" moadCode="EVN">
<id root=" 1071054c—cf10—433b—83c1—34f9ddb7eaﬁd />
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="$45">
<pauseQuantity value="10" unit="G.k.9.1.3.1b"/>
¢l-- G. k.9.i.3.1a: Time Interval between Beginning of Drug Alinlnlstratmn and Start of
Reaction / Event (number) Drug #I, Reaction #6 -->
¢l G. k. 9.1.3. Ib: Time Interval between Beginning of Prug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #6 -—>
¢actReference classCode="0BS” moodCode— EVYN™>
<id root="1f927283-10b6-4334-9043-925640FL18E />
{factReference>



</eautbaundRelationshipl
<outboundRelationshipl typsCode="SAE™>
{pauseQuantity value="10" unit="G.lk9.i.3,2b"/"
<}~ G.k.9.i. 3. 2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
{number) Drug #I, Reaction £6 —>
¢~ 6.%.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Resction / Bvent
(unit) Drug #1, Reaction fi6 —> '
{actRaference classCode="0BS™ moodCodes"EVN™>
<id rout='lf927283-10!:5-4334*9d43—e925540f518f'/>
{/actReference>
</outhoundRelationshipl>
<outboundRelationshipl typeCode="SAS™>
{pauseluantity value="10" wnit="G.k.9.1i.3.1b"/>
<{I— 6.k 9.i.3. 1a: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction #7 —
<I-- 6.k.9.1. 3 1b: Tize Interval between Beginning of Drug Administration and Start of
Reaction / Bvent (unit) Drug #1, Reaction ¥7 —> .
{actReference classCode="0B5" moodCode="EVN">
<id root='e0342959—38be~423f—b5bb—ce14hc2?9d8="/>
{factReference> - .
</outboundRelationshipl) -
{outboundRelationshipl typeCode="SAE">
{ppuseQuantity value="10" unit="6.k 9.i. 3.2b"/>
<I— G.k-9.i.3.22° Time Interval between Last Dose of Urug and Start of Reaction / Event
(number) DPrug #I, Reaction #7 —>
<!— 6.k 9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #l1, Reaction #7 -=> . "
<actReference classCode="0BS" moodCode="EVN">
<id roo‘t='|=0342959“3Bbe‘423f—b6hb—cel4bc27BdBe'D
{/actReference>
{/outboundRelationshipl)
<outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" unit="6.k.0.i.3.1b"/
{I— 6.k 9.4.3. 1a: Tiwe Interval between Beginning of Drug Administration and Start of
Reaction / Event (number) Drug #1, Reaction 8 —)
<l— 6.k.9.1.3.1b: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #1, Reaction #8 —) .
: {actReference classCode="0BS” moodCode="B¥N">
{id root="al5he0D2-80T0-426d-af04~6863263443e0" />
<factReferenced.
- {/outboundRelationshipl>
- {outboundRelationshipl typeCade="SAE™>
{pauscQuantity value="10" unit="G. k. 5.1.3.2b"/> -
¢l-— 6.k.9.i.3. 2a° Time Interval between Last Dose of Drug and Start of Reaction / Event
(numher) Drug #1, Reaction #if —> .
<— G.%.9.1.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(umnit) Drug #1, Reaction #38 —> .
<actReference classCode="0BS” moodGode="EVN™>
<{id .root='a151)B092—3070-426d'af04-5853253443120'/ pd
{/actRoferenced
{/outboundRelationshipl> .
{outboundRelationship2 typeCode="PERT">
v <observation classCode="0BS” toodCode="EVN™>
{code code="6" codeSysten="2, 16. 840, 1. 1138833, 989.2. 1. 1, 19" codeSystenVersion="1. 1*

displayName="blinded"/>
- {value xsi:type="BL” value="true”/>
<{l— 6.k.2.5: Investigational Product Blinded #1 —>
{fobservation>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP™>
{!~— G.k. 4.1 Dosage and Relevent Information (repeat as necessary) BI~1 —>
{substanceAdministration classCode="SBADM” moodCode="EVN™>
{text)6. k4, 1. 8¢/textd
{l— G.k.4.r.8: Dosage Text fll~1 —>
{effectiveTime xsi:type="SXPR_TS">
<comp xsi:type="PIVL_IS™>
<pericd value="10" unit="G.k.4.r.3"/>
<I— G.k-4.1.2: Mumber of Units in the Interval $1-1 —>
{I— G. k. 4.1.3: Definition of the Time Interval Unit #1-1 —>



</comp?
{comp xsi:type="IVL_TS" operator="4">
* <low value="20000101"/>
{I— G.k. 4.r. 4! Date and Time of Start of Drug #1-1 —>
<high value="200901617/>
<}— 6.k 4.7.5: Date and Tiwe of Last Adninistration #1-1 —
{/comp>
<comp xsi:type="IVL_TS” operator="A">»
<width value="4" unit="G.k.4.f.6b"/>
<!— G.k.4.r.6a: Duration of Drug Administration (wmber) #1-1 —>
<|— G.k 4.1.6b: Duration of Drug Administration (unit) #1-1 —>
{/coxpy .
{feffectiveTine>
<routeCode code="G.k. 4 r.10.2h" codeSysten="2.16.840. 1. 113883. 3,989, 2. 1. 1. 14~
codeSystenVersion="G. k. 4. r. 10. 2a">
<l— 6.k 4.r.10.2a: Route of Administration TeruID Vexsicn Date / Nunber #1-1 -
<!— G.k 4.r.10. 2b: Route of Administration TerwID §1-1 —

{originalText>G. k. 4. r, 10. 1{/originalText>
+ {l= G.}.4.7.10.1: Route of Adwinistration (free text) #1-1 —>
{/routeCode>
- <doseQuantity value="10" unit="G.k.4.r. 1b"/">
{1-- G.k.4.1.1a Dose (number) #1°1 —>
¢l=—G.k.4.x. 1b: Dose ‘(unit) #1-1 —>
<consumable typeCode="CSH™>
¢instance0fKind classCode="INST™)
. {productInstancelnstance classCode="MMAT" deterninerCode="INSTANCE">
{lotNumherText>G. k. 4. T, 74/ lotNunberText> i
{l— 6.l 4 r.7: Batch / Lot Number #1~1 —)
</productInstanceInstance>
<kindOfProduct elassCode="MMAT" daterminerCode="KIND">
<formnCode code="G.k. 4.1r.9.2b" codeSystem="TED-DoseForm”
codeSysienYersion="G. k. 4.x. 9. 22> .
€l— G.k 4.r.9.2a* Pharnaceutical Dose Form TermID Version Date / Number #-1 >
¢}— G.k. 4.1.9.2b: Pharnaceutical Dose Form TermID #1-1 —>
<originalText>C. k. 4. r. 9. 1{/originalText? '
<= G k.4.1.9.1: Pharmaceutical Dose Form (free text) #1-1 —>
</formCode>
{/kindOfProduct? .
</instance0fKind>
</consumable>
{inboundRelatjonship typeCode="REFR">
{observation classCode="0BS" moodCode="EVN™>
{code code="28" codeSystem="2.16.840. 1. 113883.3.9589. 2. 1. i. 13" codeSystemYersion="1. 1
displayMame="parentRouteCfAdministration”/>
{value xsi:type="CE" cade— 6.k 4. r.11. 2b" codeSystem— 2.16.840.1. 113883 3.989.2.1.1. 147
codeSystenVersion="G. k. 4., 11.2a"™> ’
’ <I— 6.k 4.r.11.2a: Parent Route of Administration TernI} Versian Date / Mumber #i-1
—>
<l— G.k.4.x.11.2b: Parent Route of Administration TermID #1-1 —>
<originalText>G. k. 4. 1. 11. 1</originalText>
<l=—- G.k 4.7.11.1: Parent Route of Administration {(free text) #1—1 ——
{/valued
</observation>
</inbaundRelationship>
</substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP™>
<!— G.k.4.1: Dosage and Relevant Information (repeat as necessary) £1-2 —
<substanceAdninistration classCode="SBADM™ moodCods="EVN™>
C(text>G k. 4. r. 8</text?
4— G.k.4.1r.8: Dosage Text #1-2 —
CeffectiveTime xsi:type="SXPR_TS">
{comp Xsi:type="PIVL_1S"> :
{period valve="10" unit="G.k. 4.1.3°/>
I— 6.k 4.r.2: Nusher of Units in the Interval #1-2 —>
<1— G.k-4.1.3: Definition of the Time Interval Unit #1-2 —>
£/comp?
{comp xsiitype="IVL_TS” operator="A">
{low value="20090101"/>



{}— G k.4.1.4: Date and Time of Start of Drug #1-2 —>
<high value="200901017/>
<l=- G.k.4.1.5: Date and Tine of Last Administration #1-2 —>
</fcomp> .
{/effectiveTined
<routeCode code="G.k 4. r. 10. 2b" codeSystem="2. 16.840. 1. 113883. 3. 989. 2, 1.1 147
codeSystemVersion="G. k. 4.71. 10. 2a™>
<|l— 6.k.4.r.10. 2a: Route of Administration TexmID Version Date / Number §1-2 —>
<1~ G.k.4.1. 0. 2b: Route of Administration TerwID $I1-2 —>
<originalText>G. k. 4. r, 10, I{/original Text) !
{I— G.k.4.1.10.1: Route of Adwinistration (fres text) #1-2 —
</routeCode)
{dosefuantity value="10" unit="G.k. 4. r. 16"/>
I~ G.k. 4 r.1a Dose (number) #1-2 —~>
{!— G.k.4.x.1b: Dose (unit) #i-2 —
{consumable typeCode="CSH">
<instance0fKind classCode="INST"> .
<productInstancelnstance classCode="WMAT" determinerCode="INSTANCE">
{lotNuxberText>G. k. 4, . 7¢/lotNumberText)
{!— G.k4.x.7: Batch / Lot Number #1-2 —>
</productInstanceInstancey
<kindOfProduct classCode="MMAT” detexminerCode="XIND™>
{fornCode code="G.k.4.r.9.2b*" codeSysten="TBI-DoseForn” '
codeSystemVersion="G. k. 4.x. 9. 2a"™>
¢I— G.k.4.1.9. 237 Pharmaceutical Dose Fora TermID Version Date / Wumber #1-2 ->
<I— 6’k 4.1.9.2b: Pharmaceutical Dose Form TermID #I-2 —
CoriginalText>G. k. 4.r. 9. 1{/originalText>
{I— G.k. 4.1.9.1: Pharmaceutical Dose Form (fres text) #1-2 —>
</fornCode>
</kinddfProduct)
</instanceOfKind>
{/consunable>
<inboundRelationship typeCode="REFR">
<observation classCods="0BS" moodCode="EVN™>
{eode code=" 23 codeSysten="2. 16. B40, 1. 113883, 3. 989, 2. 1. 1. 19~ codeSystemVersion="1, 1"
displayName="parentRoute0fAdministration™/>
<value xsi:type="CE” code="G.k.4.r. 1L 2b” codeSysten="2. I6. 840, 1. 113883, 3. 689, 2, 1. 1. 147

codeSystemVersion="G. k. 4.r. 11, 2a™> )
<I— G,k 4.7.11. 2a: Parent Route of Adwinistration TernID Version Date / Rumber #1-2

—>
<I— G.k.4.7.11. 2b: Parent Route of Administration TermID £1-2 -3
{originalText>G. k. 4. r. 11, 1{/original Text>
’ {!— G.k.4.r.11. 1 Parent Route of Administration (free text} H1-2 —>
<{/value>
{/observation>

</inboundRelationshipy
{/substanceAdninistration®
{/outhoundRelationship2>
<outboundRelationship2 typeCode="COMF™>
<l=- G.k 4.x7 Dossge and Relevant Information {repeat as necessary) #1—3 -
{substanceAdministration classCode="SBADM” maodCode="EVN">
{text>G. k. 4. 1. 8¢/text>
<l— G.k 4.r.8: Dosage Text #1-3 -—->
{effectiveTime xzsi:type="SXPR_TS™>
{comp xs5i:type="PIVL_TS™>
<period value="10" unit="G.k. 4.r.3"/>
{I— 6.k.4.r.2: Number of Units in the Interval §1-3 —>
1 {1~~ G.k.4.r.3: Definition of the Time Interval Unit fit=3 —>
</comp>
<eomp xsi:type="IVL_TS" cperator="A">
{low value="20050101/>
<!— G.k.4.r.4: Date and Time of Start of Drug #1-3 —>
<width value="4" unit="6.k.4.r. 6b">
<1~ 6.k.4.1.6a: Duration of Drug Administration (number) #1-3 —>
{l~- 6.k 4. r.6b: Duration of Drug Adninistration (unit) #1-3 —>
</comp>
<feffectiveTime)
<routeCode code="G.k 4. r.10.2b" codeSystem="2. 16.840. 1. 113883. 3.985. 2.1, 1. 14"

codeSystemVersion="G. k. 4 r. 10, 2a">



{1— 6.k.4.1.10. 2a: Route of Administration TernID Version Date / Nusher #1-3 —
¢l— G.k.4.1.10. 2b: Route of Administration TermiD #1-3 —>
CoriginalText>G. k. 4. r. 10. 1{/originalText>
¢l— 6.k 4.r. 10. 1: Route of Administration (free text) #1-3 —>
{/routeCode>
<doseQuantity value="10" unit="G.k.4.r. 1b"/>
{1— G.k.4.r.1a Dose (numher) #1-3 —>
¢I— 6.k 4.1.1b: Dose (unit) #1-3 —>
{consumable typeCode="CSM">
<instanceOfKind classCode="INST">
{productInstancelnstance classCode="MMAT" detemmerCode— INSTANCE™>
{lotNumberText>G. k. 4. r. T{/lotNumberText>
<l— G.k.4.1.7: Batch / Lot Number #1-3 —
{/productInstancelnstance?
<kind0fProduct classCode="MMAT" determinerCode="KIND">
. {formCode code="G. k. 4.1.9.2b" codeSystexm="TBPDoseForm™
codeSystenVersion="G. k. 4.1.9.2a">

{}— G.k.4. 1.9, Za: Pharmaceutical Dose Form TermID Version Bate / Number #1-3 ~->
{I= G.k 4,19, 2b: Pharmaceutical Dose Form TerniD #1-3 —>
{originalText>G. k. 4.x. 9. 1{/original Text>
<!— 6.k 4.1.9.1: Pharnacentical Dose Form (free text) #1-3 —>
{/Tornlode)
</kind0fProduct>
{/instance0fKind>
£/consumabled )
{inboundRelationship typeCode="REFR™>
Cobservation classCode="0BS" moodCode="EVN™> :
<eode code="28" codeSystem="2. 16. 840. 1. 113883. 3, 989, 2. 1. 1. 19" codeSystenVersion="1.1"
displayName=" parentRouteOfAdmnlstration />
{value xsi:type="CE" code="G.k 4.r.11.2b" codeSystem="2.16.840.1.113883,2.989,2,1.1. 14"
codeSystemYersion="G. k. 4.r. 11.2a™> - .
{l— G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number §1-3
—>
<{l— G.k.4.r.11.2b* Parent Route of Administration TermID #1-3 —
CoriginalText>C. k4. r. 11. 1{/original Text>
-¢l— G.k. 4.r.11.1: Parent Route of Administration (free text) §$1-3 -)
</value>
</observation>
</inboundRelationship>
¢/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship? typeCode="COMP™>
{I— G.k.4.1% Dosage and Relevant Information (repeat as necessary) Hi-4 —>
¢substanceAduinistration classCode="SBADM” woodCode="EVN™>
<text)G. k. 4. 1. 8{/text>
¢l— G.k.4.1.8: Dosage Text #1-4 —>
{effectiveTime xsi:type="SXPR_IS™>
<comp x=i:type="PI¥L_TS™>
<{period value="10" unit="G.k. 4.1.3"/>
<l— G.k.4.1.2: Nusber of Units in the Interval #1-4 —>
<!— 6.k 4.1.3: Definition of the Time Interval Unit #i-4 —>
{/comp>
{comp xsi:type="I¥L_T5" operator="A">
<width value="4" unit="G.k 4.r. 6b"/> ) :
¢l— G.k.4.1.6a: Duration of Drug Administration (number) #1-4 —>
¢l= G.k 4.r.6b: Duration of Drug Adlnmlstratmn (unit) #1-4 —>
<high value="2¢0901017/>
{l— G, k.4.7.5 Date and Time of Last Admmstratmn #1-4 —>
' </eomp>
{/effectiveTime>
{routeCode code="G.k.4.r. 10.2b" codeSysten="2. 18,540, 1, 115865.3.950.2.1. 1. 14"
codeSYstem'l'ersmn— G. k4.7 10 2a">
{l— G.k.4.1.10. 227 Route of Administration TermID Version Date / Number #1-4 —>
1 {l— G.k.4.1.10.2b: Route of Administration TermID Hl-4 -=>
<originalText>G. k. 4. r. 10. 1{/originalText> 1
. {!— G.k.4.1.10.1: Route of Administration (free text) #§1-4 — L
{/routeCode>
<doseQuantity value="10" unit="G. k. 4. r.1b"/>
¢l G.k.4.r. 12 Dose (mmber) #1-4 —>

+
H



¢— G.k 4 r ib: Dese {unit) #1-4 —
{consumable typeCode="CSM">
<instance0fKind classCode="INST">
<productInstancelnstance classCode="MMAT" determinerCode="INSTANCE™>
{lotNurberText>G. k. 4. . 7¢/1otNuxber Text>
<1~ G.k.4.1.7: Batch / Lot Muber #I-4 —>
{/productInstancelnstance>
kindOfProduct classCode="MMAT" determinerCode="XIND")
<foraCode code="G.k. 4.1,9, 2b" codeSysten="TBD-DoseForn”
codeSysten¥ersion="G.k 4, 1.9, 2a*>
<I~ 6.k.4.1.9, 2a: Pharaaceutical Dose Form TermID Yersion Date / Munber H1-4 —
<— 6.k 4.1.9.2b: Pharmaceutical Dose Form TernID #1-4 -3
{originalTextG. k 4.x. 9. 1</originalText)
{I— 6.k.4.1.9.1: Pharmacentical Dose Form (free text) #1-4 —
{/fornCoded
</kind0fProduct) "
</instance0fKind>
{/consumable>
<inboundRelationship typeCode="REFR">
<observation classCode="0BS" moodCode="EVN™>
<code code="28" codeSystem="2. 16.840. 1. 113883. 3. 989, 2. 1.1, 19~ codeSystemVersion="], 1*
displayName="parentRouteOfAdministration”/>
<value xsiitype="CE" code="G.k 4.r.11.2b" codeSystew="2, 16, 840. 1. 113883,3.989.2.1.1. 14"
codeSysteaVersion="G. k. 4. r. 11. 2a™>
<l~ 6.k.4.1.11.2a: Parent Route of Administration TermID Version Bate / Nunber #1-4
—> .
<l— G.k.4.x.11. 2b: Parent Route of Adninistration TeymID ¥i-4 —)>
{originalText>G. k. 4.1, 11. 1</original Text>
<!— G,k 4.r. 11 1: Parent Route of Aduinistration (free text) Hl-4 —>
{/value>
{/observation>
{/inboundRelationship
{/substanceAdministration®
{/outboundReletionship2>
CoutboundRelationship2. typeCode="COMP*>
<I— 6.k 4.r: Dosage and Relevant Inforwation (repeat as necessary) #1-5 —>
<substanceAdministration classCode="SBADM" moodCode="EVN">
CtextC. k 4. 1. 8¢/text>
{l~- 6.k 4.r.8: Dosage Text #i-5 —>
CeffectiveTime xsi:type="SXPR_IS™>
{comp xsiitype="IVL_TS">
<low value="20090101"/>
{l— 6.k.4.xr.4: Date and Time of Start of Drug #1-5 —
<high value="20000101"/>
<! G.k.4.1.5: Date and Time of Last Adninistration #1-5 —>
</comp>
<comp xsitype="IVL_TS" operator="A">
<width value="4" unit="G.k 4.r.6b"/> .
<l— G. k. 4.r 6a: Puration of Drug Administiation (number} #1-5 —>
<1— G.k 4.r.6b: Duration of Drug Administration (unit) #1-5 —>
{fcomd
{/effectiveTine>
C(routeCode code="G. k.4, r, 10.2b" codeSystem="2 16. 840. 1. 113883.3 989.2,1.1, 14"
codeSystemVersian="G., k. 4. T, 10. 2a”> ’
<!— 6.k 4.r.10.2a: Route of Adninistration TermID Version Datc / Mmber #1-5 —>
<1— G.k.4.r.10. 2b7 Route of Administration TermlID ¥i-5 —>
<originelText>G. k. 4. r. 10. 1</originalText>
<l— 6.k 4.1.10.1: Route of Administration (free text) £1-5 —>
{/routeCode> i
{doseQuantity value="10" unit="6.k. 4 1.1b"/>
<{!— G.k.4.1.1a Dose (number) #1~5 —> '
<~ G.k.4.1.1b: Dose (unit) H1-5 ~—
{consumable typeCode="CSH">
{instance0fKind classCode="INST*>
{productInstanceInstance classCode="HMAT" detemmer(.‘ode— INSTANCE™>
ClotNunberText>G. k. 4. r. 7</lotNunberText>
<I— 6.k 4.1.7: Batch / Lot Number #1-5 —>
</preductInstanceInstance
<kind0fFroduct classCode="VMAT" determinerCode="KIND">

of



{formCode code="G.k. 4.1.%.2b" codeSysten="TBl-DoseForn”
codeSystemVersion="6.k.4.r.8.2a™ .
¢l— 6.k 4.r.9.2a: Pharmaceutical Dose Form TernID Version Date / Number #1-5—>
{l— G.k.4.7.9.2b: Pharmaceutical Dose Form TernID #1-5 —>
- {originalText>G. k. 4.1. 9, 1</criginalText>
I— Gk4r5.9.1: Phamaceutxcal Dose Form (free text) #1-6 —
{/foruCode>
(/kindﬂﬂ’roduct) !
¢/instanceOfKind> .
{/consumable> .
<{inboundRelationship type(.‘ode- REFR">
<ohservation c¢lassCode="UBS" moodUode="EVN">
<code code="28" codeSystem="2. 16, B40. L. 113883, 3. 98%. 2. 1. 1. 19" codeSystemVersion="1.1"
displayName="parentRoute0fAdrinistration”/>
i <value xsi:type="CE" code="G. k. 4.7.11.2b" codeSyster="2. 16. 840. 1. 113883.3. 989.2.1. 1. 147
- codeSystemYersion="G.k 4.r.11.2a™> )

€l-= G.k.4.7.11.2a: Parent Route of Administration TersID Versien Date / Number -5
—) . .
<{I— G.k.4.r.11. 2b: Parent Route of Administration TermID #1-5 -
<originalText)G. k. 4. x. 11. 1{/original Text>
" ¢J— Gk 4.1.111: Parent Route of Adninistration (free text) #1-5 —
{/valued
¢/observation>
{/inboundRelationship>
{/substanceAdministration>
</authoundRelationship2>
<outboundRelationship? typeCade="COMP">
<1— G.k.4.7! Dosage and Relevant Information (repeat as necessary) #1-6 —>
{substanceAdministration ¢lassCode="SBADM" moodCode="EVN™>
{text>G. k. 4. 1. B{/text>
¢!— G.k.4.1.8: Dosage Text #1-6 —>
CeffectiveTime xsi:type="SXPR_T5™>
‘comp xsi:type="PIVL_TS™>
<period value="10" unit="G.k. 4 r.3"/>
<I— 6.k 4.r.2: Hunber of Units in the Interval {1-6 -->
{l— G.k4.r.3: Definition of the Time Interval Unit #i-6 —>
</comp>
{comp xsiltype="IVL_T5" operator="A">
<low value="20090101"/>
<{-- 6. k. 4.1, 4: Date and Time of Stext of Drug #1-6 —>
{width value="4" unit="G.k 4.1.6b"/>
{l— 6.k 4. r.6a: Duration of Drug Administration (mmher) #1-6 —>
{!— 6.k 4.1.6b: Duration of Drug Administration (unit) £1-6 —>
{/comp>
<comp xsi:type="IVL_T5" operator="aA">
<high value="20080101"/> )
<{l— G, k.4.7.5: Date and Tivic of Last Adninistration #1-6 —>
</compd
{/effectiveTime>
<routeCode code="G.K. 4.r.10.2b" codeSystem="2.16.840. 1. 113683, 3,989.2. 1.1, 14"
codeSystenVersion="G. k. 4. r. 10, 2a”>
{I— G.k.4.7.10.2a: Route of Administration TeruID Version Date / Number #1-6 —>
{1— G.k. 4.1, 10, 2b: Route of Administration TermID §1-6 —>
{originalText>G. k. 4. r. 10, 1{/originalText)
<!— Gk 4 7.10,1: Route of Administration (free text) #1-6 —>
{/routelode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
¢<I— G.k.4.r.1a Dose (nunber) #1-1 —>
<l— G.k.4.r.1b: Dose (unit) #1-1 —>
<consurable typeCode="CSH™>
{instaneeBiKind classCode="INST >
<productInstanceInstance classCode="MMAT® determinerCode=" INSTAI\CE >
{lotNumberText>G. k. 4. r. 7¢/lotNumbexText>
d— G. k. 4.1.7: Batch / Lot Number #i~1 —>
¢/productInstancelnstance’
<kindOfProduct elassCode="IMAT™ determinerCode="KIND">
{formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoseFornm”
codeSystenVersion="G. k. 4.1. 9. 2a"> . .
‘ {l~- G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Nm_nber -5 —



<l— 6.k 4.7.9.2b: Pharmaceutical Dose Form TermlD #1-6 >
<originalText>E. k. 4. r. 5. 1</originalText) '
<l— 6.k 4.1.9.1 Pharmaceutical Dose Forn.(free text) BI-5 —>
</formCode>
{/kind0fProduct>
. </instance0fKind>
. </consupable}
<inboundRelationship typeCode="REFR™Y"
{observation classCode="0BS" moodCode="EVN™
<code code="28" codeSysten="2. 16, 840. 1. 113883. 3. 980. 2. 1, 1. 19" codeSystenVersion="1. 1*
displayName="parentRouteOfAdministration”/>
<value xsi'type="CE" code="C.k. 4.r.11.2b" codeSystex="2, 16, 840. 1. 113883, 3, 980, 2, 1. . 14~
codeSystenVersion="G. k. 4. 1. 11. 22" : .
<!— 6.k 4.r.11. 2a; Parent Route of Administration TermID Version Date / Bupber #1-6
.-—) . -
{I— G.k 4.1.11, 2b: Parent Route of Administration Termid £1-6 —>
CoriginalText?6. k. 4. r. 11, 1¢/originalText>
<l— G6.k.4.7.11. 1 Parent Route of Adninistration (Free text) H1-§ —
</valued
</cbservation>
</inboundRelatienship)>
{/substanceAdministration>
{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP™>
€¢I~ G.k 4.1: Dosage and Relevant Information {repeat as necessary) #1-7 —>
{substanceAdministration classCode="SBADH" moodCode="EVN">
{text)G. k. 4.1, 8</text)>
- Kl— G.k. 4. r. 8: Dnsage Text §1-7 —>
<effectiveTime xsi:type="SYPR_TS™>
Seomp xsistype="IVL_TS">
Clow value="20090101"/>
{l— 6. k. 4.1.4: Date and Time of Start of Drug #1-7 —>
{width value="4" unit="6.k. 4.r. 6b"/>
<l— ¢.k 4.1.6a: Duration of Drug Adwinistration (mumber) B1=7 =3
<!— €.k 4.1.6b: Duration of Drug Administration (unit) #1-7 —>
{/comp?
{camp xsi:type="IVL_T5" operator="A">
<high value="20080101"/>
<!— G.k 4r.5: Pate and Time of Last Administration £1-7 —>
</comp>
{/effectiveTined
{routeCode code="G.k. 4. r. 10. 2b" codeSystema="2, 16. 840, 1. 113883. 3, 989. 2. 1. 1. 14"
codeSystemVersion="6.k. 4.r. 10. 22> . )
<l— 6.k.4.7.10. 2a: Route of Administration TernID Yersion Date / Nunber H1-7 —3
<I— G.k 4.1.10.2b: Route of Adeinistration TernID #1-7 —>
{originalTexi>G. k. 4. x. 10, 1¢/original Text)
<!~ 6. k.4.1.10. 1 Rovte of Administration (free text) #1-7 —>
{/routeCode’
{doseQuantity value="10" unit="G.k.4.r. Ib*/>
{I— 6.k 4r. 1a Dose (number) #1-7 —>
<{I— G.k.4 r 1b: Dose {unit) #1-7 ~p
{consumable typeCode="CSH"> .
<instanceOfKind classCode="INST™>
{productInstancelnstance classCode="MMAT" determinerCode="INSTANCE*S
<lotNumberText>G. k. 4. 1, 7</lotNurherText>
<{1— G.k.4.1.7: Batch / Lot Number #1-7 —>
{/productInstanceInstance>
<kind0ffroduct classCode="MMAT" determinerCode="KIND™>
{fornCode code="C.k. 4.r.9.2h" codeSystem="TBD~DoseForm”
codeSysteaVersion="G. k. 4. r. 9. 2a™> ] i
<l— G.k.4.r.9.2a% Pharmaceutical Dose Form TermID Version Date / Number #1-7 ==
{l— 6.k.4.r.9.2b: Pharmacettical Dose Form TermID £1-7 —>
SoriginalTextG. k 4. r.9, 1¢/originalText}
¢I— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) H#1-7 —>
{/fornCode>
</kind0fProduct>
</instanceCfKind>
</eonsumable?
{inboundRelationship typeCode="REFR™>



{observation classCode="0BS" koodCode="EVN™>
{code code="28" codeSysten— 2.16.840. 1. 113883, 3.989. 2, 1. 1, 19" codeSystenVersion="1.1"
displayName="parentRoute0fAdninistration”/>
{value xsiitype="CE” code="G.k.4.1.11. 2b" codeSystem="2.16.840, 1. 113883, 3.989.2. 1. 1. 14"
codeSystemVersion="6.k 4.7, 11.2a™>
) <]~ G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number Hi-T
—> . .
~ €l— G.k.4.r.11.2b: Parent Route of Administration TeralID #1-7 —)
SoriginalText>G. k. 4. 1. 11, 1{/originalTextd
<J— G. k. 4.x, 11. 1 Parent Route of Adwinistration (free text) §1-7 —>
{/value> - g
</observation>
{/inboundRelationship>
</substanceAdministration>
</outhoundRelationship2» *
{outboundRelationship2 typeCode=’ SINGE™>
{chservation classCode="0BS" moodCode="EVN">

{code code="14" codeSystem="2. 16, 840, 1, 113883. 3. 989. 2. 1. 1. 19" codeSystexVersion="1, 1"
displayName="cumulativeDoseToReaction™/> )
<value xsiitype="PQ” value="10" unit="6.k.5b"/>
€1— G.k.5a: Cumtlative Duse to First Reaction (number) #1 —>
¢1— G.k.5b: Cumulative Dose to First Reaction {unit) #I -->
{/observation>
<{/outboundRelationship2> .
{outbormdRelationship2 typeCode="PERT"> .
<observation ¢lassCode="0BS" moodCode="EYN">
{code code="16" codeSysten=" 2.16 840. 1. 113883, 3,989.2. 1. 1. 19" codeSystenVersion="1.1"
displayName="gestationPeriod”/>
<value xsi:typo="PQ” value2"10" wnit="G.k 6b"/> ‘
{}— G.k.6a: Gestation Period at Time of Expesure (number) #1 -3
<{I— G k.6b: Gestation Period at Time of Exposure (unit) #1 —>
</observation>
¢/outboundRelationship2>
{outboundRelationship2 typeCode="PERT™>
{observation classCode="08S" moodCode="EVN™>
{code code="31" codeSysten="Z. 16.840.]. 113883, 3. 989 2.1.1.19" codeSystenVersion="1.1"
dlsplayﬂane- recurrance0fReaction”/>
<value xsi:type="CE™ code="G.k 8.i.4" codeSystem="2.16.840, 1. 113883.3.989, 2. 1. 1. 16"
codeSystenVersion="1. 0"/>
¢l— 6.k.9.i.4: Did Reaction Recur on Re-administration? Drug #1, Reaction £1 —
<outhoundRelationshipl typeCode="REFR">
<act}!eference classCode="0BS” moodCode="EVN">
" id Inot"ladeb&»ag-gbSh-45f2—aO2f'42did5f4657f'/)
- {factReference>
(/outbomdkelatlonshlpl)
¢/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="B¥N"> -
{code cade="31" codeSystem="2. 16. 840. 1. 113883.3.089.2.1.1. 19" codeSystenYers:on— 1.1
displayName="recurranceCfReaction”/>
<value xsiitype="CE™ code=" G. k. 9.i.4" codeSystem="2. 16. 840. 1. 113883. 3.989. 2. 1. 1. 16~
codeSystenVersion="1.0"/> )
<l— 6.k 9. i.4: Pid Reaction Recur on Re—admm:.strat:.ou'? Drug #I, Reaction #2 —>*
“outhoundRelationshipl typeCode="REFR"> .
{actReference classCode="0BS" moodCode="EVN™>
<id root="2baa28d6-c9e8-4efc—-93e9-5b860b314220° />
{/actReference>
{/outboundRelationshinld
{/observation>
{/outboundRelationship2>
<outhotindRelationship2 typeCode="REFR">
{observation classCode="0BS" moodCode=" EVN >
4code cade="9" codeSystew="2. 15. B40, 1, 113883. 3.959.2.1. 1. 19" codeSystenVers:on— 1.17
displayName="codedDrugInformation”/>
<value xsi:type="CE™ code="G. k. 10. 1" codeSystem="2, 16. 840, 1. 113683. 3. 989.2.1.1.17"
codeSystenVersion="1. 0" />
{|— G.k.10.r: Additional Informtion on Drug {coded) (repeat as necessary) #1~1 —p
¢/abservationd



</outboundRelationship2>
<onthoundRelationship? typeCode="REFR™>
{observation classCode="0BS" mopdCode="EVN"> .
<code code="9" codeSystew="2, 15. 840, 1. 113883. 3. 9898, 2. 1. 1. 19~ codeSystenVersion="1. 1"
dlsplayName- codedbrugInformation”/>
<value xsi:type="CE" code="G.k 10.r" codeSYstem='2. 16,840.1.113883,3.985. 2. 1. L. 17"
codeSystenVersion="1.0"/>
<I— G.k.10.z: Additional Information on Drug (coded) (repeat as necessary) #i-2 —>
{/observation®
</outhoundRelationship?>
CoutboundRelationship? typeCode="REFR™>
{observation classCode="0BS" mwoodCode="EVN">
<code code="2" codeSysten="2. 16, 840. 1. 113883.3, 989.2. 1. 1. 19" codeSystenVersion="1. 1"
d1sp1ayName~ additionslInformation”/>
<value xsi:type="ST">G.k.11</valued
<I— G.k.11: Additionsl Information on Drug (free text) #1 —
{/observation’
¢/outhoundRelationship2>
<inboundRelationship typeCode="RSON™>
{chservation classCode="0BS" noodCode="EVN™
<code code="19" codeSystem="2. 16, 840.1. 113883. 3. 989, 2, 1. 1. 19" codeSystemVersion="1. 1"
displayName="indication™/> ’
Cvalue xsi:type="CE" code="G.k.7.7.2b" codeSystem="2. 16. 840, 1. 113883. 6. 163"
codeSystemVexsion="G.k. 7.1.2a™>
. {1— G.k. 7.1 2a: MedDRA Version for Indication Hi-1 —>
<!~ G.k.7.7.2b: Indication (MedDRA code) #1-1 —
CoriginalText>G. k. 7. r. ¥{/original Text>
<1— G.k. 7.1.1: Indication as Reported by the Primary Suu.rce #i-1 -
<fvalue>
{performer typeCode="PRF™>
<assignedEntity classCode="ASSIGNED™> .
{code code="3" codeSystew="2. 16. 840, 1. 113883. 3. 989.2, 1. 1. 217 codeSystenVersion="1.¢"
displayName="sourceReporter™/>
{/assignedEntity>
{/performery
{/observation>
¢/inboundRelationship> .
<inboundRelationship typeCode="RSON™> :
{observation ¢lassCode="08S" wmoodCode="EVN™>
{code code="19’ codeSysten="2, 16. 840. 1. 113883. 3, 089. 2. 1. 1. 18" codeSystenVersion="1. 1"
displayName="indication™/>
<value xsi: tsrpe—"CE’ code="G.k. 7. r. 2b" codeSysten="2. 16.840. 1. 113883. 6. 163"
codeSystemVersmn— 6.k T.x. 22">
<= G.k.7.x,2a: MedDRA Versien for Indication #1-2 —
<l=- Gk 7.1. 2b: Indication (MedDRA code) #i-2 —5
CoriginalText>G. k. 7. r, 1¢{/original Text)
{!-= 6.k 7.1. 1: Indication as Reported by the Primary Source #1-2 —>
¢/value>
{performer typeCode="PRF">
<assignedBatity classCode="ASSIGNED">
<code code="3" codeSystem="2, 16, 840. 1. 113883.3.989. 2. 1. 1. 21~ codeSysteanersmn— 1L.O"
displayName="sourceReporter™/>
(/asslgnedEnnty)
{/performer>
{/observation>
" </inboundRelationship?
<inboundRelationship typeCode="CAUS™>
{act classCede="ACT" moodCode="EVN"> ,
{code code="G.k.8 codeSystem="2. i6, 840. 1. 113883. 3. 989. 2. 1. 1. 15" codeSystenVersions"1. 0"/>
{!— 6.k.8: Action(s) Token with Drug #1 —)
{fact>
{/inboundRelationship>
</substanceAdninistration>
{/component)
<}— 6.k Prug{s) Information (repeat as necessary)} #2 —
{component typeCode="COMP™> .
{substanceAdministration classCode="SBADM" moodCode="EYN">
<id root="69d6f5ce—3b3b-45c7-92dd-69e06730c3ag” />
{consumable typeCode="CSU">

-



<instance0fKind classCode="INST">
<kind0fProduct classCode="MMAT" determinerCode="KIND">
<code code="G,k, 2,1 2h" codeSystem="TBD-PhPID” codeSystemVersion="G.k. 2.1.2a"/>
¢l— G.k. 2,1,2a: PhPID ¥ersion Date / Number #2 —>
{l— G.k.2.1,2b: Phammaceutical Produet Identifier (PhPID) #2 -
<{nane>G. k. 2. 2{/name} -
<!I— 6.k 2.2: Medicinal Product Nawe as Reported by the Primary Source 2 —)
{asManufacturedProduct classCode="MANU">
{subject0f typeCode="SBJ">
<approval classCode="CNTRCT" moodCode="EVN">
<id extension="G.k. 3.1” root="2.16.840. 1, 1}3883.32.989.2.1. 3. 4‘/)
<j— &k 3.1: Authorisation / Application Mmber #2 —
<holder typeCode="HLD">
{rele classCode="HLD">
{playingOrganization classCode="0RG" detemxnerGude—'IhSTANCE >
<nawe’G. k. 3. 3¢/name>
<{1— G.k 3.3: Name of Holder / Applicant #2 —>

</playinglrganization>
{frole> -
</holder>
<author typeCode="AUT">
CterritorialAuthority classCode="TERR">
Cterritory classCode="NAT" determinerCode="INSTANCE™>
<code code="G.k.3.2" codeSystem="1.0.3166.1.2.2"/>
<!— 6.k.3.2: Country of Authorisation / Apphcat:un 2 —>
{/territory}
{/territorialAuthority>
{/author>
{pertinentInfoxmation typeCode="PERT">
{policy classCode="POLICY” moodCode="EVN">
{code code="J2.5,.%" codeSystem="2. 16. 840. 1 113383 3.989.5.1.3.2.1.47
codeSystenVersion="1,07/> .
{l— 8eeJ2.5. k: —EBEENEOYVRIESE 2 —>
{/policy>
{/pertinentInformatiend
{/approval>
{/subject0f>
CsubjectOf typeCode="SB]™>
{characteristic classCode="0BS" moodCode="EVN">
{code code="1" codeSystem="2. 16,840, 1. 113883, 3.985.5.1.3.2. 1. 10"
codeSystem‘fersmn— L0" dxsplaﬁm—'ﬁmﬁmiﬂﬁﬁﬁ 2
<value xsiitype="CE” code="J2.4.k” codeSystea="2, 16, 840. 1. 113883. 3, 989,5. 1. 2.2, 1. 3°
codeSystenVersion="1. 07/>
<I— ee0J2. 4. k: FEXJSEORAES 82 —
{fcharacteristic>
</subjectOf>
<fasManufacturedProduct>
<ingredient classCode="ACTI™ ~ : .
' {quantity>
. {numerator value="10" unit="6.k 2.3.r.3b"/>
<I— 6.k.2.3.1.3a: Strength (number) #2-1 —>
<I— 6.k 2.8.1.3b: Strength (unit} #iz-1 —>
{denominator value="1"/>
. " {/quantity>
- ' <ingredientSubstance classCode-- WAT" determinerCode="KIND™>
<code code="G.k.2.3.r.2b" codeSysten="TBD-Substance”
codeSystenVersion="6.k 2. 3. 1. 2a"/> .
' ¢l— 6.k 2.3.1.2a: Substance / Specified Substance TermlID Version Date / Number H2-1
—
<l-= G.k.2.3.1. 2b Substance / Specified Substance TermID #i2-1 —>
<name6. k. 2. 3. r. 1</nane>
<l== G,k 2.3.1. 1% Substance / Specified Suhstance Name #H2-1 —>
{/ingredientSubstance>
fingredient>
{ingredient classCode="ACTI">
{quantity>
{ntmerator value="10" unit="G.k. 2.3.r. 3v"/>
<l— G.k.2.3.1.3a: Strength {number) f#2-2 —»
{l— G.k. 2.3.7.3b: Strength (unit) #2-2 —>



{denominstor value="1"/>
</quantity}
{ingredientSubstance classCode="VMAT" determinerCode="KIND">
. {code code="G.k.2, 3.r. 20" codeSystem="TBD-Substance”
codeSystenfersion="6. k. 2. 3.1. 2a"/>
{I— G. k. 2,3.1.2a: Substance / Specified Substance TermID Version Date/Nunber #2-2 —
>
{!— 6.k.2.3.r. 2b Substance / Specified Substance TermID f2-2 —>
<name)G. k. 2. 3, 1. 1</naned>
<I~ 6.k.2.3.7.1: Substance / Specified Substance Nawe fi2-2 —>
{/ingredjcntSubstance> ,
{fingredient? 4 -~
</kind0fProduct>
<subjectOf typeCode="SBJ™>
{productEvent classCode="ACT" moodCode="EVN™>
. {code code="1" codeSystem="2, 16. 840. 1, 113883, 3. 989.2.1.1.18" codeSystemYersion="1.0"
displayName="retailSupply”/>
{performer typeCode="PRF">
CassignedEntity classCode="ASSIGNED">
<representeddrganization classCode- ORG" determinerCode="INSTANCE™>
<addr>
<country»G. k. 2, 4</country>
{!— 6.k 2.4: Identification of the Country Where the Drug Was Obtained #2 —)
</addr>
{/representedOrganization>
{/assignedEntity)
<{/performer>
</productEvent>
</subjoctdf> )
{subjectOf typeCode="SB]">
{observationEvent classCode="0BS" moodCode="EVN">
) {code code="2" codeSysten="2. 16, 840. 1. 113883. 3. 989, 5.1.3. 2. 1. 10"
codeSystenVersion="1. 0" displayNeme="—MxEE RO AERE" /- '
<value xsiitype="CE" code="]2.6.k" codeSystem="2. 16, 840. 1. 113883. 3.989.5.1.3.2. 1,5
codeSystemVersion="1. 0"/> '
<1— 888J2.6.k: —RAEXKOAREE 12 —
¢/observationEvent>
</subject0f>
{/instancelfKind>
</eonsumable)
<outhoundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" unit="G.k.9.i.3.1b"/">
{1—— G.k.9.i 3. Ia’ Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (m.tmber) Drug #2, Reaction #1--)
€!— G.k-9.i.3.1k: Time Interval between Beginning of Drug Administration and Start of
Reaction / Event (unit) Drug #2. Reaction #1 —>
CactReference classCode="0BS” moodCode="EVN™>
<id raot="154ebBB9-958b-45F2-202f—42d4d6L4657E" />
{/actReference’
{foutboundRelationshipl>
<outboundRelationshipl typeCode="SAE™> .
{pauseQuantity value="10" unit="G.k.9.i.3.2b"/>
<{!— 6.k 9.i.3.2a: Tine Intervel between Last Dose of Drug and Start of Reaction / Event
(number) Drug #2, Reaction ¥1 —>
<I~— 6.%.9.1.3.2b: Time Interval between Last Dosé of Drug and Start of Reaction / Event
(anit) Drug #2, Reaction #1 —>
{actReference classCode="0BS” moodCode="EVN"™>
{id root=" 154eb889-958b—45£2-a02f~4284d6T4B57E" />
{/actReference?
{/outboundRelationshipl?
<outboundRelationshipl typeCode="SAS"}
<panseQuantity value="10" unit="G,k. 0.1i.3.1b"/">
¢l Gk 9.i.3.1a: Tine Interval between Beginning of Drug Administration and Start of
Reaction / Event {number) Drug #2, Reaction #2 —>
{I— G.%.9.1.3.1b: Time Interval between Beginning of Drug .Adnumstranon and Start of
Reaction / Event (unit) Drug #2, Reaction #2 -
<actReferenca classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9eB-4ebc-93e9-5L860b3142207 />
{/actReference>



{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAE™}
{pauseQuantity value="10" wnit="6.k.9.i.3.2b"/>
<!— G.k.9.1i.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(nunher) Drug #2, Reaction #2 —>
{}— G.k.8.i.3.2b: Time Interval between Last Pose of Drug and Start of Reaction / Event
{unit} Drug #2, Reaction 2 —>
(actReferance classCode="0BS™ moodCode="EVN™> .
<id root= “2baaZ8d6-cBeB—debc-93e9-5b86003142207 /> o :
{/actReference) ’ . .
</outboundRelationshipl>
{outboundRelationshipi .iypeCode~"5A8">
{pauseQuantity value="10" wnit="G.k.9.1i.3.1b"/>
¢!— G.k.9.1.3. 1a: Time Interval between Beginning of Drug Admmistratmn and Start of
Reaction / Event (number) Drug #2, Reaction #3 —>
{1— G.k.9.4.3.1b: Time Interval between Beginning of Drug Administration and Stert of
Reactmn / Event (unit) "Drug #2, Reaction #3 —>

<actReference classCode="0BS" moodCodex="EWN" >
<id root="3sB626ch—9f1b-4eaBBalf-e0ff34430adf" />
{/actReference>
{/outboundRelationshipl>
<outhoundRelationshipl typeCode="SAE™)
{pauseQuantity value="10" unit="G.k. 9. 1.3.2b"/>
¢!— G.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of Reactieh / Event
(number) Drug #2, Reaction §1 —>
¢l-— G.k.9.i.3.2b> Time Interval between Last Dose of Drug and Start of Reaction / Bvent
(un:.t) Drug #2, Redction #3 — .
<actReference ¢lassCode="0BS” moodCode="EVN™>
<id root=" 3a86250Hf1b—4eaB—8a0f—eOff344308df' />
{factReference>
£/outboundRelationshiply
<outboundRelationshipl typeCode="SAS">
{pauseQuantity value="10" wnit="6.k ¢.1.3.1b"/">
<!~ 6.k.8.1.3.1a: Time Interval between Beginning of Drug Administration and Start-of
Resction / Event (nuwber) Drug #2, Reaction #4 — -
<l-- G.k.9.1.3.1b! Time Interval between Beginning of Drug Administration and Start of
Reaction / Event {unit) Drug #2, Reaction #4 —>
{actReference c¢lassCode="0BS” nocodCode="EVN">
<id root= 2e99840f-0854—499c-80ff~dd8415f4faa5'/)
¢/actReference>
‘(foutboundRelationshipld
. <outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.9.i.3.20"/> ’ A
¢<l— G.k.9.1.3.2a: Time Interval between Last Dose of Drug and Start of ‘Reaction / Event
(number) Drug #2, Reaction #4 —>
{I— G.kx.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #4 —>
{actReference classCode="0BS" moodCode="EVN">
{id root="2e998407-08b4-409c-80F -dd8415f48a5"/>
{/actReference>
</outboundRelationshipl>
{outboundRelationshipl typeCode="SAS™>
<pauseQuantity value="10" wnit="G.k 9.i.3.1b"/>
{l— 6.k 9.1.3.1a° Tine Interval between Beginning of Drug Administration and Start of
Reactjon / Event (number) Drug #2, Reaction #5 —
<|=— G.k.9.i.3.1b: Time Interval between Beginning of Drng Aduml.stranon and Start of
Reaction / Event (unit) Drug #2, Reaction #5 =~>
CactReference classCode="0BS" moodCode="EVN™>
<id root=" 1071054c"cf10-4a3b—83c1-34f9ddb7f:a6d />
{/actReference?
{/outboundRelationshipl?
{outhoundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k.9.i.3.2b"/"
¢1— G.k.9.1.3.2a: Tma Interval between Last Dose of Drug and Start of Reaction / Event
(numher) Drug #2, Reaction H5 —>
¢— G.k.9.i.3.2b: Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit} Drug #2, Reaction #3 —
<actReference classCode="0BS™ moodCode="EVN™>
{id root="1071064c~cf10~4a3b-83c1-34f0ddbTeabd”/>



{/actReference>
{/outhoundRelationshipl>
{outboundRelationshipl typeCode="SAS">
<pauseQuantity value="10" unit="G.k. 9.i.3.1b"/>
<l 6.k.9.1.3.1a: Time Interval between Begmnmg of Drug Administration and Start of
Reaction / Event (number) Drug #2, Reaction #5 —>
¢— 6.k 9.1.3.1b: Tine Interval between Begmmng of Drug Administration and-Start of
Reaction / Event (unit) Drug #2, Reaction #6 —>
{actReference classCode="0BS" moodGode-"EVN > -
€id root="1f927283-10b6-4334-0d43-925640Fh18L" > -
{/actReference? - -
</sutboundRelationshipl> :
<outboundRelationshipl typeCode="SAE">
{pauseQuantity value="10" unit= G.k.9 .3.287>
<l=- 6.k 9.1i.3.2a: Tine Interval between Last Dose of Drug and Start of Reaction / Event
{number) Drug #2, Reaction f6 —>
Cl— G.1.9.i.3.2b! Time Interval between Last Dose of Drug and Stert of Reaction / Bvent
(unit) Drog #2, Reaction £6 —>
{actReference classCode="0B53" maodCode="EVN"> .
<id root="11927283-10b6-4334-9d43-=025640£b18£" />
{/actReference>
</outboundRelationshipl
{outboundRelationshipl typeCode="SAS™>
{pauseQuantity value="10" upit="G.k.9.i.3.1b"/>
£l G.k.9.i.3. la: Tine Interval between Beginning of Drug Administration and Start of
Reaction / Event {number) Drug #2, Reaction #7 —>
€l== G.k.9.1i.3.1b: Time Interval between Beginning, of Drug Administration and Start of
Reaction / Event (unit) Drug #2, Reazction 7 —)
{actReference classCode="0BS" moodCode="EVN">
<id root="e0342069-38be-423f-b6bb-cel4br279d8a" f)
{/actReference)
{/outboundRelationshipi>
{outboundRelationshipl typeCode="SAE™>
{pauseQuantity value="10" unit="G.k. 9. i.3.2b"/>
<l— 6.k.9.1.3.2a° Time Interval between Last Dose of Drug and Start of Reactl.on / EVent
(number) Drug #2, Reaction #7 —>
{— 6.k 9.i.3.2b! Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug #2, Reaction #7 —)
<actReference classCode="0BS" moodCode="EYN">
{id ront="e0342063-38be~423f-b6bb—celdbc279d8e” />
{/actReference>
{/outboundRelationshipl>
{outboundRelationshipl typeCode="SAS"}
(pauseQuantlty value="10" unit="6. k. 9.1i.3. 1b’/>
<J— G’k 9.4.3. 1a: Time Interval between Beginning of Drug Administration and Stert of
Reaction / Event (number) Drug #2, Reaction #8 —>
— G.k9.i.3.1b: Tine Interval between Bsginning of Drug Administration and Start of
Reaction / Event (unit} Drug #2, Reaction #8 —>
{actReference classCode="DBS" moodCode="EVN">
<id root="al5be092-8070-426d-2f04-68632634430" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE">
. <pauseQuantity value="10" unit="6.k.0. i.3.2b"/>
<I— G.k.8.1.3.2a: Time Interval between Last Dose of Drug and Start of Reaction / Event
(nunber) Drug #2, Reaction #8 —
¢l— 6.k 9.i.3. 2h- Time Interval between Last Dose of Drug and Start of Reaction / Event
(unit) Drug 42, Reaction #8 —>
{actReference classCode="l OBS moodCode="EWN">
<id root= al5!1e092—3070-426d-af04-68632634‘!360'/>
' {factReferenced
{/outboundRelationshipl> -
<outboundRelationshipZ typeCode="PERT">
<observation classCode="0BS" moodCode="EVN™>
Ccode code="6" codeSysten="2.16.840. 1.113883. 3,989, 2. 1. 1. 19" codeSystemVersion="1. 1"
displayName="blinded"/> .
{value xsi:type="BL" value="true”/>
¢!~ G.k.2.5: Investigational Product Blinded #2 —
{fobservation>



{/outboundRelationship2>
- {outboundRelationship2 typeCode="COUP™>
<!— G.k.4.r : Dosage and Relevant Information (repeat as necessary) #2-1 —>
<substanceAdministration classCode="SBADK" moodCode-”EVN')
{textdG, k. 4. 1. §{/text>
<!— G.k.4.1.8: Dpsage Text #2-1 —> -
LeffectiveTime xsiitype="IVL_TS">
{low value="20090101"/>
{1 G.k 4.r.4: Date and Time of Start of Drug #2-1 —
<high value="20090101"/>
<l— G.k 4. r.5: Date and Time of Last Adnmnstratzon #2-1 —>
{/effectiveTime>
<{routeCode code="G, k. 4.r. 10. 2h' codeSysten="2, 16, 340. 1.113883.3.989.2.1. 1, 147
codeSystemVersion="G. k. 4. 1. 10. 2a">
<l— 6.k 4.r.10. 2a: Route of Administration TermID Version Date / Number f2-1 —>
{1~ 6.k 4.1.10.2b: Route of Adwinistration TernID #2-1 —>
CoriginalText)E. k. 4. r, 10, 1{/originalText>

{1— G.k. 4.r.10.1: Route of &dninistration {free text) #2-1 —> .
</routeCode> .
{doseQuantity value="10" unit="G.k. 4. r 1b"/> . -
<!~ G,k 4.1 1a Dose (mmber) #2-1"—>
{I— G.k. 4.r.1b: Dose (unit) #2-1 —>
{consumable typeCode="CSM">
<instance0fKind classCode="INST"»
<productInstanceInstance classCode="IMAT” determinerCode="INSTANCE”>
lotNuxberText?6. k. 4. r. 7¢/lotiunberText)
{l— G.k.4.1.7: Batch / Lot Numher #2-1 —>
{/productInsiancelnstance> )
<kind0fProduct classCode="MMAT" determinerCode="KIND™>
. {formCode code="G.k.4.r.9 2b" codeSystem="TBD-DoseForm”
codeSystenVersion="G.k 4.1.9.2a"> .
{— 6.k 4.r.9 2a: Phaxmacentical Dose Form TerslD Version Date / Number #2-1 —>
¢l== 6.k.4.7.9.2b> Fharmaceutical Dose Form TermID #2-1 —
SoriginalText>G. k 4.x.9. I{/originalText>
{1~ G.k.4.r.9.17 Pharmaceutical Dose Form (free text) Ho-1 —>
/foruCoded
{/kind0fProduct>
</instance0fKind>
{/consumable> .
{inboundRelationship typeCode="REFR™>
{observation classCode="0BS" moodCode="E¥YN™>
{cade code="28" codeSysten="2, 15. 840. 1. 113883.3.989.2.1. 1, 19" codeSystemVersion="1. 1"
displayName="parentRouteOfAdministration™/>
{value xsiztype="CE" code="G.k 4.r.11.2b" codeSystez="2. 16. 840, 1. 113883.3.980. 2. 1. 1. 14"
codeSystenYersion="G. k. 4. 1. 11. 2a"> )
<— G.k.4.1r.1L 2a: Parent Route of Administration TermID Versien Date / Number #2~1
-7
{I— 6.k 4.1.11.2b: Parent Route of Administration TermID #2-1 —>
CoriginalText>G. k. 4. r. 11. 1¢/originalText}
{l— G.k 4.r.1). 1t Parent Ronte of Adninistration (free text) #2-1 —
{fvalue>
{/observation)
</inboundRelatienship}
{/substanceAdministration?
<{/outboundRelationship2}
CoutboundRelationship2 typeCade="COMP™>
<]— G.k 4.1 Bosage and Relevant Information (repeat as necessary) H2-2 —)
{substanceAdwinistration classCode="SBADH” moodCode="EVN™>
{text?G. k. 4. 1. 8{/text>
{!— G.k.4.1.8: Dosage Text {#2-2 —>
{effactiveTime =xsittype="IVL T5™
<low value="200001017/> ]
<J— G.k 4.1 4: Date and Time of Start of Drug #2-2 —>
<width value="4" unit="G.k 4.x.6b"/>
{!— G.k.4.r.6a: Duration of Drug Administration {number) #2-2 —>
<1— G.k.4.r.65: Duration of Drug Administration (umt) #2-2 —>
{/effectiveTime>
<routeCade code="G.k. 4.r.10.2b7 codeSystem— .16, 840,1,113883.3.980. 2. 1. 1. 14"
codeSystemVersion="G. k. 4.r. 10. 2a™>



<l G.k. 4. 1.10. 22 Route of Administration TermID Version Date / Number #2-2 —>
<]— 6.k 4.1.10.2b: Route of Administration TermlD #2-2 —>
{originalText>G. k 4. r. 10. i{/original Text>
<I— 6.k 4.1.10. 1: Route of Administration (free text) #2-2 —
{/routeCode>
! <doseQuantity value="10" unit="G.k. 4.r. Ib"/>
<}— G.k.4.r la Dose (number) #2~2 —>
<I— G.k. 4.1.1b7 Dose (unit) #2-2 —>
{consumable typeCode="CSM™}
{instance0fKind classCode="INST™>
. {productInstanceInstance classCode="MMAT“ deterninerCode="INSTANCE™>
{lotNunberText>G, k, 4. 7. 7¢/lotNumberText>
{!— 6.k 4.7.7: Batch / Lot Number #2-2 —
</productInstancelnstance>
<kindOfProduct elassCode="MMAT” determinerCode="KIND">
{fornCode code="G.k. 4.1.9.2b” codeSystem="TRD-DoseForn"
codeSystenVersion="G.k. 4. r. 8. 2a”>
{!— G.k.4.r.9.%a¢ Pharmaceutical Dose Form TermID Version Date / Number f#2-2 —>
<I— G.k.4.1.9.2b! Pharmaceutical Dose Form TermID H2-3 ~> ’
<originalText>G. k. 4. r. 9. 1</original Text>
<l— 6.k 4.7.9.1: Pharmaceutical Dose Form (free text) #2-2 —
{/fornCode>
* {/kind0fProduct)
</instance0fKind>
{/consumable>
{inboundRelationship typsCode="REFR™> .
{observation classCode="0BS” moodCode="EVN">
{code code="28" codeSysten="2, 16. 840, 1. 113883, 3. 980. 2. 1. 1, 16~ codeSystenVersion="}. 1"
displayName="parentRoute0DfAduinistration”/>
¢value xsi:type="CE" code="G.k.4.T. Il 2" codeSysten="2. 16. 840 L. 113883, 3, 989,2.1.1. 147
codeSystemVersion="6. k. 4.1, 11. 2a™>
<l— G.k.4.1.11. 2a: Parent Route of Administration TermID Version Date / Mumber fiz-2
—>. .
{l— G.k.4.1. 1L 2b: Parent Route of Administration TexwlD #2-2 —>
<originalText>G. k. 4. x. 11. 1¢/originalText>
<l— 6.k.4.7. 11 I: Parent Koute of Administration (free text) f#2~2 —>
</value>
{/observation>
</inboundRelationship?
</substanceAdministration>
{/outboundRelationship2>
{outboundRelationship2 typeCode="COMP™>
{!~= G.k. 4. r! Dosage and Relevant Information (repeat as necessary) #2-3 —>
{substanceAdninistration classCode="SBADM" moodCode="EWN">
{text>G. k. 4. 1. 8¢/text>
<l— G.k.4.x.8: Dosage Text #2-3 —>
{effectiveTine xsi:type="IVL_TS$™>
{width value="4" unit="G.k 4 r. 6b"/>
¢t~ G.k. 4.1.6a: Duration of Drug Administration (number) #2-3 —>
<!— G.k 4.r.6b: Duration of Drug Administration {unit) #z-3 -
<high value="20080101"/> :
{I— 6.k 4.r.5: Date and Time of Last Administration §2-3 —>
{/effectiveTime? .
<routeCode code="G. k. 4.r. 10.Zb" codeSystem="2. 16840, 1. 113883. 3. 989, 2. 1. 1. 14"
codeSystemVersion="G. k. 4. r. 10. 2a">
. <I— G.k.4.x.10. 2a: Route of Administration TermID Yersion Date / Number #2-3 -~
{0— G.k.4.1.10.2b: Route of Administration Term]D #2-3 —>
<originalTex>G. k. 4. 1. 10, 1{/original Text>
<1— G.k 4.x.10. 1: Route of Administration (free text) #2-3 —3
</routeCode> ’
{doseQuantity value="10" unit="G.k 4.r. Ib"/>
<{1— G.k.4.r.1a Dose {number} H#2-3 —>
{!— G.k.4.1.1b: Dose (unit) #2-3 —>
{consumable typeCode="CSM"}»
<instanceGfKind classCode="INST™>
<productInstanceInstance classCode="MMAT" determinerCode="INSTANCE™>
* {lotNumberText>G. k. 4. x. 7¢/1otNumberText>
{!— 6.k 4 r. 7: Batch / Lot Number §2-3 —>
</productInstanceInstance>



<kind0fProduct elassCode="MMAT" determinerCode="KIND™>
. {foraCode code="G.k 4.1.9.2b" codeSystem="TBD-DoseForm”
codeSystenVersion="G.k.4. 1.9, 2a™> :
¢l— 6.k 4.1.9.2a: Pharmaceutical Dose Form TermID Version Pate / Nuwber #2-3 —
¢l-- G.k.4.1.9.2b: Pharmaceutical Dose Form TermID £2-3 —>
{originalText>G. k. 4. 1. 9. 1</originalText>
¢!— 6.k 4,7.9. 1 Phermaceutical Dose Form (free text) #2-3 —>
{/fornCode>
{/kind0fProduct>
{/instance0fKind>
£fconsumable>
{inboundRelationship typcUede="KEFR™>
' . ‘ <observation classCode="0BS" moodCode="EWN">
{code code="28" codeSystem="2. 16. B40. 1. 113883, 2. 989. 2. 1. 1. 19" codeSystem¥ersion="1.1"
displayName="parentRouteOfAdministration”/> :
" <value xsiitype="CE" code="G.k.4.r.11.2b" codeSysten="2.16.840. 1. 113883.3.969. 2. 1. 1. 14"

codeSystenVersion="G. k. 4. r. 11. 22>
. {l= G.k.4.1.11.2a! Parent Route of Administration TeraID Version Date / Number #2-3
_> . .
{l-~ G.k, 4 1.11. 2b: Parent Route of Administration TermID #2-3 —>
{originalText?G.k 4 r. 11 1<{/originalText>
¢]— 6.k.4 r. 11 1: Parent Route of Administration (free text) #2-3 —>
/valued> ’
</observation>
</inbomdRelationship?
{/substanceAdninistration>
¢/outboundRelationship2>
<outboundRelationship2 typeCode="COMP™>
¢1=— G.k. 4.1 Dosage and Relevant Information (repeat as necessary) #2—4 —>
{substanceAdministration classCode="SBADM” maodCode="EVN">
C(text>G. k. 4. 1. 8¢/text>
<I— G.k.4.x.8: Dosage Text #2-4 —>
CeffectiveTime xsiitype="SXPR_T5™>
{comp xsi:type="PIVL_T5™>
<period value="10" unit="G.k.4.r.3°/>
{l— G k.4.1.2: Number of Units ip the Intexval #2-4 —>
¢l— G.k.4,x.3: Definition of the Time Interval Unit #2-4 —>
</comp?
Ccopp xsi:type="TVL_TS" cperatoxr="A">
<low value="20000101"/> ’
{l— G.k.4.7.4: Date and Time of Start of Drug #2-4 —>
</zoup>
{feffectiveTined . ] .
{routeCode code="G.k. 4. r.10.2b" codeSysten="2. 16, 840. 1. 113883. 3,989, 2,1.1. 147
codeSystenVersion="6. k. 4.r. 10. 2a"> - ’ )
¢l— G.k.4.r.10.22* Route of Administration TexmID Version Date / Number #2-4 —>
. <l G.k.4.r.10. 2b: Route of Administration TermID #2-4 —>
<originalText>G. k. 4. r. 10, 1</foriginalText>
{l— G.k 4.xr.10. 1: Route of Administration (free text) H2-4 —>
{/routeCode>
<doseQuantity value="10" unit="G.k. 4.r.16"/>
¢!— G.k.4.1.1a Dose (nuuber) #2-4 —>
¢(}— G.k 4 1. 1b: Dose (unit) #2-4 —>
{consumable typeCode="C5U">
<instanceOfKind classCode="INST">
<productInstancelnstance classCode="WMAT™ determinerCade="INSTANCE"}
- {JothumberTextG. k. 4. . 7{/1otNumberText> ’
. {— 6.k 4.1.7: Bateh / Lot Number #2-4 —>
{/productInstancelnstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND™>
. {foruCode code="G.k 4.r.8.2b" codeSysten="TED-DoseForm”
codeSystenVersion="G. k. 4. r. 9. 2a™> :
{!— G.k.4.r.9.2a’ Pharmaceutical Dose Form TernID Version Date / Number #2-4 —>
{I— 6.k 4.1. 9. 2b: Pharmaceutical Dose Form TernID #2-4 >
{originalText>G. k. 4.r. 9. 1{/original Text> .
{l~— 6.k.4.7.9. 1: Pharmaceutical Dose Form (free text) #2-4 —
/TornCode>
</kindGfProduct>
{/instance0fKind>



<fconsumabled
{inboundRelationship typeCode="REFR">
<observation classCode="0BS” moodCode="EVN">
{code code="28" codeSysten="2.16.840. 1. 113882, 3.989. 2. 1, 1. 19~ codeSystemVersion="1. 1"

displayName="parentRouteOfAdninistration”/y -
<value xsi‘type="CE™ code="G,k.4.7.11.2b" codeSystem="2. 16.840. 1, 113883, 3. 989.2.1.1.14"

codeSystenVersion="G. k. 4.1 11. 2a™> .
{I— G.k4.r.11.2a: Parent Route of Adainistration TermID Version Date / Number #2-4
_) . v
¢I— G.k.4.1.11 2b: Parent Route of Aduinistration TermID #2-4 —>
{originalText>G. k. 4. r. 11. 1{/originalText> o
{l-- G.k. 4.1.11. 1 Porent Route of Administration (ftrec text) #2-4 —>
</value> . :
</obsexvation>
{/inboundRelationship>
{/substanceAdministration>
) </outboxmdRelationship?> .
. {outboundRelationship2 typeCode="COMR™>
<1=- G.k. 4.r: Dosage and Relevant Information (repeat as necessary) #2-5 —>
Cstibstancefdministration classCode="SBADM™ moodCode="EVN">
{text>G. k. 4. 7. 8¢/ text> '
<l— 6.k. 4. 1. 8: Dosage Text #2-5 ~>
{effectiveTine xsi:type="SXPR_T5">
Ccomp xsiitype="PIVL_TS">
<period value="10" unit="G.lk 4.1.3"/>
<I— 6.k 4.r.2: Number of Units in the Interval #2-§ —>
¢1-= 6.k 4.r.3: Definition of the Time Interval Unit #2-5 —>
</conp>
<comp xsi:type="IVL_T5" operator="A">
<high value="20090101"/>
{!— 6.k 4.r.5: Date and Timo of last Administration E2-5 —>
</conp>
, ) . {/effectiveTime> . .
<routeCode cade="G, k. 4.r. 10.2b” codeSystem="2. 16. B4D, 1. 113883. 3. 989, 2. 1. 1. 14"
codeSystenVersion="G. k. 4. 1. 10. 2a™> .
¢!~ G.k.4.1.10. 2a: Route of Administration TermID Version Date / Number #2-5 —
<I= G.k 4.7 10. 2b: Route of Administration TernID #2-5 —>
<originalText>G. k 4. x, 10. 1</originalText>
<l— G.k.4.r.10. 12 Route of Aduinistration (free text) #3-5 —>
{/routeCode>
{doseQuantity value="10" unit="G.k. 4.1, 1b"/>
<!— G.k.4.1. 1a Dose (oumber) #2-5 —
<l— 6.k 4.1. 1b: Dose (unit) #2-5 —>
<eansumable “typeCode="CSH">
<instance0fKind classCode="INST"> .
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE">
{lotNumberText)G. k. 4. r. 7¢/1otNunberText>
{I—&.k4r.7: Batch / Lot Number #2-5 <>
{/productinstancenstance>
<kind0fProduct classCode="MMAT" determinerCode="KIND™>
<formCode code="G.k.4.r.9.2b" codeSystem="TBD-DoscForm™
codeSystemVersion="G. k. 4.r.9, 2a">
{!— G.k.4.7.9.2a: Pharnacentical Dose Form TeruID Version Date / Number H2-5 —>
{l~- 6.l 4.r.9. 2b: Phormaceutical Dose Form TermID #2-5 —>
<originalText>G. k 4.x. 9. 1</originalText>
<I— G.k.4.r.9. 1 Pharmaceutical Dose Form (free text) §2-5 —
</formCode>
</kind0fProduct?
{/instanceGfKind>
{/consunable)
{inboundRelationship typeCode="REFR™>
<observation classCode="0BS" moodCode="E¥N">
{code code="28" codeSysten="2. 18, §40, 1. 113883, 3.989. 2. 1. 1. 19" codeSystemVersion="1. 1"

displayName="parentRoute0fAdninistration™/>
<valte xsirtype="CE" code="G.k.4.r.11.2b" codeSystem="2. 16.840.1. 113883, 3. 989, 2LL14"7

codeSystenVersion="G. k. 4. r. 11. 2a™> .
<]— G k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Nunber #2-5
—>
: <= G.k 4.7.11.2b: Parent Route of Administration TermID #2-5 —>



<originalText>G. k. 4. 1. 11. 1</originalText>
1= G.k.4.r.11.1: Parent Route of Adwinistration (free text) #2-5 —
</value> .
{/observation>
</inboundRelationship> '
{/substanceAdninistration>
</autboundRelationship2>
<outboundRelationship? typeCode="COMP*>
<l— G.k.4.r: Dosage and Relevant Information (repeat as necessary) - #2-6 —>
{substanceAdministration ¢lassCode="SBADM” moodCode="EVN>
<textG. k. 4. r, 8<{/text>
{l~- G.k.4.1.8: Dosage Text #2-5 —> -
{effectiveTime xsi:type="SXPR_T5™>
{comp xsitype="PIVL.TS">
<period value="10" mit="G.k.4.x. 37>
¢l Gk 4.r.2! Number of Units in the Interval #2-6 —>
<f— G.k 4.r 3: Definition of the Time Interval Unit #2-6 —>

¢/coxp>
{comp x5i:type="1VL_T5" operator="A">
<width value="4" unit="G. k. 4.r.60"/>
¢l—— G, k. 4.1, 6a: Duration of Drug Administratien (number} #2-6 —>
<|— G.k 4.r.6b: Duration of Drug Administration (unit) #2-6 —
<{/comp>
{/effectiveTine>
{routeCods code="G.k. 4.r.10.2b" codeSysten="2. 16. 840. 1. 1138B3. 3. 989, 2. 1. 1. 14"
codeSystemVersion="G. k. 4. 1. 10.2a b4
¢I— 6.k 4 1.10. 2at Route’ of Administration TexalD Yersmn Date / Number $2-6 —>
(I— 6.k 4.1.10.2b: Route of Administration TermlID #2-6 —>
<originalText>G. k 4.r. 10. 1{/eriginal Text>
<l— G.k 4.1.10. 1 Route of Adninistration (free text) #2-6 —
{/routeCode>
{deseQuantity value="10" unit="G.k. 4.1.1"/>
{l— G.k. 4.1 la Dose (number) #2-58 —>
{l— G.k 4.r.1b: Dose (unit) #2-6 —>
{consumable typeCode="CSH™>
“<instanceOfKind classCade INST')
{productInstanceInstance classCode="MMAT" determinexCode="INSTANCE">
- {lotNumberText>G. k. 4 r. 7¢/lotNuaberText>
¢{I— Gk 4.x.7: Bateh / Lot Number #2-6 —>
</productInstancelnstance>
<kind0fProduct classCode="MMAT" deteyminerCode="KIND">
{formCode code="G.k 4.1.9.2b" codeSystes="TBD-PoseForm™

v

codeSystenVers ion='ng. 4.1.9.23"
: <!— G.k.4.1. 9. 23! Pharmaceutical Dose Form TermID Version Date / Number ¥2-6 —>
<l=- G.k 4. 1. 9. 2b: Pharnaceutical Dose Form TermID #2-6 —>
' {originalTextdG. k. 4.r.9. 1</originalTexty
¢l— G.k.4.7.9.17 Pharmaceutical Dose Form (frea text) #2-6 —>
{/fornCode>
</kindOfFroduct>
{/instanceCfKind>
</consumahled> .
{inboundRelationship typeCode="REFR">
Cobservation classCode="083" moodCode="EVN"> B
<eode code="28" codeSystem="Z. 16, 840. 1. 113883, 3. 989, 2. 1, 1. 19" codeSystenVersion="1. 1"
displayName="parentRoute0fAduinistration™/>
{value xsi:type="CE" code="G.k.4.T.11.2b" codeSystem="2. 16. 840, 1. 1)3883. 3. 989. 2. 1. 1. 14”
codeSystemVersion="0. k. 4.1.11.2a™>
Cl— G.k 4.r.11 2a: Parent Route of Administration TermID Version Date / Number #2-5
- .
’ : , ¢l== G.k.4 r.11.2b: Parent Route of Administration TernID #2-6 —>
{originalText>G. k. 4 r. 11, 1</originalText>
{I-— G.k’'4.1r.11. 1! Parent Route of Adninistration (free text) #2-6 —>
{/value>
{fobservation>
{/inboundRelationship>
¢/substanceAdministrationd>
</outboundRelationship?>
<outboundRelationship? typeCade="COMP™>
<{!—— G.k.4.r: Dosage and Relevant Infoxmation (repeat as necessary} #2-7 —>



(substanceAdministration classCode="SBADM" moodCode="E¥YN">
{text>G. k. 4. r, 8¢/ text>
{1— G k.4 1.8 Dosage Text #2-7 —>
CeffectiveTime xsirtype="PIV]_IS$">
<period value="10" unit="G.k 4.1r.3"/>
<!— G.k.4.1.2! Number of Units in the Interval #2-7 —>
<I— 6.k 4.r.3: Definition of the Time Interval Unit #2-7 —>
{/effectiveTimed
{routeCode code="G. k. 4. r. 10. Zb' codeSysten="2. 16. 840, 1. 113883, 2. 989, 2. 1. 1. 14
codeSysteaYersion="G. k. 4. r. 10. 2a™>
<l— G.k 4.1.10.2a% Route of Administration TermID Version Date / Nugber #2-7 -
<I— G.k 4 r.10.2b: Route of Administration TermID #2-7 —>
CoriginalText>G. k. 4. x, 10, I{/originalText>
{I— G k.41 10. 1— Route of Administration (free text) #2-7 —=>
{/routeCode>
{doseQuantity value="10" wnit="G,k. 4.r 1b°/>
<{!— G.k.4.1. 1a Dosa {numher) §2-7 —>
<I— G.k. 4 1. 1b: Dose (unit) #2-7 —
{consupable typeCode="CSH™>
<instance0fKind classCode="INST">
{productInstanceInstance classCode="MMAT determinerCode=TINSTANCE™>
<lotNumberText>G. k. 4. . 7{/lotNumberText)
<|— G.k.4.r.7: Batch / Lot Nuzber #2-7 —>
{/productInstanceInstance
<kindOfProduct classCode="MMAT™: determinexCode="KIND">
] <formCode code="G, k. 4.x.9. 2b" codeSystex="TBI-DoseFort’"™
codeSystemYersion="G. k. 4. r. 8. 2a">
<l— G.k. 4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Nuxbar #2-7 —
<I— 6.k 4.r.9.2b: Pharmaceutical Dose Form TermiD #2-7 —> -
{originalText>G, k. 4.1.9. I¢/originalText>
{I— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) £2-7 —>
</fornCode>
</kind0fProduct>
{/instance0fKind>
</consumabled
{inboundRelationship typeCode="REFR"™> - .
{observation classCode="0BS™ moodCode="EVN">
<code code="28" codeSystem="2, 16. 840, 1. 113683, 3.989.2. 1. 1. ]9 codeSystenVersion="1. 1
displayName="parentRouteOfAdministration™/>
<value xsiTtype="CE” code="G.k 4.r.11.2b" codeSystem="2.16.840. 1. 1138833, 989, 2, 1. 1. 14"
codeSystemVersion="6.k 4.r. 11. 2a") .
{!— G.k.4.r.11.2a: Parent Route of Administration TermID Version Date [/ Kumber f#2-7
—->
€l— G.k 4.r. 11. 2b: Parent Route of Administration TeralD #2-7 —>
<originalText>G.k. 4, x, 11. 1{/original Text>
<!—'6.k41.10.1: Parent Route of Adreinistration (free text) #2-7 —>
<{fvalue>
{/observation>
¢/inboundRelationshipy
¢/substanceAdministration>
</outboundRelationship2>
{outboundRelationship2 typeCode="COMP")
¢!~ G, k.4.1: Dosage and Relevant Informatien (repeat as necessary) #2-8 —
{substanceAdministration classCode="SBADH" moodCode="E¥N">
{text>G. k. 4. 1. 8{/text>
<{iI— G.k 4. r.8: Dosage Text #2-8 —>
<effectivelime xsi:type="IVL_TS™>
{low value="20090101"/>
{l— 6.k.4.r.4: Date and Time of Start of Drug #2-3 —>
{feffectiveTime>
{routeCode code="G.k.4.r.10.2b" co:leSystem— 2.16. 840 1.113883,3.989.2.1. 1. 14"
codeSystenVersion="G.k.4.x.10.2a™>
{l— G.k 4.1.10.2a: Raute of Administration TermID Version Date / Number §2-8 —>
<!— G.k 4 r.10. 2b: Route of Aduinistration TernID #2-8 —>
<originalText>G. k. 4 r. 10. 1{/originalText>
— G k.41 10.1: Route of Administration (free text) H#2-8 —>
<{/routeCode>
{doseQuantity value="10" unit="G, k. 4.r.1b"/>
<!— G.k.4.r. 1a Dose (number) #2-8 —>



<!— G.k.4.r. b Dose (unit) #2-8 —>
{constimable typeCode="CSH™>
{instance0fkind classCode="INST">
<productInstancelnstance classCode="WMAT" determinerCode="INSTANCE"> -
{lotNumherText>G.k- 4. r. 7¢/lotNumber Text>
<I— G.k.4.1.7: Batch / Lot Number #2-8 ——>
¢/productInstencelnstance}
<kindfProduct classCode="MMAT" determinerCode="KIND">
{fornCode code="G.k 4.r.9.3b" codeSysten="TBD-DoseForm™
codeSystemVersion="G.k.4.r.9.2a™> N -
<!— Gl 4 r.9. 2a: Pharmaceutical Dose Form TernID Version Date / Number #2-8 —>
{i— G.k.4.1.9.%b: Fharwmaceutical Dose Form 1ermID fz-8 —
<originalText>G. k. 4. x.9. 1</original Text>
<I— G.k.4.r.9.1: Pharmaceutical Dose Form (free text} #2-8 —>
</foreCode>
<{/kind0fProduct>
{/instance0fKind)

</consumable>
" {inboundRelationship typeCode="REFR™>
<observation classCode="0BS" moodCade="EVYN™>
{code code="28" ecodeSystem="2. 16.840. 1. 113883.3,989: 2.1, 1. 19" cudeS}stemVersmn— 1,17
displayName="parentRouteOfAdministration™/>
<value xsi:type="CE™ code="G.k 4.r.11. 2b" codeSysteu—- 2.16.840.1.113883. 3.9589. 2. 1 1.147
codeSystemYersion="6.k.4.r.11.2a">
<l— G.k 4.x.11.2a: Pdrent Boute of Adninistration TernID Version Date / Number §2-8
.=
<!— G.k 4.r.11. 2b: Parent Route of Aduinistration TernID £#2-8 ==
. <originalText>G. k. 4.r. 11. 1{/originalText>
<!— G.k4.1.11. 1: Parent Route of Administration (free text) #2-8 ~->
</value>
{/obsexvation>
{/inboundRelationship?
¢/substanceAdministration)
</outboundRelationship2>
{outboundRelationship2? typeCode="COMP”>
<!— G.k.4.7: Dosage and Relevant Information (repeat as necessary) §2-9 —=>
{substanceAdministration classCode="" SBADH nondCode— “EVN"> .
<text>G. k. 4. r. 8¢/ toxt)
{l~- G.k.4.1.8: Dosage Text #2-0 —>
{effectiveTime xsi:type="IVL_TS">
<high value="200901017/5
<I— 6.k 4.1.5: Date and Time of Last Administration #2-0 —>
{/effectiveTime>
<routeCade code="6.k.4.1.10.2b" codsSysten="2. 16.840. 1. 113883, 3.989. 2. 1. 1. 14"
codeSysteaVersion="6. k. 4.1, 16,.2a">
<l— G.k.4.7.10. 2a¢ Route of Administration TermiD Versien Date / Mumber §2-9 —>
{1— G.k 4.1.10. 2b: Route of Administration TermID #2-9 —>
{originalText>G. k. 4. r. 10, 1{/originalText>
1=~ G.k 4r. 10.1: Route of Adwinistration (free text) #2-9 —
</routeCode’
{doseQuantity value="10" mit="G.k.Lr. 1b"/>
<!— G.k.4.1.1a Dose (number) #2-9 —>
<l— G.k. 4.1.1b: Dose (unit) #2-9 —>
{consunable typeCode="CSM"> ’
<instanceQfKind classCode="INST™>
<productInstanceInstance classCode="MMAT" determinerGCode="INSTANCE*>
{lotNunberText>G. k. 4. r. 7¢{/lotNuzberText>
<l G.k.4.r.T: Batch / Lot Number #2-9 —
{/productInstancelnstanced
<kind0fProduct classCode="MMAT" deterwminexCode="KIND™>
{foreCode code="G.k.4.r.9,2b" codeSystex="1BD-DoseForn™
codeSystémVersion="G. k. 4. 1.9, 22> .
<!— 6.k 4.x.9.2a: Pharmaceutical Dose Form TernID Version Date / Number §2-9 —
<= 6.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-9 —>
CoriginalText>G. k. 4.1.9. 1/originalText>
¢{l— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-6 —>
¢/foreCode>
</XindDfProduct>
</instance0fKind>



</censupable>
{inboundRelationship typeCode="REFR">
Cobservation classCode="0BS" moodCode="EVN">
<code code="28" codeSysten="2, 16, 840, 1. 113883, 3.9589.2.1. 1. 19~ codeSystemVersmn- 11"
displayName="parentRouteOfAdninistration”/>
<value xsiitype="CE" code="G.k. 4.T.11.2b" codeSystem="2.16.840. 1. 113883. 3. 989.2. 1. I 147
codeSystemVersion="G.k. 4.7, 11. 2a™> -
{!— G.k 4.r.11, 2a7 Parent.Route of Administration TeralD Version Date / Number §2-9
-
<!— G.k.4,1.11.2b: Parent Route of Adninistration TerwID H#2-§ —=>
<originalText>G, k. 4. 1. 11. 1</oxriginalText>
<l— 6.k 4,7,11. 1 Parent Route of Administration (free text) £#2-9 —>
</value?
</observation>
&/inboundRelationship®
{/substanceAdninistration>
</outboundRelationship2)
{ontboundRelationship2 typeCode= COMP"')
<l-- G.k.4.r: Dosage and Relevant Information-{repeat as uecessnry) #2-10 —>
{substanceAdministration classCode="SBADN" moodCode="EVN">
(text>G. k. 4. r. B text>
<1— G.k.4.1. 8: Dosage Text #2-10 —>
{effectiveTime xsiitype="IVL_IS™>
{width value="4" uwnit="6.k 4.r.68"/>
¢!— G.k 4.r.6a: Durstion of Drug Administration (number) #2-10 —)
<!— G.k 4.r.6b: Buration of Drug Administration (unit) #2-10 —>
{/effactiveTine}
<routeCode code="G.k 4.r. 10.2b" codeSystex="2, 16, 240. 1. 113883. 3. 989.2,1, 1. 14~
codeSystemVersion="G. k. 4. r, 10. 22">
<= G.k. 4.1, 10. 22: Route of Adninistration TermID Version Date / Number #2-10 —>
<I— G.k. 4.x. 10. 2b: Route of Administration TermID #2-10 —
SoriginalText>G. k. 4.1 10. 1{/originalText>
{1~ G.k.4 1 10.1: Route of Administration (free text) #2-10 —>
{/routefade’
{doseQuantity value="10" unit="G.k 4 r. 16"/ .
¢l— G.k. 4.1.1a Dose (number) #2-10 —=>
<l—— G.k 4.r.1b: Dose (unit} #2-10 —>
{consumable typeCode="CSH™>
{instance0fKind classCode="INST™>
{productInstancelnstance classCode="MHAT™ determinerCode="INSTANCE™>
<lotNumberText>G. k. 4. r. 7¢/LotNusberText>
<{I— G.k 4 r.7: Batch / Lot Number #2-10 —>
(/productlnstancel’nstance)
<kindOfProduct classCode="}HAT” determinerCode="KIND">
<fornCode code="G.k.4.r.9. 2b" codeSystez="TBD-DoseForn”
codeSystemYersion="G. k.4.r. 9, 2a™>
<I— 6.k 4.1.9.2a: Pharmaceutical Dose Form TermlD Version Date / Number #2-10 —>
= G.k.471.9.2b: Pharmaceuticsl Dose Form TexmlD H2-10 —>

<originalText>G. k. 4.x. 9. 1</originalText>
{f— G,k 4.T.9. 1: Pharmaceutical Dose Form (free text) f2-10 —>
</TornCode>
{/kind0fProduct>
</instancetfKind>
{/consumable>

{inboundRelationship typeCode="REFR™>
{obsexrvatien classCode="0BS™ moodCode="E¥YN™>
<cede code="28" codeSystem="2. 16, 840, 1. 112883, 3. 989. 2.1, 1 197 codeSystenVersion="1. 1"
displayName="parentRouteGfAdninistration”/>
{value xsi: type— "CE" code="G.k. 4.1. 11 2b" codeSystea="2. 16. B40. 1, 113853. 3.989.2. 1. 1. 14~

codeSystenVersion="G. k. 4.1, 11. 2a™> .

{I— G.k 4.7.11. 22: Parent Route of :\dministration TermID Version Date / Number #2-10
-—>

¢l— G.%.4.1.11 2b: Parent Route of Administration TermID #2-10 —}

CoriginalText)G. k. 4. r. 11. 1<¢/oxriginalText>

d— G k4 r 11 l Parent Route of Administration (free text) H2-10 —>
<{fvalue>
{/cbservation>
{/inboundRelationship>
{/substanceAdministration®



<foutboundRelationship2>
(outbuundRelatmnsh:pZ typeCode="SUMM ">
{observation elassCode="0BS" woodCode="EVN">
<code code="14" codeSystem="2. 16. 840. 1. 113883, 3. 989.2.1,1.197 codeSystanVersmn— 11
displayNane="cumulativeDoseToReaction”/>
<value xsi:type="PQ" value="10" unit="G.k.5b"/>
¢l— G.k.5a: Cumulative Dose to First Reaction (number) £2 —
¢l— G.k.bb: Comulative Dose to First Reaction (unit) #2 —>
</observation> .
¢/outhoundRelationshipz>
CoutboundRelationship2 typeCode="PERT™>
{observation.classCode="085" moodCode="EVH >
{cade code="16" codeSystem="2, 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19" codeSystenVersion="1.1"
displayName="gestationPeriod”/>
. {value xsi:type="PQ" valus="10" unit="G.k. 6b"/>
¢!— G.k.5a: Gestation Peried at Time of Exposure (number) #2 —>
{I— G.k.6b: Gestation Period at Time of Exposure {mnit) #2 —

{/observation>
{/outboundRelationship2>
SouthoundRelationship? typeCode="PERT">
{observation classCode="0BS" moodCode="EVH">.
<code code="31" codeSystem="2.16.340. 1. 113883. 3.989, 2, 1. 1. 19" codeSystemVersion="1. 1"
d:snlayName- recurrance0fReaction”/>
{value xsi:type="CE” code="G.}. 9.1, 4" codeS:rsten“ 2.16.840.1.113883.3,989.2. 1. 1. 18"
codeSystenVersion="2.0"/>
{I— 6.k 9.1.4: Did Reaction Recur on Re-administration? Drug 42, Reaction #1 —)
{outboundRelationshipl typeCode="REFR")
<actReference classCode="0BS" moodCode="EVN">
<id root="154eb889-958b~45f2-a02f~42d4d6F465TF" />
</actRefoarence>
¢/outhoundRelationshipl>
{/observation)>
" ¢/autboundRelationship2>
{outboundRelationship? typeCode="PERT™>
<observation classCode="0BS" moodCode="EVN">»
{code code="31" codeSystem="2.16. 840. 1. 113883, 3. 989. 2. 1 1.19" codeSystemVers:lon— 11"
dlsplayName— “recurrance0fReaction”/>
{value xsi:type="CE” code="G.k 9.i.4" codeSystem="2.16. 840. 1. 113883, 3.989, 2. 1. 1. 16
codeSystenVersion="1.07/> i .
{I— 6.k 9.i.4: Did Reaction Recur on Re-administration? Drug #2, Reaction 82 —>
{outboundRelationshipl typeCode="REFR">
<actReference classCode="0B5S" moodCode="EVN™>
" {id root="2baa28d6-c0e8-4ebc—93eT-5bRGABI14220" />
{/actReference’
{/outboundRelationshipl>
' </observation>
{/outhoundRelationship2>
{outboundRelationship2 typeCode="REFR™>
{observation classCode*"0BS” mocdCode="EVN™>
<code ¢ode="9" codeSystem="2. 16, 840. 1. 113883. 3. 989, 2, L. 1. 19" codeSystenVersion="1. 1"
displayName="codedDrugInformation”/> . .
<value xsi:type="CE” code="G.k. 10.r" codeSystem="2. 16.840. 1. 113883. 3. 989, 2. 1. 1. 17~
codeSystenVersion="1. 0°/>
I 6.k.10.1 Additional Information on Brug {coded) (repeat as necessanr) #2-1 —
{fobservation> .
{/outboundRelat jonship2> .
<outboundRelationship2 typeCode="REFR*Y
<observation classCode="0B5" moodCode="EVN"> .
<code code="9" codeSystem="2, 16. 840. 1. 13388%. 3, 989, 2. 1. 1. 19" codeSystemYersion="1, 1”
displayName="codedDrugInformation™/>
<value xsiciype="CE" code="G., k. 10.x" codeSysten="2.15.540.1, 113883, 3, 989. 2. L. L. 17
codeSystenVersion="1. 07/> .
¢!~ 6.k 10.r: Additional Information on Drug {coded) (repeat as necessary) #2-2 —
{/observation>
</outboundRelationship2>
<outboundRelationship? typeCode="REFR">
{observation cldssCode="0BS" wmoodCode="EVYN™>
{code code="2" codeSyster="2. 15.840. 1. 113683.3.985.2. 1. 1. 19" codeSystenVersion="1, 1"
displayNeme="additionalInformation”/>



{valve xsi:type="ST™>G, k, 11<{/value}
<!— G.k.11: Additional Information on Drug (free text} #2 —>
{/cbservation®
{foutboundRelationship2>
{inboundRelationship typeCode="RSON">
{observation classCode="0BS" moodCode="EVN">
{rode code="19" codeSystew="2,16.840, 1. 113883. 3. 989. 2, 1. 1. 19" codeSystenVersion="1, 1°
displayName="indication”/>
<value xsi’type="CE” code="G. k. 7.1.2b" codeSystew="2. 16. 840. 1. 113883, 6. 163"
codeSystemVersion="G. k. 7.1. 22> R
<d— 6.k 7.r. 221 MedDRA Version for Indication #2-1 —>
<= G.k 7.r.2b! Indication (MedDRA code) #2-1 —>
CoriginalText>6. k. 7, 1. 1</original Text>
<I— 6.k 7.1.1: Indication as Reported by the Primary Source ¥2-1 —>
{/value» .
<pexformer typeCode="PRF"> .
{assignedEntity classCode="ASSIGNED™> . ;
{code code="3" codeSysten="2, 16, 840.1. 113883, 3.5980.2.1.1. 21" codeSystenVersion="1. 0"
displayName="sourceReporter”/>
{/assignedEntity>
¢/performer>
</observation>
N ¢/inboundRelationship?>
{inboundRelationship typeCode="RSON">
<observation classCode="0BES" moodCode="EVN™>
{code code="19" codeSystem="2. 16.B40. 1. 113883, 3, 989. 2. 1. 1. 19" codeSystenVersion="1, 1"
displayName="indication"/>
{value xsiitype="CE” code="G.k.7.r.2b" codeSystem="2, 16, 840, 1. 113883, 6. 163~
codeSystemVersion="G. k. 7. r. 2a">
¢1— 6.k 7.x.2a: MedDRA Version for Indication #2~2 —>
€l— 6.k 7.1.2b: Indication (MedDRA code) #2—2 —
<originalText>6. k. 7. x. I</originalText>
<|— Gk 7.r. 1 Indication as Reported by the Primary Source {2-2 —>
</value»
{performer typeCode="PRF™>
{assignedEntity classCode="ASSYGNED™>
. «(code code="3" codeSystem="2.16.840. 1. 113883, 3,989, 2.1. 1. 21” codeSystenVersion="1. 0"
displayName="sourceReporter”/>
</assighedBntity>
</performer>
{/cbservation>
{/inboundRelationship?
{inhoundRelationship typeCode="CAUS™> .
<eet classCode="ACT" moodCode="EVN">
<code code="G.k 8" codeSysten="2.16.840.1, 113883, 3.989.2. 1.1, 15" codeSystenVersion="1.¢°/>
<!— G,k 8: Action(s) Teken with Drug #2 —
<{/act?
{/inboundRelationship>
{/substanceAdministration
{/component?
{/organizer>
¢/subjectOf2>
{subject0f2 typeCode="SB]">
Corganizer classCode="CATEGORY" moodCode="EVN™>
. <code code="1" codeSystew="2, 16. 840, 1. 113883, 3. 989.5.1. 3. 2. 1. 11" codeSystemVersion="1. 0"
displayName="{5Bk DHLHE"/> '
{compenent typeCode="COMP™>
{observation classCode="0BS" moodCode="EVN")>

{code code="T" codeSysten="2.16. 840. 1. 113883, 3, 989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1. 0"
displayName="/8 {3 EII" /> - :
<{value xsiitype="INT” value="17/> : "
<l— 2eeJ2.13.r.1: RHEH 41 —>
¢/fobservation>
</eomponent>

{eomponent typeCode="COMP™>
{observation classCode="0B5" moodCode="EVN™> .
{code code="8" codeSystem="2.16. 840. 1. 113883, 3,989, 5. 1. 5. 2. 1. 10" codeSystemVersion="1.0"

displayName="3BFEM"/>
{value xsi:type="ED">]J2,13.r, 2¢/value>



<l— €8872.13, 1. 2: HEFER #1 —
{/observation>
{/component>
{component typeCode="COMP™>
{observation classCode="0BS"-moodCode="E¥N">
<code code="9" codeSystem="2, 16.840 1. 113883, 3.984. 5. 1.3. 2.1, 10" codeSystemVersien="1.0"

displayName="BARR" />

codeSystemVersion="1.0"/>
<d—eedfe.13.r.3: BRE L —
</chservation>
{/component>
{component typeCode="COMP™> :
- {observation classCode="0BS" moodCode= EVN' >
. code code="10" codeSystem="2, 16. 840. 1. 113883. 3. 989.5.1.8.2. L. 10” codeSystemVersion="1, 0"
displayName="13EP OIEPNDOFHE"/>
<value xsi:type="BL" value="true"/>

— BEJE. 13.1. 42 aﬁm H—=
</observation)
{/component>
{forganizer>
{/subject0f2>
{subject0f2 typeCode="5R]">
{organizer classCode="CATEGORY" moodCode="EVN">
_ {code code="1" codeSystew="2. 16, 840. 1. 113883.3. 959, 5.1.3. 2. 1. 11° codeSystemVersion="71. 0"
displayName="{a%OBERE"/>
{component typeCode="COMP™>
{observation classCode="0BS" macdCode="EVN"> i
. <code code="7" codeSystew="2. 16. 840, 1, 113883. 3. 988. 5. 1: 3. 2. 1. 10" codeSystemVersion="1.0"
displayName="/&HEH"/> .
. {value xsi:type="INT" value="1"/»
{l— §5872.13. . 1: BUIEL M2 —

{/observation>

{/component>

{cowpenent typeCode="COMP™) -
{observation classCode="0BS™ moocdCade="EYN™>

) Ccode cede="8" codeSysten="2, 16.840. 1. 113883, 3.980. 5. 1. 3. 2. 1. 10" codeSystemVersion="1, 0"
displayNane="3H@ 80" /> .
’ dvalue xsiitype="ED">J2. I3. r. 2</valuc) .
<1— 882, 13. 1. 2: RIS #2 —>

{/observationd

{/component?

{component typeCode="COMP">
" {observation classCode="0BS" moodCode="EVN"> .
Ccode code="9" codeSystem="2. 16.840. 1. 113883, 3. 989.5. 1. 3. 2. 1. 10" codeSystemVersion="1. ¢"
displayName="B1T38"/> .
{value xsittype="CE" code="J2.13.r.3" codeSysten="2. 16.840. 1. 112883.3.989.5.1.3. 2. 1. 7"
codeSystemVersion="1. 0"/>
- <l— 80672.13.r.3: BIREAE #2 —
</observation>
¢/component>
{cowponent typeCode="COMP™>
<observation classCode="0BS" moodCode="EVN">
{coda code— 10" codeSystem="%. 16, 840, 1. 113883. 3. 980.5.1.3.2. 1. 10" cndeSYstem\"ersmn'—*’ 107
dlsplayNane—'&%‘P@ﬁﬂﬂ’ﬁ'
<value xsi:type="BL” value="false"/>
<1~ e88J2.13.r. 4: BEPOFEHAOHE 2 —
<fobservation>
{/conponent?
{/organizer>
{/subjact0f2>
{/primaxyRole>
{/subjectl>
{component typeCode="COMP™>
<causalityAssessment classCode="0BS”.moodCode="EVN">
<code code="20" codeSysten="2. 16. 840. 1. 113883 3.989.2.1. L. 19 codeSystemYersion="1. 1
displayName="interventionCharacterization™/>
{value xsi:type="CE” cade="G.k.1" codeSys!‘.em- 2.16.840.1. 113883, 3.989.2.1.1.13"
codeSystemVersion="1. 0"/>



<l— &.k. 1: Characterisation of Drug Role Drug #1 —>
{subject2 typeCode="SUB]™>
{productUseReference classCode="SBADM" moodCode="EVN">
<id root="3c91b4d5-e039-4aTa~9:30-67671h0ef9ed” />
{/productUseReference>
¢/subject2>
¢/causalityAssesswent
</component>
{component- typeCode="CIMP">
<causalityAssessnent classCode="0BS” moodCode="EVN">
<code code="20" codeSystew="2. 16.840. 1. 113883, 3, 989, 2. 1. 1. 19 codeSystenYersion="1. 1"
displayName="interventionCharacterization”/>
<value xsi:type="CE” code="G.k.1” codeSystem="2, 16. 840. 1. 113883, 3. 989. 2,1.1,13"
codeSystenVersion="1,0"/> -
{l— G.k 17 Characterisation of Drug Role Drug #2 —>
<subject2 typeCode="SUBJ">
{productlseReference classCode="SBADM" moodCods="EYN">
<id root="68d6{5ce~3b3b-45c7-92dd-69e06730c3a0"/>
{/productUseReference’
</subject2>
{/causalityAssessment?
</component>
{component typeCode="COMP™>
<causahtyAssessment classCode="0BS" moodCode="EVN">
<code code="39" codeSysten="2, 16, 840. 1. 113883. 3. 989. 2, 1. 1. 19" codeSystemVersion="1. 1"
displayNawe="causality”/>
Cvalue xsi:type="ST™G.k. 9. i 2.1.3¢/valued
C— 6.k 9,1.2. 1.3 Result of Assessment Drug #1, Reaction #1, Assessment #1 —>
<{eethodCode>
<originalText>G. k. 9. i. 2. r. 2</originalText>
<I— G.k.9.1.2.1.2: Method of Assessment Drug #1, Reaction #1, Assessment #1 —>
{/methodCode> .
{author typeCode="AUT">
{assignedEntity classCode="ASSIGNED™}
{code>
{originalText}G. k. 9, i. 2. x. I<foriginalText>
s K= 6.% 9.1.2.x. I Source of Assessment Drug #1, Reaction ¥, Assessment #—
Lfcode> .
{/assignedEntity>
</author>
<subjectl typeCode="SUB]">
{advarseBffectReference classCode="0RS” moodCude— EVN™>
{id root="154ebBBS~058b-45£2-a02f-42d4d6£4657L />
{fadverssEffectReference?
</subjectl?
{subject? typeCodo="SUB] >
<productUseReference classCode="SHBADM™ moodCode="EVN™>
<id root="3c31b4d5-e038-4aTa~9c30-67671h0ef 4™ />
{/productliseReference?
{/subject2>
{/causalityAssessmentd
{/fcomponent>
{component typeCode="COMP™)
<causalityAssessment classCode="0B5” moodCode="EVN™>
{code code="32" codeSystem="2. 16.840. 1. 113883.3,989.2, 1. 1. 19" codeSystemVersion="1, 1~
displayName="causality”/>
{value xsiztype="ST">6.}. 9. i, 2. 1. 3¢/ valuey
{I—6.k.8.1.2.7.3: Result of Assessment Drug ¥1, Reaction 2, Assessment #I —>
{wethodCode>
{originalText?G. k. 9. 1. 2. r. 2¢/originalText>-
{1—6.k.9.1. 2. r. 2: Method of Assessment Drug #i1, Reactmn H2, Assessment #1 —>
</rethodCode>
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED">
{code> .
{originalText>G. k. 9. 1. 2. r. 1¢/originalText>
<I-= 6.k 9.i.2.r.1: Source of Assessment Drug #1, Reaction &2, Assessment #1 —>
{/code> .
{/assignedEntity>



{/author>
¢subject] typeCode="SURJ™">
¢adverseEffectReference classCade="0BS” moodCode="EVN™>
id root="2baa28d6-cYe8~4e6c—93eS-5b860b314220" />
¢/adverseEffectReference’
</subjectl> .
{subject2 typeCode="SUBJ">
<productUscReference classCode="SBADM" moodCode="EVN*)>
£id root= 3c91b4d5—e039~4a?a"9c30—67671b0ef9=4 />
{/productUseReference>
</subject2
{/cauvsaiitydssessment>
{/component>
{component typeCode="COMP™>
{causalityAssessment classCode="CBS” mocdCode="EVN™> .
{code code="38" codeSyster="2, 16, 840, 1. 113883.3.989, 2. 1. 1. 197 codeSystemVersion="1.1"
displayName="causality”/> .

{value ¥sittype="ST >G k.9.i.2. 1, 3¢/value>
{I=-6.% 9.1, 2, r. 3: Result of Assessmwent Drug #2, Reaction #2, Assessment $1 —>
{methodCode>
CoriginalText?G, k. 9, i, 2. 1. 2{/originalText>
{1—6.k.9.1.2.x. 2: Method of Assesswent Drug #2, Reacticn #2, Assessment #1 —>
{/methodCode>
<author typeCode="AUT™>
- CassignedBntity classCode="ASSIGNED™>
{codeX>
LoriginalText>G k. 9. 1. 2. r. 1</or1gma1‘l‘ext>
{l— G.&9.i.2. 1,17 Source of Assessment Drug #2, Resction #2, Assessment #1 —)
</code?
{/assignedBntity>
</author>
{subjectl typeCode="SUBJ">
{adverseEffectReference classCode="0BS" moodCode="EVN">
{id root="2baa28d6—c9e3-4e6c-93ed-5L860bI 142207 />
{/adverseEffectReference>
{fsubjectly
{subject? typeCade="SUB]™>
{productliseReference classCode="SBADM" moodCode="EVN">
<id root="68d6f5ce-3b3b-45cT-924d-69e06730c329"/>
{/productUseReference>
</subject2>
</causalityAssessment?
{/component> :
{compenent typeCode="COMP>
{causalityAssessment classCode="0BS” moodCode="EVN"> .
{code code="39" codeSystem="2. 16.840.1.113883.3. 980, 2. 1. L. 197 codeSystemYerslon— LY
displayNeme="causality” 7.
Svalue xsi:type="ST™G. k. 9. i. 2. r. 3¢/value>
¢}—G,k. 9.1, 2.r. 37 Result of Assessment Drug #2, Reaction #2, Assessment §2 —>
{methoedCode>
CoriginalText’G. k. 9.1 2 2</ongmal'l'ext>
d—6.%.9.4. 2. 1. 27 Method of Assessment Drug #2, Reaction #2, Assessment 32 —>
</methadCode
<anthor typeCode="AUT™>
<assignedEntity classCode="ASSIGNED">
<{code>
(ongmal‘fext)G.k 9.i.21. l(longmalText)
<l~- G.k.9.1.2.x. 1 Source of Assessment Drug #2, Reaction #2, Assessment #2 -)
{/fcode>
{/assignedEntity>
{fauthor>
" ¢subjectl typeCode="SUBJ">
¢adverseEffectReference classCode="0BS" moodCode="EVN">
<id root="ZbaaZ8d6-c9eB-4ebc-93e0-5b860b314220" />
<fadverseEffectReferenced
{/subjectl> i
{subject2 typeCode="SUBJ“>
{productlseReference classCode="SBADM" moodCode="EVN">
{id root="68d6fbce~3b3b~45¢c7-92dd-69e06730c3287/>



{/productUseReference) -
</subject2>
{/causalityAssessmentd
</component>
{component] typeCode="COMP™>
{ubservationEvent classCode="0BS" moodCode="EVN™>
<code code="10" codeSysten="2. 16. 840, 1. 113883. 3. 989, 2, 1. 1. 19" codeSystenVersion="1.1"
displayName="comzent”/>
<value xsi:type="ED">H. 2<{/valued
{!— H.2: Reporter’s Comments —>
<author typefCode="AUT">
{assignedFntity classCode="ASSIGNED">
<code code="3" codeSystewm="2. 16. 840, 1. 113883. 3. 989.2. 1. L. 21" codeSysten¥ersion="1. 0"
displayName="sourceReporter”/> ;
{/assignedEntity>
{/author}
{/observationEvent>
{/conponent1>
<componentl typeCode="COMP"> i
<observationEvent classCode="0BS" macdCode="EYN™>
. <eade code="15" codeSysten="2. 16. 840. 1,113383. 3. 989. 2. 1. 1, 15" codeSystenVersion="1. 17
displayName="diagnosis™/> =~
Cvalue xsiitype="CE" code="H. 3.r.1b" codeSystem="2. 16. 840, 1. 113883, 6. 153"

codeSystemVersion="H. 3. r. 1a"/> i
{I— H.3.1.12: MedDRA Version for Sender’ s Diagnosis / Syndrome and / or Reclassification of Reaction /

Event #1 —
<l— H.3.r. 1b: Sender’s Diagnosis / Syndrome and / or Reclassification of Resction / Event {MedDRA
code) #1 —>
Cauthor typeCode="AUT™>
<assignedEntity classCode="ASSIGNED">
Ccode code="1" codeSystew="2. 16. 840. 1. 113883.3.989.2.1 1, 21" codeSystemVersion="1, 0"
displayName="sender”/> )
</assignedBntity>
{/author>
{/cbservationEvent)
{/component1>
<component! typeCode="COMP™> !
{observationEvent classCode="(0BS" moodCode="EYN">
{code code="15" codeSysten="2. 16, 840. 1. 113883. 3. 089. 2. 1. 1. 18" codeSystewVersion="1.1"
displayNewe="diagnosis"/> .
{value xsiitype="CE” code="H, 3.r. 1b" codeSystew="2. 16. 840, 1. 113883. 6, 163"
codeSystemVersion="H. 3.r. 1a"/> R :
. <l~= H.3.1. la: MedDRA Version for Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction /
Bvent #2 —> . i .
<l-- H 3.r.1b: Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA
code) §#2 —> . _ .
Lauthor typeCode="AUT™> R
<assignedEntity classCode="ASSIGNED™>
<code code="1" codeSystem="2.16.840. 1.113883. 3. 988.2. 1. 1. 21” codeSystenVersion="1. 0"
displayiame="sender”/> .
¢/assignedEntity>
{/author>
{/observationEvent>
</componentl>
{component] typeCode="COMP">
{cbservationEvent classCode="0BS" moodCode="EVN™>
<cede code="10" codeSystem="2. 16. 840. 1. 113883, 3. 989. 2. 1. 1, 19" cédoSystenVersion="1. 1”
displayName="comment”/>
. &value xsi:type="ED>H. 4¢/valued
<l— H.4: Sender's Comments —>
<author typeCode="AUT™>
{assignedEntity classCode="ASSIGNED">
code code="1" codeSystem="2. 16.840. 1. 113883. 3. 989, 2, 1. 1. 21" codeSystemVersion="1. 0"

displayName="sendex"/>
</assignedEntity>
{/author>
{/observationBvent>
{/componently
{componentl typeCode="COMP">



.

{ohservationEvent ¢lassCode="0BS" moodCade="E¥N">
{code cade="3" cudeSysten- 2. lﬁ. 840, 1. 113883, 3,989. 5. 1. 3. 2. 1. 10" codeSystemVersion="1. 0" displayName="
RETICHTEIAV D
<value xsiitype="ED">J2.7. 2¢fvalued
{l— 88872, 7.2 EIETIEMTZZALF —>
{/observationEvent>
{/coxponent1>
{componentl typeCode="COMP™>
{cbservationEvent glassCode="0BS" moodCode="EVN">
{code code="4" codeSysten"2.16.840. 1. 113883.3.989.5.1.2.2. 1. 10" codeSystenVersion="1.0" displayName="
ﬁ%ﬁ@ﬂ&ﬂi'b
<value xsi:type="ED72J2, 9</vaiued
<1— 8882 9: MATEDOMBIEE —>
{/aobservationEvent> -
{/coxponentl>
<componentl typeCode="COMPF™>
<observationEvent elassCode="0BS" moodCode="EVN"»

<code code="5" codeSysten="2. 16. 840. 1. 113883.3.989. 5. 1. 3. 2. 1. 10° codeSystenVersion="1. 0" displayName="

SHOHIE",H
<value xsi:type="ED">J2, 10</value>
I @8eTe. 10: SO —
</observationEvent>
</conponently

{componentl typeCode="COMP">
{observationEvent classCode="0BS" moodCode="EVi™>
<code code="6" codeSystew="2, 16. 840. 1. 113883. 3. 989.5. 1, 3.2, 1. 10° codeSystemVersion="1. 0" displayName="
TORBEEESE>
{value xsi:type="ED">JZ.11<¢/value>
<1— BREJ2.11: ZDHBEFHE —
</ehservationBvent>
{/coaponentl;
{componentl typeCode="COMP")>
{observationEvent classCode="0BS" moodCode="EVN">
{code code="12" codeSyster="2. 16.840. 1. 113883. 3, 989.5.1.3.2. 1. 10" codeSystenVersion="1.0" displayName="
BENFOER/
<value xsistype="ED">J2. 16<¢/valued
— #8]2.16: BENBROES —
{/observationEvent>
</componentl>
.{component] typeCode="COMP™>
{observationEvent classCode="0BS" moodCode="EVN"> .
{code code="13" codeSysten="2. IB. B40.1. 113883, 3.980. 6, 1.5. 2.1, 10" codeSystenVersion="1.0" displayName="
WETH : )
<value xsiitype= EB">J2,19</value>
I— @)z, 19: {HF 1 —>
¢/cbservationEvent)
</componentl>
<companent1 typeCode="COMP™>
{observationEvent classCode="0BS" moodCode="EVN">
{code code="14" codeSystem="2. 16. 840, 1. 113583. 3.989.5. L. 3.2.1.10° codeSystemVerslun— 1.0 displayName="
wWE2H ’
Cvalue xsiitype="ED">J2.20<¢/value>
<l— egagz. 20: H%2 —
</observationEvent>
{/componentl>
{component]l typeCode="COMP*>
{obsexrvationEvent classCode="08S" moodCode="EVN™>
{code code="15" codeSystem="2. 16. 840, 1 113883.3.989.5. 1.3, 2. 1. I0” codeSystenVersion="1.0" displayMame="
w3
: {value xsi:type="BED">J2. 21¢/value?
{1— 888J2.21: HE 3 —
{/observationEvent>
{/componentl>
<componentl typeCode="COMP">
{observationEvent classCode="0BS™ maodCode="EVN">
{code code="16" codeSyster="2.16.840.1. 113883 3.989. 5. 1.3. 2. 1. 10" codeSystemYersion=" L. 07 displayName="
wEC,H
{valua xsi :type='ED')12. 22¢/value>
Kl— eeeg2.22: RE4



{/observationEvent)
¢/componentl1>
{/adverseEventissessment)
{/conponent>
{component typeCode="COMP">
<cbservationEvent classCode="OBS" moodCode="EVN"> .
{code code="1" codeSysten="2.16.840. 1. 113583, 3. 989.2.1. 1. 19" codeSystenVersion="1. 1
displayNane="additionalDocumentsivailable” />
{value xsiitype="BL" value="true”/>
KI— €.1.6.1: Are Additional Documents Available? —>
{/abservationEvent>
</component>
(compunent typeCode="COMP™>
{observationEvent classCode="0BS" moodCode="EVN">
<code code="23" codeSystem="2. 16. 840, 1. 113883.3.98%.2,1. 1. 19" cndeSystem‘lerslon‘ 1, 1
displayName="1ocalCriteriaForExpedited />
<value xsi:type="BL" value="true"/>
{}~— €.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report'? —_>
{/chservationEvent>
{/component> .
<component- typeCode="COMP">
{observationEvent classCode="085" moodCode="EYN™>
{code code="36" codeSystem="2. 16. 840. I, 113883, 3.988.2.1. 1. 19" cﬂdeSYstemVers:.on— .17
displayName="summaryAndConnent”™/>
{value xsi:type="ED" language="H.5.r. 1b">H. 5. r. 1a¢/value)
<I— H.5.r.1a: Case Sumnary and Reporter’'s Comments Text #I —>
{I-- K.5.r.1b: Case Summary and Reporter’s Comments Language #1 —>
Cauthor typeCode="AUT™> .
<assignedEntity classCode="ASSIGNED™> :
Cecode code="2" codeSystem="2, 16.840. 1, 113883. 3,989, 2. 1. 1. 21* codeSystenVersion="1, 0"
displayName="reporter™/> .
{/assignedEntity>
{/author>
{/observationEvent>
{/component)
{component typeCode="COMP">
{abservationEvent classCode="0BS™ moodCode="E¥N">
{code code="36" codeSysten="2, 16. 540, 1. 113883, 3.980.2.1. 1. 19" codeSystem\’ersmn— .17
displayName="summaryAndComaent ™ />
{value xsi:type="ED" language="H.5.r. 1b"3H.5.r. Ja¢/value} .
{I— H.5.r.1a: Case Summary and Reporter’s Comments Text HZ ——>
<l— H.5.1.1b: Case Sumuary and Reporter”s Comments Language #2 —>
<author typeCode="AUT">
{assignedEntity classCode="ASSIGNED™>
{code code="2" codeSystem="2. 16. 840, 1. 113893. 3.985.2. 1.1, 21" codeSystamVersmn— 16"
dlsplayName— reporter”/>
{/assignedEntity>
{/author>
{/observationEvent>
</component?
" <outbeundRelationship typeCode="SPRT">
{relatedInvestigation clessCode="INVSTG" moodCode="EVN™>
<code code="1". codeSystem="2. 16. 840. 1. 113883, 3. 689, 2. 1. 1. 22" codeSjrstenVersmn— 10"
displayName="initialReport /)
<{subject0f2 typeCode="SUB]">
{controlActEvent classCode="CACT" moodCode="EVN">
<author typeCode="AUT™>
- {assignedEntity classCode="ASSIGNED"> :
{code code="C.1.8.2" codeSystem="2. 16, 840. 1. 113883, 3.989.2.1.1.3" codeSystemYersion="1,0"/>
<!— C.1.8.2: First Sender of This Case —>
{/assignedEntity>
{/author>
{fcontrolictEvent)
{/subjectOf2>
{/relatedInvestigation®
{/outboundRelationship®
<outboundRelationship typeCode="SFRI™>
{relatedInvestigation classCode="INVSTG” moodCode="EVYN™>
{code nullFlavor="NA"/> .

1



{subject0f2 typeCode="SUB]">
{contraldctEvent classCode="CACT" moudCode~ EVN™>
<id extension="C. 1 10.2”" root="2.16.840, 1. }13883.3.980.2.1.3.2"/>
{1— €.1.10.1: Identification Mumher of the Report ‘iluch Is Linked to This Report (repeat as necessary)
it ~—>
- ¢/controlActEvent) . ‘ -
</subject0f2> Co
{/relatedInvestigation>
{/outboundRelationship> .
CoutboundRelationship ty‘peCode "SPRT">
<relatedInvestigation classCode="INVSTG” moodCude- EVN">
{code nuliFiavor="HA"/> ,
{subject0f2. tychode='SUBJ'>
{controlActEvent classCode="CACT”™ moodCade="EVN™>
<id extension="C. 1.10.x" root="2.16.840.1.113883.3.989.2. 1. 3.2°/>
<l— €.1.10.x: Identification Number of the Report Ehich Is Linked to this Report (repeat ss necessary)
#2 —> - . -

</controlActEvent?
{/subject0f2>
{/relatedInvestigationd
{/outboundRelationship>
<outboundRelationship typéCode="SPRT">
{priorityNumber value="1"/> .
{l— C.2.x.5: Primary Source for Regulatory Purposes #1 —>
{relatedInvestigation classCode="INVSTG™ moodCode="EVN">
{code code="2" codeSysten="2, 16, 840. 1. 113883, 3. 989, 2. 1. 1. 22" codeSystemVersion="1, 0~
displayName="sourceReport™/>
_{subject0f2 typeCode="SUB]">
<controlActEvent ¢lassCode="CACT”™ moodCode="EVN™>
{anthor typeCode="AUT">
<assignedintity classCode="ASSIGNED™>
{addrd
{streetAddressLine>C. 2. r. 2. 3¢/streetAddressLined
{l— C.2.1.2.3: Reporter's Street #1 —>
{eity>C 2.1, 2, 4¢/city?
{l— C.2.1.2.4: Reporter's City ¥1 —>
{statedC. 2. 1. 2. 5¢/stated
{l=— C.2.r.2.5! Reporter’s State or Province §I — . .
{postalCade>C. 2. r. 2. 6{/postalCode)
. {I— €.2.r.2.6: Reporter's Postcode $1 —>
. €/addr> .
Ctelecom value="tel:C.2.1.2.7°/>
{l— C.2.r.2;%: Reporter’s Telephone #i —
{aszignedPerson classCode="PSN” determinerCode="INSTANCE™>
{name>
<prefixoC. 2.1, 1. 1$/prefix®
{!— C.2.x.1.1: Reporter’s Title #1 —>
<{given>C. 2.1, 1, 2¢/given>
<|— C.2.1.1.2: Reporter's Given Name #1 —>
{given>C. 2.r. 1. 3¢/given>
£l— C.2.r.1.3: Reporter’ s Hiddle Name #1 —> .
{fanily)C. 2. 1. 1. 4{/family> .
*{l-- C.2.r.1.4: Reporter’ s Family Nawe #I —
</name>
<asQualifiedEntity classCode="QUAL">
<code code="C.2.1.4" codeSystew="2.16.840.1.113983.3.989.2.1. 1. 6" codeSystenVersion="1. 0*/>
¢{l— C.2.r.4: Qualification #1 —
{fasQualifiedEntity>
‘YasLocatedBntity classCode="LOCE™>
{location classCode="COUNIRY"™ determinerCode="INSTANCE">
<code cods="(, 2. 1.3" codeSysten="1.0. 3166 1. 2.2"/>
<l-= C.2.r.3: Reporter’s Country Code #1 —>
</location
{/asLocatedEntity>
{/assignedPerson> )
{representedlrganization classCode="ORG" determinerCode="INSTANCE™>
{name>C. 2. 1. 2. 2{/name>
¢l=— €. 2.r.2.2: Reporter’' s Department #1 —>
{assignedBntity classCode="ASSIGNED™>.



<representedirganization classCode="0RG" determinerCode=" INSTANCE™>
<name>C. 2. r. 2. 1</nane>
¢!— €.2.1.2.1: Reporter’s Organisation #1 —>
{/Tepresentedirganization)
{/assignedEntity}
</representedOrganization)
{/assignedBntity)
<fanthor>
{/controlActEvent)>
</subject0f2>
</relatedInvestigation> -
£/outboundRelationship>
<outbotndRelationship typeCode="SPRT">
{relatedInvestigation claksCode="THVSIG™ moodCode="EVN">
{code code="2" codeSystem="2. 16. 840. 1. 113883, 3. 989, 2. 1. 1. 22° codeSystenVersion="1. 0"
displayName="sourceReport”/>
<subject0f2 typeCode="SUBJ">
<controlActEvent classCode="CACT" moodCode="EVN">
{author typeCode="AUT">
{assignedEntity classCode="ASSIGNED">
{addr>
{streetAddressLine>C, 2. 1. 2. 3</streetpddressLine>
{{— C.2.r 2.3: Reporter's Strest H2 —>
eity>C. 2.x. 2. &/eity>
<I— C.2.r.2.4: Reporter's City fi2 —
{state>C, 2. r. 2. 5{/state)
{1— C.2.1.2.5: Reporter’s State or Province 2 —)
{postalCode’C, 2. 1, 2, 6</postalCode)
{l~= C.2.r.2.6: Reporter’s Postcode #2 —>
</addr>
{telecom value="tel:C, 2.1.2.7°/5
{I=~ C.2.5.2.7* Reporter's Telephane #2 —>
. CassignedPerson classCocle~ PSN™ determinerCode="INSTANCE™>
<name>
<prefix>C.2.r1.1. 1</pref1x>
= C2.x.1. 17 Reporter’s Title #2 —>
{given’C. 2, r. 1, 2¢{/givend

<I— C.2,r.1.2: Reporter’s Given Nampe ¥2 —

<{given>C. 2. r. L. 3¢/given>

{l— €.2.r.1.3: Reporter’s Uiddle Neme #2 ~

{familydC. 2. 1. 1. 4¢/Tamily> , "

<|== C.2.r.1.4: Reporter's Family Name #2 ~> :
</namg>

<asQualifiedEntity classCode="QUAL">
{eode code="C.2.r. 47 codeSysten="2. 16. 840 1.113883.3.989/2. 1. 1. 8" codeSystenVersion="1.0"/>
<l— C.2.r.4: Qualification fiz —>
¢/asQualifiedEntity>
{asLocatedEntity classCode="LOCE" )
{location classCode="COUNTRY" determinexCode="INSTANCE™>
{code code="C.2.r.3" codeSysten="1.0. 3168, 1. 2. 2°/>
{!=- C.2.1r.3: Reporter’s Country Code 82 —>
{flocation?
{/asLocatedEntity>
{/assignedPerson
<representedlrganization classCode="0RG™ determinerCode="INSTANCE™
<name>C. 2, r. 2. 2{/name>
- ¢$=~ 0. 2,1. 2. 2: Reporter's Departwent #2 —>
{assignedEntity classCode="ASSIGNED">
{representedrganization classCode="0RG”" determinerCode="INSTANCE™>
<name>C. 2. r. 2. 1{/name>
{I— €.2.7.2.1: Reporter's Organisati‘on iz —>
{/representedOrganizationd
{/assignedEntity}
{/representedOrganization>
{/assignedEntity>
{/author>
¢/eontrolActEvent>
{/subject0f2>
{/relatedInvestigationd



</outboundRelationship>
<subject0f1 typeCode="SUB]™>
<controlActEvent classCode="CACT" moodCode="EYN">
Cauthor typeCode="AUT">
{assignedEntity classCode="ASSIGNED™>
<code code="C.3.1” cedeSysten="2. 18840, 1. 113883. 3.989.2.1. 1. 7° codeSystenVersion="1.¢"/>
<l— €.3.1: Sender Type —>
{addr>
(streetﬂddressLlne)C 3. 4. 1{/streetAddressLine’
¢l-- €.3.4.1: Sender’ s Street Address —>
{city>C. 3. 4. 2¢/city
{i— C.3.4.2: Sender’'s City —» -
{statedC. 3. 4. 3/state>
<t— C.3.4.3: Sender’ s State or Province —>
{postalCode>C. 3. 4. 4</postalCode>
¢l== (.3.4 4: Sender’ s Posteode —>
£ faddr>

<telecon value="tel:C.3.4.6 />
<1— C.3.4.6: Sender’ s Telephone —>
{telecom value="fax:C.3.4.7°/
¢1— C.3.4.7: Sender’s Fax ~—>
<telecom value="mailto:C.3.4 87/>
¢1-- C.3.4.8: Sender’ s E-pail Address —>
<assignedPerson classCode="PSN” detaminerCnde ="INSTANCE">
. {name>
{prefix>C, 3. 3. 2{/prefix>
{1~ (.3.3.2: Sender’s Title —
{givendC. 3. 3. 3¢/given>
€l— €.3.3.3: Sender’s Given Name —>
{givendC. 3. 3. 4</giver>
€I— €.3.3.4: Sender’s Middie Name —>
{fanily>C, 3. 3. 5¢/fanily>
<l— C.3.3.5: Sender’s Family Name —>
</name>
{asLocatedEntity classCode="LOCE™>
<lacation classCode="COUNTRY" determinerCode="INSTANCE™»
<code code="C.3.4.5" codeSystem="1. 0. 3166, 1, 2.2"/>
<1— C.3.4.5: Sender’'s Country Code —>
/location>,
{/asLocatedEntity>
{/assiguedPerson®
{representedOrganization classCode="0RG" determinerCode="INSTANCE™>
<namedC. 3, 3. 1¢/name>
¢I— €.3.3.1: Sender's Department —> .
{assignedEntity classCode="ASSIGNED™>
{representedOrganization classCode="CRG" determiner(:ud =" INSTANCE">
<{name>C. 3. 2{/nane>
{l=— C.3.2: Sender’s Organisation —>
{/representedOrganization>
{/assignedEntity?
{/representedOrganizationd
{/assignedEntity>
<fauthor>
{primaryInformationRecipient typeCode="PRCE">
{assignedEntity classCode="ASSIGNED™>
{assignedPerson classCode="PSN” determinerCode="THNSTANCE™>
{name>
<prefix>J2. 18, 2¢/prefix>
I @08]2.18.2: REX FEE —
{family>J2. 18. 3¢/fanily>
Cl— §8372.18.3: RIFE ¥ —
<given>J2. 18. 4¢/given>
{1~ 888]2.18.4: Z{3H H —>
</name>
{fassignedPerson>
<representedOrganization classCode="0RG” determinerCode="INSTANCE">
<name>J2. 18. 1</name>
Cl— #8812, 18.1: ZER HE&E —
{/representedlrganization)



{/assignedEntity>
</primaryInformationRecipient)
</controlActEvent>
</subjectOfl>
<subjectOf1 typeCode="SUB]">
{controlActEvent classCode="CACT™ moodCode="EYN™>
. €id essigninghuthorityName="C.1.9. L r.1" extension="C.1.9. L r.2" root=" 2.16. 840.1. 113883, 3,989.2. 1.3, 3/>
<l— C.19.1.r.1: Source(s) of the Case Identifier (repeat as necessary) #i —>
<1— €. 1.9.1.x.2 Case Identifier(s) #1 —>
</controlActEventy
</subject0f1>
{subjectOf1 typeCode="SUB]">
{controlActEvent ‘classCode="CACT” moodCode="EVN™>

<id assigningAuthorityName="C. 1.9.1.r. 17 extension="C, 1. 9.1. 1. 2° root="2. 16, 840, 1. 113883.3.989.2.1.3.3"/2
<=~ C.1,9.1.r.1: Source(s) of the Case Identifier {repeat as necessary) #z —>
<I— €.1.5.1 r. 2 Case Identifier{s) #2 —>
{/controlActEvent>
{/subject0f1)>

<subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS" moodCoda="EVN™>
<code code="1" codeSysten="2, 16, 840, 1. 113883. 3, 989. 2. 1. 1. 23" codeSystenVersion="1, 0"
displayName="ichReportType™/>
- <value xsiitype="CE" code="C.1.3" codeSystem="2.16840.1. 113883.3, 989, 2. 1. 1. 2° codeSystenVersion="1. 0"/
<I— C.1.3 Type of Report —> :
{/investigationCharacteristicy
</suhjectOf2>
<subject0f2 typeCode="SUBJ >
(investigationCharacteristic classCode="0BS" mosdCode="EVN™>
<code code="2" codeSysten="2. 16.840. 1. 113883. 3. 999. 2. 1. 1. 23~ codeSystenVersion="1. 0*
displayName="otherCaselds™/> .
<{value xsi'type="BL" value="true"/} . .
- €l— C.1.9.1 Other Case Identifiers in Previous Transmissions —>
{/investigationCharacteristic) )
</subjectOf2>
<subject0f? typeCode="SUB]">
{investigationCharacteristic classCode="0B5” moodCode="EVN">
{code code="3" codeSystes="2, 16, 840. 1. 113883, 3.980. 2. 1. 1, 23 codeSystenVersion="1, 0"
displayName="nul1lificationAmendmentCode” />
{valué xsiitype="CE" code="C.1.11.1" codeSystem="2, 16, 840, 1. 113883, 3. 989. 2. 1. 1. 5° codeSystenVersion="1, 0"/>
<!~ C.1.11.17 Report Nullification / Amepdment —>
¢/investigationCharacteristic) ’
{/subjectOf2>
<subjectOf2 typeCode="SUB]™> B
{investigationCharacteristic elassCode="0BS" moodCode="EVN">
<code code="4" codeSystex="2. 16.840.1. 113853, 3.989.2.1. 1, 23" codeSystemVersion="1. 0*
displayName="nullificationAmendmentReason”/>
{value xsi:type="CE™>
{eriginalText>C. 1. 11. 2</originalText>
<}— C.1.11.2: Reason for Mullification / Awendment —>
{/value>
{/investigationCharacteristic>
{/subject0f2>
{subject0f2 typeCode="SUB]">
<investigationCharacteristic classCode="0BS" moodCode="FVN">
{code code="1" codeSysten="2. 16.840. 1. 113883.3.989.5.1.3,2. 1. 12” codeSystemVersion="1. 0" displayName="8%%1
5 (BEam H
<value xsiitype="CE” code="J2.la" codeSystew="2, 16. B40. 1. 11383, 3.989.5.1.3.2. 1. 1"
codeSystemVersion="1, 0"/
<1— eeRJz. 1ot BEIES (MESE) —
{/investigationCharacteristicy
¢/subject0f2>
{subject0f2 typeCode="SUBJ™>
{investigetionCharacteristic classCode="0BS" moodCode="EVN">
<code code="2" codeSystew="2.16.840. 1. 113883, 3.989.5.1.3.2, 1, 12" codeSystenVersion="1.0" displayName="$B4&

]

BER",
<valve xsiitype="TS" value="201301077/>
<I— egej2.2.1: HERER —
{/investigationCharacteristic®
{/subject0f2>



f
/

{subject0f2 typeCode="SIB]">
<investigationCharacteristic classCode=" OBS meodCode="EVN">
<code code="3" codeSystex="2.16. 840, 1. 113883, 3.989.5.1.3.2.1. 12" codeSystemYersion="1.0" displayName="3R%;
EXQEETI=AVED .
Svalue xsiitype="ED">]2.2. 2(/value)
<l— 808]2.2.2: ERARIERTZa AL —
{/investigationCharactexristic>
</subject0Of2>
<subject0f2 typeCode="SUBI™> .
<investigationCharacteristic classCode="CBS~ moodCode="EVN">
Ccode code="4" codeSystem="2. 16, 840, 1. 113883, 3.989.5.1.3. 2. 1. 12" codeSystenVersion="1.0" displayName="ENEF

(U

WEFZI/
{yalue xsiitype="CE" code="]2,3" codeSystem="2.16.840. 1. 1]3883.3.989.5.1.3. 2. 127 cadeSystem‘!ersmn— 1.9°/>
(I— 8eayz. 3: EMRSET 7 —> :
{/investigationCharacteristic> ]
{/subject0f2> . .
{subject0f2 typeCode="SUB]">

{investigationCharacteristic classCode="0BS" woodCode="EVN™>
{code code="5" codeSystem="2. 16.840. I, 113883, 3,989.5.1,3.2.1,12" codeSystemVersion="1.0" displayName="3%
bop-2) Sl e

<value xsi:type="CE” eode=", 3'2.8.1 codeSystem="2, 16. 840, 1, 113883. 3.989. 5. 1. 3. 2. 1. 6"
codeSystemVersion="1.07/>
<1— 8ga)2.8. 1: BEFRNATTY —
{finvestigationCharacteristic>
</subject0f2> ) .
¢subject0f2 typeCode="SUB]™>
{investigationCharacteristic classCode="0BS" moodCode="EVN">
{cade code="6" codeSystem="2. 16. 540. 1. 113883.3.980.5.1.3. 2. L. 127 cndeSystenVersmn— 1. 07 displayName="$R4F
HRADBE",H
{value xsi:type="ED">]2, 8.2¢/value>
<I-- e88)2.8.2: WERFSAOEE —>
{/investigationCharacteristic>
</subjectOf2>
<¢/investigationEvent) B
</subject>
¢/contralActProcess>
</PORR_INO4901611V>
{1-- Uessage il —>
{1— Message #2 —
<i— PORR_INO49016UY —>
<1— /PORR_ING48016UV —>
¢{1— Message #2.—>
{receiver typeCode="RCV")
{device classCode="DE¥” determinerCode="INSTANCE™>
<id extension="N.1,4" root="2.16.840, 1. 113883, 3,989, 2.1,3, 147/
<!— N.1.4: Batch Recciver Identifisr —>
{/device>
{/receiver?
<sender typeCode= “SND™>
¢device classCode="DEV” determinerCode="INSTANCE™>
<id extension="N.1.3" root="2.15.840.1. 113883, 3.989.2.1.3.13">
¢l== N.1.3: Batch Sender Identifier —>
{/device>
</sender> .
</WCCY_INZ200100UV01>



